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Seat

No. [4701]-2001

S.Y. B.A. EXAMINATION, 2015

ENGLISH

(Compulsory)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Literary Landscapes

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) Comment on the title of the story ‘The Homecoming’.

(ii) Explain Gandhiji’s efforts to become an English

gentleman.

(B) (i) Describe Hazlitt’s attitude towards prejudices and pre-

conceived judgments.

(ii) What problems of journalists does Shashi Tharoor mention

in ‘Freedom of the Press’ ?
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2. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) What power of mercy does the poet express in his poem

‘The Quality of Mercy’ ?

(ii) Write a note on the theme of the poem ‘The Village

Schoolmaster’.

(B) (i) How does William Wordsworth describe the solitary

reaper ?

(ii) Discuss ‘O Captain ! My Captain !’ as an elegy.

3. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) Attempt a character sketch of Rosemary Fell as depicted

in ‘A Cup of Tea’.

(ii) How does Behrman save the life of Johnsy in the story

‘The Last Leaf’ ?

(B) (i) Write a note on Kalpana Chawla as a student.

(ii) Comment on the use of humour and irony in ‘My Lost

Dollar’.
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4. Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (i) Why, according to Masefield, should human beings laugh

and be merry ?

(ii) Explain how the poem ‘Still I Rise’ celebrates the spirit

and endurance of the Blacks.

(B) (i) Discuss ‘Another Woman’ as an expression of inhuman

treatment given to women by the male dominated society.

(ii) Explain the theme of the poem ‘My Grandmother’s

House’.

5. (A) Attempt any six of the following : [6]

(i) Vijaya drives well.

(Change into a negative sentence)

(ii) Give him your book.

(Change into a negative sentence)

(iii) The minister spoke well at the conference.

(Rewrite the sentence adding a question tag)

(iv) The water is getting cold, does it ?

(Correct the sentence)

(v) The boy can rest at home. The boy can go to school.

(Combine the sentences using ‘either ...... or’)
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(vi) On hearing about his father’s arrival, Kamal rushed home.

(Identify whether it is simple, compound

or complex sentence)

(vii) Although the curry was far too salty, Amit did not complain.

(Change into a simple sentence)

(viii) The nurses decorated the ward with flowers and balloons

to make it look bright and cheerful.

(Change into a complex sentence)

(B) Attempt any two of the following : [10]

(i) Write a paragraph on ‘Advantages and disadvantages of

Mobile Phone’.

(ii) Write a brief report on the ‘NSS Special Winter Camp’

organized by your college.

(iii) You want to buy the textbooks of the new syllabus. Write

a letter to the Publisher, Orient Blackswan Pvt. Ltd.,

Himayatnagar, Hyderabad-5000029, to place an order for

the books.
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ejkBh (MARATHI)

(G-2 : vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh)

(2013 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- (v) [kk«h« mrkÚ;kps lkjkaðk «s[ku djk % [8]

cks«haeqˇs izek.k Hkk"kk le`º gksr vlrs- R;keqˇs cks«h u"V gksrk dkek

u;s vls Hkk"ksP;k fgrfpardkauk okVr vlrs- ðksrhe/;s ;ko"khZP;k fidkae/kwu

iq<P;k o"kk Zr isj.;klkBh chfc;k.k s fu?k w u;sr vðkh fc;k.kh vk«s«h

vkgsr- ijaijsus pk«r vk«s«h mRœ"V fc;k.kh R;keq š u"V >k«s«h vkgsr- cks«h

vðkkp u"V >kY;k rj vki«h izek.kHkk"kk fu%lRo gksbZ«- fðk{k.k {ks=kr Hkk"kk

rhu izdkj s ; sr s- Hkk"k sp s fðk{k.k] lkfgR;kps fðk{k.k vkf.k fo"k;k aps

ek/;e- fo"k;kps ek/;e Eg.kwu ,[kk|k Hkk"kspk Lohdkj djrkuk eq[; vMp.k

ikfjHkkf"kd laKkph vlrs- vk/kqfud dkˇkr loZp fo"k;karh« Kkukpk Úksr ;qjksi



[4701]-2002 2

o vesfjdk ;sFkh« Kkukpk lkBk gk vkgs- ;qjksie/;s osxosxˇÓk Hkk"kk vkgsr-

R;kr«s Kku baxzth Hkk"ksr ;sr vlrs- vkiY;klkBh baxzth gkp [kjk Úksr vkgs-

baxzth fo|k Eg.kts baxzth Hkk"ksrh« fo|k- baxzth Hkk"kk vkf.k lkfgR; gk osxˇk

Kkufo"k; vkgs-

(c) [kk«h«iSdh dks.kR;kgh lkr baxzth ðkCnkaP;k ikfjHkkf"kd laKk f«gk % [7]

(1) Advertisement

(2) Calendar

(3) Editor

(4) Golden Jubilee

(5) Headquarter

(6) Inward

(7) Magazine

(8) Note

(9) Original

(10) Passport

(11) Qualification

(12) Recommendation

(13) Summary

(14) Translation.
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2- [kk«h«iSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [10]

(1) MkW- ;w-e- iBk.k vkiY;k ofM«kauk dks.kR;k ukokus lacks/kr vls \

(2) ^ek>h tM.k?kM.k* ;k iqLrdke/;s jk-x- tk/ko ;kapk dks.krk «s[k lekfo"V

ds«k vkgs \

(3) fxfjtk dhj ;kauh L=hP;k ?kqleVhph leL;k dks.kR;k dknacÚ;kae/kwu ekaM«h

vkgs \

(4) e/kq eaxsðk df.kZd ;kaP;koj dks.kR;k «s[kdkP;k «s[kukpk vkf.k lgoklkpk ifj.kke

>k«k \

(5) ifg«s ejkBh foðolkfgR; laes«u dks.kR;k fBdk.kh >k«s \

(6) ek>h tM.k?kM.k ;k iqLrdkrh« MkW- ukxukFk dksŸkkiY«s ;kaP;k «s[kkps uko

f«gk-

(7) foðokl ikVh« ;kaP;k dknacÚ;kaph ukos lkaxk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [15]

(1) vkRepfj=kps Lo:i Li"V djk-

(2) vkRepfj=«s[kukrh« nks"k f«gk-

(3) vkRepfj= «s[kukP;k fofo/k izsj.kk lkaxk-

(4) vkRepfj=&vkRedFku ;krh« Hksn Li"V djk-

(5) vkRepfj=dkjkus dks.krh iF;s vkRepfj=kps «s[ku djrkauk ikˇkoh \



[4701]-2002 4

4- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [16]

(v) (1) fopkjoar jktk gh l;kthjko xk;dokM ;kaph vkš [k lkFkZ vkgs- dls

rs lksnkgj.k lkaxk-

(2) eg"khZ dosZ ;kaP;k dk;kZpk ifjp; d:u nÓk-

(c) (1) lkfgR;fufeZrheq̌ s vusd cgqeku fe w̌ ðkdrkr- gs e/kq eaxsðk df.kZd

;kaP;k «s[kkrwu dðkkizdkjs Li"V gksrs \

(2) ^foLrkj.kkjs f{kfrt* ;k «s[kkP;k vk/kkjs MkW- rkjk Hkokˇdj ;kauh rRdk«hu

œ"kh laLœrhps lE;d nðkZu dðkkizdkjs ?kMfo«s vkgs \

5- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [24]

(v) (1) izcks/kudkj Bkdjs ;kaP;koj R;kaP;k vkbZus dks.krs laLdkj ds«s rs osxosxˇÓk

izlaxkaP;k fufeŸkkus lfoLrj Li"V djk-

(2) vkuanhckbZ fðkdsZ ;kaP;k lkatokr e/kwu rRdk«hu lektkps fp=.k gksrs-

rs «s[kkP;k vk/kkjs Li"V djk-

(c) (1) jk-ja- cksjkMs ;kaph ok≥~e;hu tM.k?kM.k dðkh >k«h rs foðkn djk-

(2) izfrHkkrkbZ ikVh« ;kaP;koj loZ/keZleHkkokps laLdkj dls >k«s \ rs

Li"V djk-
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[4701]-2002

G-2 : O;kogkfjd o mi;ksftr ejkBh

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [20]

(1) fVIi.khps izdkj f«gk-

(2) ?kks"k.kki=d Eg.kts dk; \

(3) dks.kR;k izdkjP;k xzaFkkauk leh{kkxazFk Eg.krk ;sbZ« \

(4) dk;kZ«;hu dkxni=kaps oxhZdj.k dls ds«s tkrs \

(5) dk;Zokghph fVIi.kh Eg.kts dk; \

(6) ekfgrhi=dkph O;k[;k f«gk-

(7) Lejf.kdsps gsrw Li"V djk-

(8) /kkfjdkaps (QkbZ«) O;oLFkkiu dls djkos \

(9) dk;kZ«;hu fVIi.khps nksu mÌsðk f«gk-

(10) okf"kZd vgok«kr dks.kdks.kR;k xks"Vhapk lekosðk ds«k tkrks \

(11) laiknukph nksu iz;kstus f«gk-
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(12) dks.kR;k izdkjph fVIi.kh QkbZ« jsdkWMZ Eg.kwu Bso.;kph xjt ulrs \

(13) fufonk Eg.kts dk; \ rs lkaxk-

(14) i=«s[kukps nksu izdkj f«gk-

2- [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [10]

(v) (1) O;ogkj Hkk"kk o dk;kZ«;hu Hkk"kk ;krh« lkE;Hksn Li"V djk-

(2) dk;kZ«;hu i=O;ogkjkps Lo:i Li"V djk-

(c) (1) Lejf.kdsph jpuk dðkh vlkoh rs f«gk-

(2) ekfgrhi=dkps egRo foðkn djk-

3- [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [20]

(v) (1) fVIi.khph O;k[;k lkaxwu frps Lo:i Li"V djk-

(2) fufonk«s[kukps Lo:i o egRo foðkn djk-

(c) (1) laiknukps iz;kstu o Hkwfedk Li"V djk-

(2) dk;kZ«;hu dkxni=kaps Lo:i o oxhZdj.kkph ekfgrh |k-

4- [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [30]

(v) (1) xkjihVxzLrkalkBh enrfu/kh tefo.;kckcr egkjk"V™ œrhlferhus vk;ksftr

ds«sY;k foðks"k lHksps bfro`Ÿk r;kj djk-

(2) ftYgk e/;orhZ lgdkjh c°dse/;s eWustj inklkBh vtZ djk-
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(c) (1) œ"kh foHkkx] iq.ks ;sFkh« dk;kZ«;krh« Jh x.ksðk jsxs ;k œ"kh

vf/kdkÚ;kus vkiY;k Hkfo"; fuokZg fu/khrwu rhu «k[k #i;s vfxze

(mp«) jDde feˇkoh ;klkBh vtZ ds«k vkgs- R;kaP;k vtkZoj fVIi.kh

f«gk-

(2) iq.ks egkuxjikf«dsP;korhus ,d fdeh- varjkpk mM~Mkuiw« r;kj

dj.;klkBh lh«can fufonk ekxfo.;kr vkY;k vkgsr] R;klaca/khpk elqnk

r;kj djk-
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Seat

No. [4701]-2003

S.Y. B.A. EXAMINATION, 2015

MARATHI (ejkBh)

foðððððks"kLrj vH;klif=dk ÿ- 1

(ejkBh lkfgR;krh« fofo/k lkfgR;izdkj)

(2013 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

ikB~;iqLrds :— (i) ukVd o dknacjhph rkfRod ehekalk

(ii) uV lezkV & fo- ok- fðkjokMdj

(iii) Qfdjk & v..kkHkk≈ lkBs-

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh rhu izðuakph mŸkjs f«gk % [15]

(1) dknacjh Eg.kts dk; rs lkaxwu dknacjhph ladYiuk Li"V djk-

(2) dknacjhrh« ik=&fp=.k ;k ?kVdkph ekfgrh f«gk-

P.T.O.
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(3) dknacjh ok≥~e; izdkjkph okVpk« foðkn djk-

(4) okrkoj.k fufeZrh ;k ?kVdkps dknacjhrh« egŸo Li"V djk-

(5) dknacjhps izdkj dks.krs \ rs FkksMD;kr f«gk-

2. [kk«h«iSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh 20 ðkCnki;±r f«gk % [10]

(1) dkˇxkoph tksx.kh fðkxkokr dks.kh vk.k«h \

(2) fo".kqiar dq«d.khZ Qfdjk«k xko lksMwu tk.;kl lkaxrks \

(3) Qfdjk dks.kkps /kkU; «qVrks \

(4) Qfdjk dknacjhrh« ifjlj dks.krk vkgs \

(5) lŸkwph lqVdk dj.;klkBh Qfdjk dk tkrks \

(6) HkS: jkeksð;kus [kksrkpk ≈l dk tkd«k \

(7) ^Qfdjk* dknacjhrh« iq#"kik=kaph ukos f«gk-

3. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkjs 50 ðkCnkai;±r f«gk % [5]

(1) ckiw [kksr vkf.k Qfdjk ;kaP;krh« la?k"kkZph dkj.ks lkaxk-

(2) ðkadj ikVh« ;k O;fDrjs[kspk ifjp; d:u nÓk-
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4. [kk«h« izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnki;±r f«gk % [20]

(v) (1) vIik lkgsc cs«o«djkaP;k ðkksdkafrdsph dkj.ks f«gk-

(2) ^uVlezkV* ;k ukVdkrh« u«wps O;fDrfp=.k js[kkVk-

(c) (1) ^Qfdjk* dknacjhph oSfðk"VÓs f«gk-

(2) ^Qfdjk* dknacjhrh« tksx.kh izdj.kkph ppkZ djk-

5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnki;±r f«gk % [30]

(v) (1) ^uVlezkV* ;k ukVdkarwu o`ºkaP;k leL;sps fp=.k dðkkizdkjs vk«s vkgs \

rs Li"V djk-

(2) ^uVlezkV* ;k ukVdkarh« L=hik=kapk ifjp; d:u nÓk-

(c) (1) ^Qfdjk* ;k dknacjhr v..kkHkk≈uh ^la?k"kZ vkf.k fHkrh* ;k nksu ra=kpk

dFkkud fufeZrhlkBh d«kRedrsus okij ds«k vkgs- dls rs Li"V djk-

(2) Qfdjk dknacjhps dFkkud FkksMD;kr f«gk-
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[4701]-2004

S.Y. B.A. EXAMINATION, 2015

MARATHI (ejkBh)

fo'ks"kLrj vH;klif=dk ÿ-&2

[vokZphu ejkBh ok≥~e;kpk bfrgkl (b-l- 1818 rs 1960)]

(2013 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. iq<hyiSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [10]

(1) 1920 uarjP;k y?kqfuca/kkph dks.krhgh nksu oSf'k"VÓs lkaxk-

(2) jfofdj.k eaMˇkph LFkkiuk dks.kh o dsOgk dj.;kr vkyh \

(3) iq-y- ns'kikaMs ;kaP;k dks.kR;kgh nksu ukVdkaph ukos lkaxk-

(4) ^vax.kkrhy iksiV* ;k y?kqdFksps ys[kd dks.k vkgsr \

(5) ok-e- tks'kh ;kaP;k dks.kR;kgh nksu dknacÚ;kaph ukos fygk-

(6) ^>saMwph Qqys* ;k foMacuij dkO;laxzgkps doh dks.k vkgsr \

(7) ^ek>h tUeBsi* gs vkRefuosnu dks.kh fyfgys vkgs \

P.T.O.

Seat

No.
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2. iq<hyiSdh dks.kR;kgh nksu iz'ukaph mŸkjs izR;sdh 50 'kCnki;±r fygk % [10]

(1) 1920 rs 1945 ;k dky[kaMkrhy dforsph okVpky FkksMD;kr lkaxk-

(2) Jh-O;a- dsrdj ;kaP;k dknacjh fufeZrh ekxhy izsj.kkapk ijke'kZ ?;k-

(3) Hkk-fo- ojsjdjkaP;k ukVÓ fufeZrh ekxhy izsj.kk lkaxk-

(4) 1920 rs 1945 ;k dky[kaMkrhy izoklo.kZu fufeZrh ekxhy izsj.kk lkaxk-

3. iq<hyiSdh dks.kR;kgh nksu iz'ukaph mŸkjs izR;sdh 50 'kCnki;±r fygk % [10]

(1) 1920 rs 1945 ;k dky[kaMkrhy ejkBh y?kqdFksph oSf'k"VÓs FkksMD;kr

lkaxk-

(2) j-ok- fn?ks ;kaP;k dknacjh ys[kukph oSf'k"VÓs lkaxk-

(3) Hkk-jk- rkacs ;kaP;k dforsps Lo:i FkksMD;kr lkaxk-

(4) 1920 rs 1945 ;k dky[kaMkrhy pfj= ok≥~e; izdkjkps Lo:i Li"V

djk-

4. iq<hyiSdh izR;sd xVkrhy ,dk iz'ukps mŸkj 150 'kCnki;±r fygk % [20]

^v* xV

(1) 1818 rs 1874 ;k dky[kaMkrhy fu;rdkfydkauh ejkBh lkfgR;kr dsysY;k dkefxjhps

ewY;ekiu djk-

(2) 1874 rs 1920 ;k dky[kaMkrhy lkfgR;fufeZrh ekxhy lkaLœfrd ik'oZHkweh Li"V

djk-

^c* xV

(1) 1920 rs 1945 ;k dky[kaMkl ^QMds&[kkaMsdj* ;qx Eg.krkr- lksnkgj.k Li"V djk-

(2) 1945 rs 1960 ;k dky[kaMkrhy dkO;fufeZrhpk ifjp; d:u |k-
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5. iq<hyiSdh izR;sd xVkrhy ,dk iz'ukps mŸkj 300 'kCnki;±r fygk % [30]

^v* xV

(1) ^^1818 rs 1874 ;k dky[kaMkl ^Hkk"kkarj ;qx* vls Eg.krkr-** lksnkgj.k Li"V

djk-

(2) 1874 rs 1920 ;k dkyko/khrhy ukVd ;k ok≥~e; izdkjkph okVpky fo'kn djk-

^c* xV

(1) 1920 rs 1945 ;k dky[kaMkrhy ejkBh dknacjhps Lo:i o oSf'k"VÓs lkaxk-

(2) ^^1945 rs 1960 ;k dky[kaMkr ejkBh dfork vusd fn'kkauh cgjyh-** gs foËkku

Li"V djk-
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Total No. of Questions—5] [Total No. of Printed Pages—4

[4701]-2013

S.Y. B.A. EXAMINATION, 2015

URDU

General Paper  II

(2013 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All  questions.
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Total No. of Questions—5] [Total No. of Printed Pages—2

[4701]-2014

S.Y. B.A. EXAMINATION, 2015

URDU

Special Paper  I

[History of Urdu Literature (Poetry & Prose)]

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :— (i) All  questions are compulsory.

 (i i ) Figures to the left indicate full marks.

P.T.O.
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  No.
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Total No. of Questions—5] [Total No. of Printed Pages—3

[4701]-2015

S.Y. B.A. EXAMINATION, 2015

URDU

Special  Paper II

(Prose and Poetry Texts)

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :— (1) Attempt  All  questions.

(2) Figures to the left indicate full marks.
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 Seat
  No.
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Total No. of Questions—5+5] [Total No. of Printed Pages—8+1

Seat

No. [4701]-2018

S.Y. B.A. EXAMINATION, 2015

fganh % lkekU;&2

(HINDI : GEN-2)

(dgkuh] dkO; ,oa ys[ku)

(2013 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;iqLrdsa :— (i) dFkk /kkjk % laik- MkW- vfurk usjs

MkW- v'kksd /kqy/kqys

(ii) dkO;k;u % laik- MkW- lqjs'k lkˇqads

MkW- lqHkk"k rˇsdj

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mŸkj fyf[k, % [16]

(1) ^mlus dgk Fkk* dgkuh ds vk/kkj ij ygukflag dk pfj=&fp=.k

dhft, A

(2) ^deZQy* dgkuh dh dFkkoLrq fyf[k, A

(3) ^?kwl ,d fpdukbZ gS* ds ek/;e ls ys[kd us dkSulh ubZ O;oLFkk dk ftÿ

fd;k gS \
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(4) ^flfy;k* dgkuh dh dFkkoLrq la{ksi esa fyf[k, A

(5) ^>wBh gS rsrjh nknh* dgkuh ds vk/kkj ij rsrjh dk pfj=&fp=.k

dhft, A

2- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mŸkj fyf[k, % [16]

(1) ^ek°>h* dfork dk HkkokFkZ fyf[k, A

(2) ^ckck us dgk Fkk* dfork ds ek/;e ls dfo ;qodksa dks D;k lans'k nsrs

gSa \

(3) ^vrhr ugha gksrh unh* ,slk dfo D;ksa dgrs gSa \

(4) ^pqukSrh* dfork esa ifr&iRuh ds Hkkoksa dks fdl izdkj vfHkO;Dr fd;k

gS \

(5) ^xk°o ij ek°* dfork esa dfo us ek° dh ihM+k dk o.kZu fdl izdkj fd;k

gS \

3- (v) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [8]

(1) ^rqe lc yksxksa us ek° th dks nq'eu cuk;k gS A eq>s rks Mj yxrk

gS fd vxj eSa cw<+k vkSj chekj gks x;k rks bl ?kj esa esjs lkFk

D;k fd;k tk;sxk A eSa vHkh ls crk nw° fd esjs ikl ugha gS dksbZ

/ku A viuk [kwu csp dj rqe lcdks iky jgk gw° A eq> ij

jge djuk --------- A*



[4701]-2018 3 P.T.O.

(2) ^^gk° ! ogh rks t:jh Fkk u A vkidks mu LVqfiM yksxksa ds chp

NksM+uk ugha Fkk u \ rek'kk djds j[kk Fkk u vkidk A dksbZ mBk

ugha jgk Fkk --------------- A**

(vk) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [8]

(1) ^^txg \ txg D;k gksrh gS \

;g] oSls] tku fy;k Fkk geus

viuh igyh d{kk eas gh !

;kn Fkk gesa ,d&,d v{kj

vkjafHkd ikBksa dkµ**

(2) ^^vkSj bl yM+kbZ esa

ftrus ?kko curs gSa

gkfFk;ksa ds mUer 'kjhjksa ij

mlls dgha T;knk

xgjs ?kko

curs gSa taxy vkSj le;

dh Nkrh ij A**

4- (v) fuEufyf[kr esa ls fdlh ,d ij fVIi.kh fyf[k, % [8]

(1) ^ued dk njksxk* dgkuh dk ^oa'kh/kj*

(2) ^ehjk ukph* dgkuh dh yM+dh

(3) ^NIiu rksys dk dj/ku* dgkuh esa fpf=r xzkeh.k ifjos'k A
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(vk) fuEufyf[kr esa ls fdlh ,d ij fVIi.kh fyf[k, % [8]

(1) ^twgh dh dyh* dfork esa of.kZr izseHkko A

(2) ^cstxg* dfork esa ukjh A

(3) ^bl :V dh lHkh ykbusa O;Lr gSa* dfork esa vk/kqfud cks/k A

5- (v) fuEu esa ls fdUgha pkj 'kCn&;qXeks a dk vFkZ crkdj okD; es a iz;k sx

dhft, % [8]

(1) vfyµvyh

(2) dqyµdwy

(3) fdykµdhyk

(4) fpjµphj

(5) cfyµcyh

(6) gfjµgjh A

(vk) fuEufyf[kr es a ls fdlh ,d fo"k; ij lk{kkRdkj dk uewuk rS;kj

dhft, % [8]

(1) ^Hkz"Vkpkj* ds lanHkZ esa vk..kk gtkjs th ls lk{kkRdkj A

(2) egkjk"V™ ljdkj ls ^vkn'kZ xkao iqjLdkj* izkIr xkao ds ljiap ls

lk{kkRdkj A
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[4701]-2018

iz;kstuewyd fganh

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1- fuEufyf[kr iz'uksa esa ls fdUgha Ng ds laf{kIr mŸkj fyf[k, % [12]

(1) iz;kstuewyd fganh dh ladYiuk Li"V dhft, A

(2) fganh dh izeq[k iz;qfDr;k° fyf[k, A

(3) dk;kZy;hu fganh ys[ku dk egRo fyf[k, A

(4) vkys[ku ds xq.k fyf[k, A

(5) lekpkj ys[ku ds flºkar fyf[k, A

(6) nwjn'kZu dk;Zÿe fuekZ.k izfÿ;k dk lkekU; ifjp; nhft, A

(7) tulapkj ek/;eksa dh Hkk"kk dk ifjp; nhft, A

(8) foKkiu ds mÌs'; fyf[k, A

2- (v) fuEufyf[kr esa ls fdUgha pkj dh iz'kklfud iz;qfDr;k° fyf[k, % [8]

(1) As per details below
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(2) Kindly acknowledge

(3) Issue reminder urgently

(4) Consider it again

(5) I have to thank you

(6) With regard to.

(vk) fuEufyf[kr vaxzsth eqgkojksa esa ls fdUgha pkj ds fganh i;kZ; fyf[k, % [8]

(1) Apple of ones eye

(2) Hold your mouth

(3) To play with fire

(4) Face turned flue

(5) To have cold feet

(6) To back out of.

(b) fuEufyf[kr 'kCn ;qXeksa esa ls fdUgha pkj ds vFkZ crkdj okD; esa iz;ksx

dhft, % [8]

(1) vUuµvU;

(2) fdykµdhyk

(3) jaxµjad

(4) 'k'k/kjµ'kf'k/kj

(5) 'khyµlhy

(6) b=µbrj A
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3- (v) fuEufyf[kr esa ls fdlh ,d i= dk uewuk rS;kj dhft, % [5]

ljLorh isij ekVZ] ykrqj ds O;oLFkkid Jh lfpu tenkMs us fodkl isij

feYl fy-] lksykiqj ds uke ,tsUlh ds fy, ek°x dh gS A ,tsUlh ek°x&i=

dk uewuk rS;kj dhft, A

vFkok

yksdHkkjrh LVksvlZ] vgenuxj ds O;oLFkkid lnkuan ekus ^lkfgR;k;u iqLrd

foÿsrk* bykgkckn ds uke iqLrd dh 10% izfr;k° de Hkstus rFkk NwV 15%

de nh gS A bl gsrq f'kdk;rh&i= fyf[k, A

(vk) fuEufyf[kr esa ls fdlh ,d i= dk uewuk rS;kj dhft, % [5]

^viuk HkaMkj* ds O;oLFkkid uanyky cuokjh] LVsV cSad] xka/kh ekxZ] vgenkckn

dh 'kk[kk esa pkyw [kkrk [kksyus ds fy, vkosnu&i= fy[krk gS A

vFkok

fodkl tks'kh ds uke] [kkrs ua- 2132 ls nks gtkj #i, dk psd [kks x;k

gS A vr% O;oLFkkid] LVsV cSad vkWQ gSnjkckn dks psd Hkqxrku jksdus ds

fy, vkosnu&i= fyf[k, A

(b) fuEufyf[kr ifjPNsn dk fganh esa vuqokn dhft, % [6]

Ashoka said that the king’s first duty was to protect the people

and to do justice, and he commanded all his officers to treat

people justy and kindly, and so put right many wrongs that
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were done. Kindness was to be shown to animals too. He built

many hospitals throughout India, both for men and for animals,

and made rules for the care of the aged and the poor. So that

his laws should be known everywhere, Ashok had them carved

upon rocks and pillars in simple language which everyone could

understand.

vFkok

vcw csu vWMe gk vkiY;k cka/kokoj izse dj.kkjk lsoko`Rrhpk x`gLFk ,dk jk=h

xk< >ksisrwu tkxk >kyk- R;kP;k [kksyhrhy paÊizdk'k ,d nsonwr vkiY;k lksusjh

iqLrdkr dkghrjh fyghr vlY;kps R;kyk fnlys- vcw csu vWMeus /kkMl d:u

R;k nsonwrkyk rks dk; fyghr gksrk] vls fopkjys- Lusgiw.kZ Hkkokus nsonwrkus lkafxrys

dh] rks nsokoj izse dj.kkÚ;kaph ukos fyghr gksrk- ^^ek>s uko R;kr vkgs

dk \** vcwus fopkjys nsonwrkus R;kps uko R;kr ulY;kps R;kyk lkafxrys- rsaOgk

vcwus R;k nsonwrkyk ^vkiY;k cka/kokoj izse dj.kkjk* Eg.kwu vkiys uko R;k

;knhr fyfg.;kph fouarh dsyh- nsonwrkus rs fyfgys o rks vn`'; >kyk-

4- fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [16]

(1) iz;kstuewyd fganh dk Lo:i fyf[k, A

(2) fganh Hkk"kk dh izeq[k iz;qfDr;k° fyf[k, A
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(3) tulapkj ek/;eksa esa Hkk"kk dk egRo crkb, A

(4) jsfM;ks ys[ku dk ifjp; nhft, A

(5) jsyos ds {ks= esa fganh iz;ksx ds Lo:i dks Li"V dhft, A

(6) vkys[ku ds xq.k fyf[k, A

5- fuEufyf[kr fo"k;ksa esa ls fdUgha rhu ij fVIif.k;k° fyf[k, % [12]

(1) vkys[ku dh Hkk"kk

(2) eqfÊr ek/;eksa dh Hkk"kk

(3) dgkuh ys[ku

(4) dEI;wVj ,uhes'ku

(5) foKkiu dh vko';drk A



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-2019

S.Y. B.A. EXAMINATION, 2015

fganh % fo'ks"k—I

(Hindi Special—I)

(fganh Hkk"kk dk fodkl)

(2013 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1- (v) fuEufyf[kr iz'uksa esa ls fdUgha N% iz'uksa ds mŸkj ,d&,d okD; esa

fyf[k, % [6]

(1) fganh dh fdUgha nks cksfy;ksa ds uke fyf[k, A

(2) jktHkk"kk fdls dgrs gSa \

(3) fganh esa iz;qDr gksus okys nks fons'kh 'kCnksa ds mnkgj.k fyf[k, A

(4) ukxjh fyfi dk fodkl fdl izkphu fyfi ls gqvk gS \

(5) Hkk"kk dh y?kqre bdkbZ dkSulh gS \

(6) okD; dh ifjHkk"kk nhft, A

(7) in dh ifjHkk"kk fyf[k, A

(8) O;atu fdls dgrs gSa \
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(vk) fuEufyf[kr esa ls fdUgha ik°p iz'uksa ds mŸkj la{ksi esa fyf[k, % [10]

(1) cksyh ls Hkk"kk cuus ds nks dkj.k fyf[k, A

(2) ifjfuf"Br Hkk"kk fdls dgrs gSa \

(3) rRle 'kCnksa ls D;k rkRi;Z gS \

(4) Hkk"kkfoKku ds vaxksa dk mYys[k dhft, A

(5) laca/k rRo fdls dgrs gSa \

(6) vks"BÓ /ofu;ksa ds mnkgj.k fyf[k, A

(7) vFkZfoLrkj dk dksbZ ,d mnkgj.k nsdj Li"V dhft, A

2- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [10]

(1) Loj vkSj O;atu dk varj

(2) 'kCn vkSj in

(3) jktHkk"kk vf/kfu;e] 1963 A

3- fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj fyf[k, % [18]

(1) ^vo/kh* cksyh dk la{ksi esa ifjp; nhft, A

(2) Hkk"kk dh fdUgha nks fo'ks"krkvksa ij izdk'k Mkfy, A

(3) 'kwU; laca/k rRo dk lksnkgj.k ifjp; nhft, A

(4) LFkku ds vk/kkj ij O;atu oxhZdj.k izLrqr dhft, A

(5) jpuk ds vk/kkj ij okD; ds Hksn fyf[k, A
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4- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [12]

(1) Hkk"kk ds fofo/k :iksa dk ifjp; nhft, A

(2) fganh ds 'kCn HkaMkj ij foLrkj ls foospu dhft, A

5- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mŸkj foLrkj ls fyf[k, % [24]

(1) vFkZifjorZu dh fn'kk,° lksnkgj.k Li"V dhft, A

(2) okD; dh vko';drkvksa ij izdk'k Mkfy, A

(3) jk"V™Hkk"kk fganh dk izlkj djus okyh laLFkkvksa dk ifjp; nhft, A

(4) o.kZukRed] ,sfrgkfld vkSj rqyukRed Hkk"kkfoKku dk ifjp; nhft, A



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-2020

S.Y. B.A. EXAMINATION, 2015

HINDI (Special II)

(fganh) (fo'ks"k&2)

(miU;kl] ukVd rFkk e/;;qxhu fganh dkO;)

(2013 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdas :— (i) leqÊ esa [kks;k gqvk vkneh & deys'oj

(ii) ;qxs ;qxs ÿkfUr & fo".kq izHkkdj

(iii) e/;;qxhu fganh dkO; & laik- MkW jktsaÊ [kSjukj

           MkW- foB~By flag Bkdjs

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1. (v) fuEufyf[kr esa ls fdUgha N% iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [6]

(1) ÿkfUr dh ryk'k esa dkSu gS \

(2) dY;k.k flag dks viuh iRuh dk eq[k ns[kus ds ckn D;k ltk feyh\

P.T.O.
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(3) chju ds ekrk&firk dk uke fyf[k, A

(4) rkjk dgk° ukSdjh djus yxh \

(5) dchj dh HkfDr lk/kuk dkSuls izdkj dh Fkh \

(6) lwjnkl dh fdlh ,d jpuk dk uke fyf[k, A

(7) jghe dkSulh dkO;/kkjk ds dfo Fks \

(8) fcgkjh ds dkO; esa dkSulk jl iz/kku gS \

(vk) fuEufyf[kr esa ls fdUgha ik°p iz'uksa ds mŸkj la{ksi esa fyf[k, % [10]

(1) 'kkjnk dks iqfyl D;ksa idM+dj ys tkrh gS \

(2) foey fdlls 'kknh djuk pkgrk gS \ D;ksa \

(3) chju ds cDls ls D;k&D;k fudyk \

(4) ukSdjh tkus ds ckn ';keyky us dkSulk O;olk; 'kq: fd;k \

(5) ^ln~xq# dh efgek vuar gS*] ,slk dchj D;ksa dgrs gSa \

(6) œ".k vius nk≈ dh f'kdk;r ;'kksnk ls D;ksa djrk gS \

(7) jghe ewy dks lhapus dh lykg D;ksa nsrs gSa \

(8) fcgkjh us jkt+k t;flag dks dkSulk nksgk fy[kdj Hkstk Fkk \



[4701]-2020 3 P.T.O.

2. (v) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft;s % [5]

(1) ^^vuqHko vkSj ÿkfUr dh lnk vucu jgrh gS A nksuksa ,d&nwljs dks

QwVh vk°[kksa ls ugha lqgkrs A vuqHko LFkkfir lR;ksa dh j{kk djrk

gS ysfdu ÿkfUr u;s lR;ksa dh [kkst djrh gS A**

(2) ^^euq"; euq"; gS A /keZ] er vkSj tkfr cny tkus ls og ugha cny

tkrk A**

(vk) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [5]

(1) ^^dud dud rs lkSxquh ekndrk vf/kdkb A

mfga [kk;s ckSjkb tx] bfg ik,sa ckSjkb ˚**

(2) ^^fcxjh ckr cus ugha] yk[k djS fdu dks; A

jfgeu QkVs nw/k dks] eFks u ek[ku gks; ˚**

3. fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj vkB&nl iafDr;ksa esa fyf[k, % [18]

(1) ^;qxs ;qxs ÿkfUr* ukVd dh 'kkjnk dk ifjp; nhft, A

(2) ^leqÊ esa [kks;k gqvk vkneh* 'kh"kZd dh lkFkZdrk Li"V dhft, A

(3) dchj ds xq# fo"k;d fopkj fyf[k, A

(4) xksfi;ksa dh f'kdk;r ds ckn œ".k ;'kksnk ls viuh lQkbZ dSls nsrs gSa\

(5) fcxM+h ckr dks l°okjuk dfBu gS] ,slk jghe D;ksa dgrs gSa \

(6) ifBr nksgksa ds vk/kkj ij fcgkjh dh HkfDr&Hkkouk Li"V dhft;s A
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4. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, %  [12]

(1) ^leqÊ esa [kks;k gqvk vkneh* miU;kl esa fpf=r leL;kvksa dks Li"V dhft,A

(2) chju dh e`R;q ds ckn ';keyky ds ifjokj dks dkSulh leL;kvksa dk lkeuk

djuk iM+k \

5. fuEufyf[kr esa ls fdUgha nks iz'uksa ds mŸkj foLrkj ls fyf[k, %  [24]

(1) ukVd ds rRoksa ds vk/kkj ij ^;qxs ;qxs ÿkfUr* ukVd dh leh{kk dhft,A

(2) ^;qxs ;qxs ÿkfUr* ukVd ds izeq[k L=h ik=ksa dk pfj=&fp=.k dhft, A

(3) ifBr nksgksa ds vk/kkj ij jghe ds uhfrfo"k;d fopkj Li"V dhft;s A

(4) fcgkjh dk ‹k`axkj o.kZu ifBr nksgksa ds vk/kkj ij Li"V dhft;s A



Total No. of Questions—5] [Total No. of Printed Pages—3

[4701]-2021

S.Y.  B.A. EXAMINATION, 2015

PERSIAN

General  Paper  II

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Explain the peculiarities of ‘Rubais’ of Umar Khaiyyam. [15]

Or

Explain the life and literary contribution of Umar Khaiyyam.

2. Reproduce in your own Persian the views of Umar Khaiyyam (any

three) : [15]

P.T.O.

 Seat
  No.



3. Draw the life sketch of Hafiz Shirazi adding a note to his literary

works. [20]

Or

Narrate the salient features of ‘Ghazals of Hafiz Shirazi’.

4. Reproduce in your own Persian the views of Hafiz Shirazi (any

three) : [15]

5. Explain in Persian or translate and explain the couplets in English or

Urdu or Marathi (any five) : [15]

2 [4701]-2021
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-2022

S.Y. B.A. EXAMINATION, 2015

SANSKRIT

General Paper II

( Samskrtarnavah&
& & &

)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate any two each from ‘A’ and ‘B’ sections, into Marathi or

English :

^v* vkf.k ^c* foHkkxkarwu izR;sdh nksgksaps ejkBhr fdaok baxzthr Hkk"kkarj djk %

SECTION A

(foHkkx ^v*)

(i) osneuwP;kpk;ksZ∑Ursokflueuq'kkfLr˚ lR;a on˚ /ke± pj˚ Lok/;k;kUek izen%˚

vkpk;kZ; fiz;a /kuek‚R; iztkrUraq ek O;oPNsRlh% ˚ lR;kUu izefnrO;e~˚ ËkekZUu

izefnrO;e~˚ dq'kykUu izefnrO;e~˚ HkwR;S u izefnrO;e~˚ Lok/;k;izopukH;ka

u izefnrO;e~˚

P.T.O.

[10]
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(ii) vFk vQty[kkusµ^^rr~ fda f'ko ,"k ,oa xq.k&x.k fof'k"Vks∑fLr \ ,oa ok

ohjojks∑fLr \** bfr lpfdra lHk;a lrd± ljkseksn~xea p dFk;fr] fdf¥pr~

fopk;sZo uhfrdkS'kyiqj%lja xkSj% iqujoknhr~µHkxou~ ! lkekU;&jktHk`R;L;

iq=f'koohjks ;fn uke uk∑Hkfo";r~ Lo;ehn`'kks mtZLoy%] rr~ dFka Lo.kZnso ln`'klgpja

izkIL;r~ \

(iii) ?kVksRdp% µ Hkokfunkuha [kYofl e/;e%A e/;eA br% br%A

o`n~/k% µ (HkhelsueqixE;) Hkks e/;e] ifj=k;Lo czk„.kdqye~A

Hkhe% µ u HksrO;e~A u HksrO;e~A e/;eks∑gefHkokn;sA

o`n~/k% µ ok;qfjo nh?kkZ;qHkZoA

Hkhe% µ vuqx`ghrks∑fLeA dqrks Hk;ek;ZL;A

SECTION B

(foHkkx ^c*) [10]

(i) v;ee`rfu/kkua uk;dks∑I;ks"k/khuka

'krfHk"kxuq;kr% 'kEHkqew/kkZoral%A

fojg;fr u pSua jkt;{ek 'k'kk≥~da

grfof/kifjikd% dsu ok y≥~?kuh;%˚

(ii) fuekZueksgk ftrl≥~xnks"kk

v/;kRefuR;k fofuo`Ÿkdkek%A

}U}SfoZeqDrk% lq[knq%[kl¥KS

xZPNUR;ew<k% ineO;;a rr~˚

(iii) lkSjk"V™ns'ks fo'kns∑frjE;s] T;ksfreZ;a pUÊdykorale~A

HkfDriznkuk; œikorh.k±] ra lkseukFka 'kj.ka izinÓs˚
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2. Explain with reference to the context any one from Sections A and

B each :

^v* vkf.k ^c* foHkkxkarwu izR;sdh ,dkps llanHkZ Li"Vhdj.k djk %

SECTION A [5]

(foHkkx ^v*)

(i) lR;suSo /k`rk i`fFkoh lR;s lo± izfrf"Bre~A

(ii) rnkizHk`fr ujgfj% foßyL; ijeHkDr% vHkor~A

SECTION B [5]

(foHkkx ^c*)

(i) ueLrL;S ueLrL;S ueLrL;S ueks ue%A

(ii) izk;ks xPNfr ;= nSogrd% r=So ;kUR;kin%A

3. Write an essay type answer to any one : [15]

dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj nÓk %

(i) Explain a moral of the lesson ^d≥~d.kL; rq yksHksu*-

^d≥~d.kL; rq yksHksu* ;k ikBkps rkRi;Z Li"V djk-

(ii) Appreciate the lesson ^vkfrF;a thforiznkusu*

^vkfrF;a thforiznkusu* ;k ikBkps jlxzg.k djk-

4. Write an essay type answer to any one : [15]

dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj nÓk %

(i) Explain opinions of ojkgfefgj regarding search of ground

water.

HkwxHkkZrhy ik.kh dls 'kks/krkr ;kfo"k;h ojkgfefgjkaph ers Li"V djk-

(ii) Explain iq#"kksŸke;ksx-

iq#"kksŸke;ksx Li"V djk-
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5. (A) Write critical notes (any two) : [10]

foospd ifjPNsn fygk (dks.krsgh nksu) %

(i) cz„p;ZLo:ie~A

(ii) HkrZ̀gfj%A

(iii) Qualities of f'kojk;-

f'kojk;kaps xq.kA

(B) Write answers in laLœr language (any five) : [10]

laLœrHkk"kse/;s mŸkjs fygk (dks.krsgh ikp) %

(i) vuq'kklufeR;s"k% ikB% dL;keqifu"kfn orZrs \

(ii) dk ;ksxO;k[;k ir¥tfyuk œrk \

Match the following :

mfpra ;qXea fofpuqr %

(iii) Jh'kSy'k`≥~xe~ µ mTtf;uhA

(iv) egkdkye~ µ lqrkezi.khZtyjkf'k;ksxe~A

(v) ´;Ecde~ µ efYydktqZue~A

(vi) jkes'oje~ µ fgeky;e~A

(vii) dsnkje~ µ xksnkojhrhje~A



Total No. of Questions—5] [Total No. of Printed Pages—3

[4701]-2023

S.Y. B.A. EXAMINATION, 2015

SANSKRIT

Special Paper-I

Kavyasastravimarsa, Vrttavicara and
&

Kautil iya Arthasastra (adhikarana 1st and 6th)
&&

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Give reference to context any two of the following : [10]

[kkyhiySdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) rkn`'kh cz„.kks ^fufeZr%* fuekZ.ke~A

(ii) bgkfHk/ks;a liz;kstufeR;kgA

(iii) gsrq%] u rq gsro%A

2. (A) Define any one vyadkj along with examples : [5]

dks.kR;kgh ,dk vyadkjkps y{k.k lksnkgj.k Li"V djk %

(i) jluksiekA

(ii) mRizs{kkA

P.T.O.

Seat

No.
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(B) Define any one òŸk along with examples : [5]

dks.kR;kgh ,dk o`Rrkps y{k.k lksnkgj.k Li"V djk %

(i) xhfr%A

(ii) oa'kLFke~A

(C) Fill in the blanks (any Five) : [10]

fjdkE;k tkxk Hkjk (dks.kR;kgh ikp) %

(i) Jhg"kfns/kkZodknhukfeo--------------------------------A

(ii) --------------------------------dfoRocht:i% laLdkjfo'ks"k%A

(iii) --------------------------------bfr xq.kky≥~dkj;qDre~A

(iv) lk{kkRladsfrreFk± ;ks∑FkZefHk/kRrs l% --------------------------------A

(v) --------------------------------rq ;=ksDrkS fo"k;h fo"k;LrFkkA

(vi) n`"VkUrLrq l/keZL; oLrqu%--------------------------------A

(vii) --------------------------------prqfHkZ;ZdkjS%A

3. Write an essay type answer of any one of the following % [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Explain vkFkhZO;Ttuk in detail.

vkFkhZO;atuk iw.kZi.ks Li"V djk-

(ii) Explain 'kCnkFkZ=Sfo/;e~A

'kCnkFkZ=Sfo/;e~ lfoLrj Li"V djk-
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4. (A) Write reference to the context (any two) : [10]

lanHkkZlfgr Li"Vhdj.k nÓk (dks.krsgh nksu) %

(i) lka[; ;ksxks yksdk;ra psR;kUohf{kdhA

(ii) losZ"kkefglk lR;a 'kkSpeulw;ku`'kaL;a {kek pA

(iii) vuU;ka i`fFkoha Hkq≥~Drs loZHkwrfgrs jr%A

(B) Match the following (any five) : [10]

tksMÓk tq̌ ok (dks.kR;kgh ikp) %

(i) fou;% µ œf"k%A

(ii) okfXeRoa µ ijks{ke~A

(iii) fonÓkleqÌs'k% µ mnkfLFkr%A

(iv) okrkZ µ dFkk;ksxs"kqA

(v) ijksifn"Va �µ =;hA

(vi) izozT;kizR;oflr% µ jln%A

(vii) ÿwjk vylk‹p µ LokHkkfod%A

5. Write critical notes on any two of the following : [20]

[kkyhyiSdh dks.kR;kgh nksgkssaoj foospd ifjPNsn fygk %

(i) vekR;ksRifŸk%A

(ii) bfUÊ;t;% r= vfj"kM~oxZR;kx%A

(iii) fonÓkleqÌs'k%A



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-2024

S.Y. B.A. EXAMINATION, 2015

SANSKRIT

Special Paper–II

(Vedasaurabha)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate any two of the following with an explanation/notes :  [10]

[kkyhyiSdh dks.kR;kgh nksgksaps lVhi Hkk"kkarj djk %

(i) iz rO;lha uO;lha /khfreXu;s okpks efr lgl% lquos HkjsA

vika uiknÓks olqfHk% lg fiz;ks gksrk i`fFkO;ka U;lhnn`fRo;%˚

(ii) iz ioZrkukeq'krh miLFkkn‹osbo fof"krs gklekusA

xkoso 'kqHkzs ekrjk fjgk.ks foikV~NqrqÊh i;lk tosrs˚

(iii) ;s f="kIrk% ifj;fUr fo'ok :ikf.k fcHkzr%A

okpLifrcZyk rs"kka rUoks vnÓ n/kkrq es˚

2. Write a long answer to any one of the following : [20]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Appreciate a hymn to itZU; (Rv 5.83)

itZU;lwDrkps (Ω- 5-83) jlxzg.k djk-

P.T.O.
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(ii) Explain content of lkaeuL;lwDr (Av. 3.30) appearing in the

Atharvaveda.

vFkoZosnkrhy lkaeuL; lwDrkpk (vFk- 3.30) vk'k; Li"V djk-

3. Write reference to context to any two of the following : [10]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) ;'kks oS lkseks jktkA

(ii) vUua cgq dqohZr˚ rn~ozre~A

(iii) ;ks∑;a ojks xw<euqizfo"Vks ukU;a rLekUufpdsrk o`.khrsA

4. Explain a story of tkuJqfrikS=k;.k- [20]

tkuJqfrikS=k;.k dFkk Li"V djk-

Or

(fdaok)

Explain content of a story about ljek and if.k-

ljekif.kdFkspk vk'k; Li"V djk-

5. Write answers in the laLœr language (any ten) : [20]

laLœrHkk"ksr mŸkjs fygk (dks.krsgh ngk) %

(i) osnL; O;k[;ka fy[krA

(ii) ΩXosns dfr e.Mykfu lfUr \
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(iii) NUn% uke fde~ \

(iv) O;kdj.kegkHkk";s vFkoZosnL; dfr lafgrk% izksDrk% \

(v) czg~eosn% bR;srn~ dL; osnL; uke/ks;e~ \

(vi) es/kktuulwDrL; Ωf"k% d% \

(vii) ,srjs;czk„.ka dL; osnL; czkg~e.ke~ \

(viii) vFkoZosnL; czkg~e.ka fde~ \

(ix) xk% 'kks/kkFk± bUÊs.k dk izsf"krk \

(x) ^u deZ fyI;rs ujs* bR;srn~ okD;a dL;ka mifu"kfn orZrs \

(xi) rSfŸkjh;ksifu"kfn vkxrk% frlz% oYy;% dk% \

(xii) ^eU=ksifu"kn~* ukEuk dk mifu"kn~ fo[;krk \



Total No. of Questions—4+44+44+44+4] [Total No. of Printed Pages—4+14+14+14+1

[4701]-2026[4701]-2026[4701]-2026[4701]-2026

S.Y. B.A. EXAMINATION, 2015S.Y. B.A. EXAMINATION, 2015S.Y. B.A. EXAMINATION, 2015S.Y. B.A. EXAMINATION, 2015

Pali

(General Paper II)(General Paper II)(General Paper II)(General Paper II)

(Pali Ku suman jali (P ath a 9 -14 and 18 - 23
�

)

(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)(2013 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

Part APart APart APart A

1.1.1.1. Translate into English or Marathi (any two) : [12]

(1)

P.T.O.

SeatSeatSeatSeat

No.No.No.No.
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(2)

(3)

2.2.2.2. Explain with reference to the context (any two) : [10]

(1)
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(2)

(3)

3.3.3.3. Write short notes on any two of the following : [8]

(1)

(2)

(3)

4.4.4.4. Answer any one of the following : [10]

Part BPart BPart BPart B

1.1.1.1. Translate into English or Marathi (any two) : [12]

(1)
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(2)

(3)

2.2.2.2. Explain with reference to the context (any two) : [10]

(1)

(2)

(3)
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3.3.3.3. Write short notes on any two of the following : [8]

(1)

(2)

(3)

4.4.4.4. Answer any one of the following : [10]



Total No. of Questions—5] [Total No. of Printed Pages—4

[4701]-2027

S.Y. B.A. EXAMINATION, 2015

ARABIC

General  Paper  II

(2013  PATTERN)

Time : Three Hours   Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

P.T.O.

 Seat

  No.



2. Translate and explain any two of the following Surahs : [16]

3. (A) Translate and explain with the reference to the context any

four of the following verses : [8]

2 [4701]-2027



(B) Summarize any two of the following : [8]

4. Define and illustrate any two of the following : [16]

P.T.O. 3 [4701]-2027



5. (A) Translate the following passage into English : [8]

(B) Translate into Arabic the following sentences : [8]

(1) Do not open the door.

(2) The teacher has written the lesson on the blackboard.

(3) Samia, do not sit on that chair.

(4) Go to the your room and read your book.

(5) Majid, sit on your desk and read the new lesson.

4 [4701]-2027
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Seat

No. [4701]-2028

S.Y. B.A. EXAMINATION, 2015

ECONOMICS

(G-2 : Modern Banking)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the overdraft concept.

(ii) State the limitations of multiple credit creation process.

(iii) State the types of cheque.

(iv) What is the importance of Tele-Banking ?

(v) Explain the need of Reserve Bank.

(vi) State the objectives of Primary Agricultural Credit Societies.

P.T.O.



[4701]-2028 2

2. Answer the following questions in 200 words each (any two) : [20]

(i) State the procedure for opening of Deposit Account of Current

and Saving Account.

(ii) State the Negotiable Instruments by Trade Custom.

(iii) Explain the measures of Money Stock by Reserve Bank of

India.

(iv) Explain the objectives and functions of NABARD.

3. Answer the following questions in 400 words (any one) : [20]

(i) Explain the primary and secondary functions of Commercial

Bank.

(ii) Explain the Instrument of Credit Control of Quantitative and

Qualitative.

4. Write short notes on (any four) : [20]

(i) Structure of Indian Banking System.

(ii) Types of Commercial Bank Deposit.

(iii) Promissory Note.

(iv) Objectives of Monetary Policy.

(v) Urban Co-operative Bank.

(vi) A.T.M.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) vf/kd"kZ lo«r gh ladYiuk Li"V djk-

(ii) cgqfo/k irfufeZrhP;k e;kZnk lkaxk-

(iii) /kuknsðkkps izdkj lkaxk-

(iv) Vsf«&c°fdaxps egRo dk; vkgs \

(v) e/;orhZ c°dsph vkoð;drk Li"V djk-

(vi) izkFkfed ðksrh lgdkjh irlaLFksph mn~nh"VÓs lkaxk-

2. [kk«h« izðukaph izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) pk«w o cpr [kkrs m?kM.;kph dk;Ziz.kk«h Li"V djk-

(ii) O;kikjh :<hus vfLrRokr ;s.kkjs p«u{ke nLr,sot lkaxk-

(iii) fj>oZ c°dsP;k iSðkkP;k iqjoBÓkph ekius Li"V djk-

(iv) ukckMZph mn~nh"VÓs o dk;sZ Li"V djk-
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3. [kk«h« izðukaph 400 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(i) O;kikjh c°dkaph izkFkfed vkf.k nq∏;e dk;sZ Li"V djk-

(ii) irfu;a=.kkph la[;kRed vkf.k xq.kkRed lk/kus Li"V djk-

4. laf{kIr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) Hkkjrh; c°d iz.kk«hph jpuk-

(ii) O;kikjh c°dsP;k Bsohaps izdkj-

(iii) opufpV~Bh-

(iv) p«ufo"k;d /kksj.kkph mn~nh"VÓs-

(v) ukxjh lgdkjh c°dk-

(vi) Lo;apf«r x.kd ;a= (,-Vh-,e~-)-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2029

S.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper I

(Micro-Economics)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams if necessary.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the importance of micro-economics.

(2) Explain income elasticity.

(3) Describe the concept of production function.

(4) Explain the characteristics of Duopoly.

(5) Explain the supply curve of labour.

(6) Explain the Innovation theory of Profit.



[4701]-2029 2

2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the tools of economic analysis.

(2) State the Law of Variable Proportion.

(3) Keynesian Liquidity preference theory of Interest.

(4) Describe the short-run equilibrium in Monopolistic Competition.

3. Answer the following questions in 400 words each (any one) : [20]

(1) Explain the types of Demand Elasticity.

(2) Describe the Ricardian theory of Rent.

4. Write short notes on any four : [20]

(1) Basic economic problems

(2) Law of supply

(3) Law of return of scale

(4) Characteristics of Perfect Competition

(5) Modern theory of Wages

(6) Definition and meaning of welfare economics.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhy iz'ukaph mŸkjs izR;sdh 100 'kCnkar fygk (dks.kRksgh pkj) % [20]

(1) va'ky{kh vFkZ'kkL=kps egRo lkaxk-

(2) mRiUu yofpdrk Li"V djk-

(3) mRiknu Qyukph ladYiuk fo'kn djk-

(4) f}&foÿsrkf/kdkjkph oSf'k"VÓs Li"V djk-

(5) Jekpk iqjoBk oÿ Li"V djk-

(6) u∂;kpk uo&izorZu flºkar Li"V djk-

2- [kkyhy iz'ukaph mŸkjs izR;sdh 200 'kCnkar fygk (dks.kRksgh nksu) % [20]

(1) vkfFkZd fo'ys"kukph lk/kus Li"V djk-

(2) cnyR;k izek.kkpk fu;e lkaxk-

(3) dsUlpk O;ktkpk jks[krk ilarh flºkar-

(4) eDrsnkjh;qDr Li/ksZrhy vYidkyhu lerksy fo'kn djk-
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3- [kkyhy iz'ukaph mŸkjs izR;sdh 400 'kCnkar fygk (dks.kRkkgh ,d) % [20]

(1) ekx.kh yofpdrsph izdkj Li"V djk-

(2) fjdkMksZpk [kaMflºkar fo'kn djk-

4- FkksMD;kr fVik fygk (dks.kR;kgh pkj) % [20]

(1) eqyHkwr vkfFkZd iz'u

(2) iqjoBÓkpk fu;e

(3) izfrQykpk fu;e

(4) iw.kZLi/ksZph oSf'k"VÓs

(5) osrukpk vk/kqfud flºkar

(6) dY;k.kdkjh vFkZ'kkL=kph O;k[;k vkf.k vFkZ-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2030

S.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper II

(Macro-economics)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the importance of macro-economics.

(2) Explain the production method of measuring National Income.

(3) State the Keynesian psychological law of consumption.

(4) Explain the average propensity to consume and marginal propensity

to consume.

(5) State the characteristics of Trade cycle.

(6) State the objectives of Macro-economic Policies.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) State the scope and limitations of Macro-economics.

(2) Explain the two sector model of circular flow of National

Income.

(3) Explain the phases of Business Cycles.

(4) Describe the instruments of monetary policy.

3. Answer any one of the following questions in 400 words : [20]

(1) Define the money. Explain the functions of money.

(2) Explain in detail Say’s law of market.

4. Write short notes on (any four) : [20]

(1) Difference between Micro and Macro-economics

(2) Gross National Product

(3) Principle of Acceleration

(4) Marshall’s equation of value of money

(5) Cost Push Inflation

(6) Fiscal policy of control of Trade cycle.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.kRksgh pkj) % [20]

(1) LFkw« vFkZðkkL=kps egRo Li"V djk-

(2) jk"V™h; mRiUu ekiukph mRiknu iºr Li"V djk-

(3) dsUlpk miHkksxklaca/khpk ekulðkkL=h; fu;e lkaxk-

(4) ljkljh miHkksx izo`Ÿkh o lhekar miHkksx izo`Ÿkh Li"V djk-

(5) O;kikj pÿkph oSfðk"VÓs lkaxk-

(6) lexz«{kh vkfFkZd /kksj.kkaph mfÌ"VÓs lkaxk-

2- [kk«h« izðukaph izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.kRksgh nksu) % [20]

(1) LFkw« vFkZðkkL=kph O;kIrh o e;kZnk lkaxk-

(2) mRiUukP;k pÿkdkj izokgkps f}{ks=h; izfreku Li"V djk-

(3) O;kikj pÿkP;k voLFkk Li"V djk-

(4) p«ufo"k;d /kksj.kkph lk/kus foðkn djk-
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3- [kk«h«iSdh dks.krkgh ,dk izðukaps 400 ðkCnkar mŸkj f«gk % [20]

(1) iSðkkph O;k[;k |k- iSðkkph dk;sZ Li"V djk-

(2) ^ls*pk cktkjfo"k;d fu;e lfoLrj Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) lw{e o LFkw« vFkZðkkL= Qjd

(2) LFkw« jk"V™h; mRiknu

(3) izosx rRo

(4) iSðkkP;k ewY;kckcrps ekðkZ«ps lehdj.k

(5) [kpZnkc fufeZr p«uok<

(6) O;kikjpÿ fu;a=.kkps jktdks"kh; /kksj.k-



P.T.O.

Total No. of Questions—4+4+4+4] [Total No. of Printed Pages—16

Seat

No. [4701]-2031

S.Y. B.A. EXAMINATION, 2015

POLITICS

General Paper II

(Political Theory and Concepts)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(1) Explain nature of political theory.

(2) Explain concept of Justice.

(3) State the types of Liberty.

(4) Explain the concept of Direct Democracy.

(5) State the characteristic of sovereignty.

(6) What is globalization ?
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2. Attempt any two questions (in 200 words each) : [20]

(1) Explain the kinds of Rights.

(2) Foucault on power.

(3) State merits and demerits of democracy.

(4) Explain the types of equality.

3. Attempt any one question in 400 words : [20]

(1) What is meant by State ? Explain its elements.

(2) Explain the concept of Globalization. State its impact on

India.

4. Write short notes on (any four) : [20]

(1) Liberal concept of state

(2) Sovereignty as an element of state

(3) Power as a tool of exploitation

(4) Economic equality

(5) Marxist concept of state

(6) Features of Democracy.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kRksgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) jktdh; flºkarkps Lo:i Li"V djk-

(2) ^^U;k;kph** ladYiuk Li"V djk-

(3) Lokra´;kps izdkj Li"V djk-

(4) izR;{k «ksdðkkghph ladYiuk Li"V djk-

(5) lkoZHkkSeRokph oSfðk"VÓs Li"V djk-

(6) tkxfrdhdj.k Eg.kts dk;-

2- [kk«h«iSdh dks.kR;kgh nksu izðu lksMok (izR;sdh 200 ðkCnkar) % [20]

(1) gDdkaps izdkj Li"V djk-

(2) lRrsfo"k;h QksdkWYVps fopkj-

(3) «ksdðkkghps xq.k&nks"k Li"V djk-

(4) lersps izdkj Li"V djk-



[4701]-2031 4

3- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok (izR;sdh 400 ðkCnkar) % [20]

(1) jkT; Eg.kts dk; \ jkT;kps ?kVd Li"V djk-

(2) tkxfrdhdj.kkph ladYiuk Li"V d:u ifj.kke lkaxk-

4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) jkT;kph mnkjeroknh ladYiuk Li"V djk

(2) ^lkoZHkkSeRo* jkT;kpk ,d ?kVd

(3) lRrk&ðkks/kukps lk/ku

(4) vkfFkZd lerk

(5) ekDlZph jkT;kph ladYiuk

(6) «ksdðkkghph oSfðk"VÓs-
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[4701]-2031

(G-II : Government and Politics of U.K., U.S.A.)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(1) Origin and the development of the Constitution of USA.

(2) Human Rights Movement in U.K.

(3) Functions of cabinet in Britain.

(4) Philadelphia Conference of 1787.

(5) Party system in USA

(6) Senate the most powerful chamber.

2. Attempt any two questions (in 200 words each) : [20]

(1) Trace the origin and development of the Constitution

of U.K.

(2) Discuss the powers and position of the President of U.S.A.

(3) Discuss the powers and position of the British King.

(4) Explain the composition and functions of Supreme Court

in U.S.A.
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3. Attempt any one question in 400 words : [20]

(1) Explain the salient features of the U.S. Constitution.

(2) Write an essay on Party System in U.K.

4. Write short notes on (any four) : [20]

(1) Local Government Structure in U.K.

(2) Ethnic Movement in U.S.A.

(3) Women’s Movement in U.K.

(4) Role of Interest Groups in U.S.A.

(5) Functions of Interest Groups in U.K.

(6) District Court in U.S.A.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kRksgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) vesjhdsP;k jkT;?kVuspk mn; o fodkl-

(2) baX«aMe/kh« ekuoh gDd pˇoˇ-

(3) fczVue/kh« dWfcusVph dk;sZ-

(4) 1787ph fQ«kMsfYQ;k ifj"kn-

(5) vesjhdsrh« i{kiºrh-

(6) flusV loZJs"B lHkkx`g-

2- [kk«h«iSdh dks.kRksgh nksu izðu lksMok (izR;sdh 200 ðkCnkar) % [20]

(1) baX«aMP;k jkT;?kVuspk mn; vkf.k fodklkpk vk<kok ?;k-

(2) vesjhdsP;k jk"V™k/;{kkps vf/kdkj vkf.k LFkku ;kaph ppkZ djk-

(3) fczfVðk jktkps vf/kdkj vkf.k LFkku ;kaph ppkZ djk-

(4) vesjhdsP;k loksZPp U;k;k«;kph jpuk o dk;sZ Li"V djk-

3- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok (400 ðkCnkar) % [20]

(1) vesjhdsP;k jkT;?kVusph Bˇd oSfðk"Vs Li"V djk-

(2) fczVuP;k i{kiºrhoj fuca/k f«gk-
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4- FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) baX«aMe/kh« LFkkfud ðkklukph jpuk

(2) vesjhdsrh« okafðkd pˇoˇ

(3) baX«aMe/kh« L=h pˇoˇ

(4) vesjhdsrh« fgrxVkph Hkwfedk

(5) baX«aMe/kh« fgrxVkph dk;Z

(6) vesjhdsrh« fMfLV™DV dksVZ-
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[4701]-2031

(Constitution and Political Process in India)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions (in 50 words each) : [10]

(1) Right to Equality

(2) Judicial Review

(3) National Emergency

(4) The role of Speaker.

2. Answer any four questions (in 100 words each) : [20]

(1) Power and functions of Election Commission

(2) Ideology of BJP

(3) Fundamental Duties

(4) Function of State Election Commission

(5) Types of Minister

(6) Role of Law making process.
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3. Answer any three questions in 200 to 250 words each : [30]

(1) Explain the Directive Principles of State Policy.

(2) Nature and importance of coalition politics.

(3) Explain the features of federal system in India.

(4) Explain the role of Governor.

(5) Write an essay on the one dominant party system in

India.

4. Answer any one question (in 500 words) : [20]

(1) Explain the role and functions of Prime Minister of India.

(2) Explain the salient features of the Indian Constitution.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kR;kgh nksu izðukaph 50 ðkCnkar mŸkjs f«gk % [10]

(1) lerspk gDd

(2) U;k;k«;hu iqufoZ«ksdu

(3) jk"V™h; vk.khck.kh

(4) lHkkirhph Hkwfedk-

2- [kk«h«iSdh dks.kR;kgh pkj izðukaph 100 ðkCnkar mŸkjs f«gk % [20]

(1) fuoM.kwd vk;ksxkph dk;Z o vf/kdkj

(2) BJP ps (Hkk-t-i-) rRoKku

(3) ew«Hkwr drZO;

(4) jkT; fuoM.kwd vk;ksxkps dk;Z

(5) ea´;kaps izdkj

(6) fo/khfu;e fufeZrhph izfÿ;k-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) jkT;kP;k /;s; /kksj.kkph ekxZnðkZd rRos Li"V djk-

(2) vk?kkMh ljdkjps Lo:i vkf.k egRo-

(3) Hkkjrh; la?kjkT;kph oSfðk"Vs Li"V djk-
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(4) jkT;ik«kph Hkwfedk Li"V djk-

(5) HkkjrkP;k ,di{k iºrhoj fuca/k f«gk-

4- [kk«h«iSdh dks.kRkkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) HkkjrkP;k iariz/kkukph dk;Z o vf/kdkj Li"V djk-

(2) Hkkjrh; jkT;?kVusph Bˇd oSfðk"Vs Li"V djk-



[4701]-2031 13 P.T.O.

[4701]-2031

(Political and Social Movement in India)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Narmada Bachao Andolan.

(2) Explain the term “Upliftment of Women”.

(3) Renaissance Movement.

(4) Brahmo Samaj.

2. Attempt any four questions (in 100 words each) : [20]

(1) Peasant movement in Maharashtra.

(2) Mahatma Phule’s view on religion.

(3) Lokmanya Tilak thought about “Swadeshi”.

(4) Discuss the issue and method of the Extremist era.

(5) Write a note on the Satya Shodhak Samaj.

(6) Sub-regionalism in India.
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3. Attempt any three questions (in 200 to 250 words each) : [30]

(1) Discuss the factors responsible for the rise of “Hindu

Politics”.

(2) Discuss on Samyukta Maharashtra Movement.

(3) Evaluate the efforts for Women’s Empowerment.

(4) Describe J. Ranade’s views on Social Reforms.

(5) Shetkari Sanghatana.

4. Attempt any one question in 500 words : [20]

(1) Explain M. Gandhi’s contribution in Indian Freedom Movement.

(2) Explain the role of Shetkari Sanghatana.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kRksgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) ueZnk cpko vkanks«u

(2) efg«kapk mºkj gh ladYiuk Li"V djk

(3) izcks/ku pˇoˇ

(4) cz„ks lekt-

2- [kk«h«iSdh dks.kRksgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(1) egkjk"V™krh« ðksrdjh pˇoˇ

(2) egkRek Qq«s ;kapk /keZfo"k;d n`"Vhdksu

(3) «ksdekU; fVˇdkaph ^Lonsðkh* fo"k;h fopkj

(4) tgk«eroknh dkˇkrh« eqÌs vkf.k iºrhoj ppkZ djk-

(5) lR;ðkks/kd lektkoj fVi f«gk-

(6) Hkkjrkrh« miizknsðkhdokn-

3- [kk«h«iSdh dks.kRksgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) Hkkjrh; fganw jktdkj.kkP;k mn;k«k tckcnkj vl«sY;k ?kVdkaph ppkZ

djk-

(2) la;qDr egkjk"V™kP;k pˇoˇh ppkZ djk-
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(3) efg«k lc«hdj.kkrh« iz;Rukaps ijh{k.k djk-

(4) U;k- jkuMs ;kaP;k lkekthd lq/kkj.kkfo"k;d n`"Vhdksukps o.kZu djk-

(5) ðksrdjh la?kVuk-

4- dks.kRkkgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) Hkkjrh; Lokra´; pˇoˇhrh« e- xka/khthaps ;ksxnku Li"V djk-

(2) ðksrdjh la?kVusP;k Hkwfedsoj ppkZ djk-



P.T.O.

Total No. of Questions—5+4] [Total No. of Printed Pages—7

Seat

No. [4701]-2032

S.Y. B.A. EXAMINATION, 2015

POLITICAL SCIENCE

Special Paper I

(S-1 : Western Political Thought)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any one question of the following : [20]

(a) Explain the Aristotle’s views on Revolution.

(b) Explain J.S. Mill’s concept of Representative Government.

2. Attempt any one question of the following : [20]

(a) Explain Plato’s views on Education.

(b) Explain Locke’s theory of social contract.
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3. Attempt any one question of the following : [20]

(a) Explain the duties of the king suggested by Machiavelli.

(b) Explain Hobbes’ idea about Sovereignty.

4. Attempt any one question of the following : [20]

(a) Explain Rousseau’s theory of social contract.

(b) Examine Marx’s theory of class struggle.

5. Write short notes on any two of the following : [20]

(a) Plato’s concept of Philosopher King

(b) Marx’s views on Revolution

(c) Machiavelli’s views on Religion

(d) J.S. Mill’s views on Liberty.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 100

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok % [20]

(v) vWfjLVkWV«ps ÿkarhfo"k;d fopkj Li"V djk-

(c) ts- ,l- fe«ps izkfrfu/khd ðkkluklaca/khps fopkj Li"V djk-

2- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok % [20]

(v) I«sVkspk fðk{k.kfo"k;d fopkj Li"V djk-

(c) «kWdpk lkekftd djkj flºkar Li"V djk-

3- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok % [20]

(v) eWdWOg«hus lkafxr«s«h jktkph drZO;s Li"V djk-

(c) gkWCtph lkoZHkkSeRokph dYiuk Li"V djk-

4- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok % [20]

(v) :lkspk lkekftd djkj flºkar Li"V djk-

(c) ekDlZP;k oxZla?k"kkZP;k flºkarkps ijh{k.k djk-

5- [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr Vhik f«gk % [20]

(v) I«sVksph rRoK jktkph ladYiuk

(c) ekDlZps ÿkarhfo"k;d fopkj

(d) eWdWOg«hps /keZfo"k;d fopkj

(M) ts- ,l- fe«ps Lokra´;fo"k;d fopkj-
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[4701]-2032

S-1 : Western and Indian Political Thinkers

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) J.S. Mill’s views on Freedom of Action.

(2) Liberalism of M.G. Ranade.

(3) Mahatma Phule’s understanding of British Rule.

(4) John Locke’s views on Civil Society.

2. Attempt any four questions (in 100 words each) : [20]

(1) Karl Marx’s views on Class Struggle.

(2) Mahatma Phule’s views on Women.

(3) Aristotle’s views on Slavery.

(4) Dr. Ambedkar’s critique of caste system.

(5) Locke’s views on Natural Rights.

(6) Mahatma Phule’s Satyashodhak Samaj.
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3. Attempt any three quesitons (in 250 words each) : [30]

(1) Explain John Locke’s theory of Social Contract.

(2) Explain the thoughts of Dr. Ambedkar on Social Democracy.

(3) Explain J.S. Mill’s concept of representative government.

(4) Discuss Ranade’s views about social reforms.

(5) Explain Marxian views on Revolution.

4. Attempt any one question (in 500 words) : [20]

(1) Critically examine the Marxian theory of Historical

Materialism.

(2) Explain Mahatma Gandhi’s thought about Satyagraha.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kRksgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(1) ts- ,l- fe«ps œrh Lokra´;kps fopkj-

(2) U;k- e- xks- jkuMs ;kapk mnkjerokn-

(3) e- Qq«s ;kaph fczVhðk ðkklukcÌ«ph ers-

(4) tkWu «kWdpk ukxjhalektklaca/khpk fopkj-

2- [kk«h«iSdh dks.kRksgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) dk«Z ekDlZpk oxZla?k"kZfo"k;d fopkj-

(2) egkRek Qq«s ;kapk L=hfo"k;d n`"Vhdksu-

(3) vWfjLVkWV«ps xqykefxjhfo"k;d fopkj-

(4) MkW- vkacsMdjkaph tkrh O;oLFksojh« ehekalk-

(5) tkWu «kWdps uSlfxZd gDdfo"k;d fopkj-

(6) egkRek Qq«s ;kapk lR;ðkks/kd lekt-

3- [kk«h«iSdh dks.kRksgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(1) tkWu «kWdpk lkekftd djkj flºkar Li"V djk-

(2) MkW- vkacsMdjkaps lkekftd «ksdðkkgh ckcrps fopkj Li"V djk-
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(3) ts- ,l- fe«ph izkfrfu/khd ðkklukfo"k;hph dYiuk Li"V djk-

(4) U;k- e-xks- jkuMs ;kaP;k lkekftd lq/kkj.kkaph ppkZ djk-

(5) ekDlZps ÿkarhfo"k;d fopkj Li"V djk-

4- [kk«h«iSdh dks.kRkkgh ,d izðu lksMok (500 ðkCnkar) % [20]

(1) dk«Z ekDlZP;k ,sfrgkfld HkkSfrdoknkps VhdkRed ijh{k.k djk-

(2) egkRek xka/khps lR;kxzgfo"k;d fopkj Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-2033

S.Y. B.A. EXAMINATION, 2015

POLITICS

Special Paper II

(Political Sociology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]

(i) What is Political Sociology ?

(ii) Types of political culture.

(iii) What is political socialization ?

(iv) What is Political Ideology ?

(v) Nature of legitimacy.

(vi) What is political development ?

P.T.O.
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2. Attempt any two questions (in 200 words each) : [20]

(i) Contribution of Max Weber in Political Sociology.

(ii) Nature of political influence

(iii) Write the nature of political culture

(iv) Write the agencies of political socialization.

3. Attempt any one question (400 words) :  [20]

(i) Write the nature of political ideology.

(ii) Explain the main elements of political recruitment.

4. Write short notes on any four :  [20]

(i) Political party

(ii) Influence

(iii) Political participation

(iv) Meaning of legitimacy

(v) Political change

(vi) Political development.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) jktdh; lektðkkL= Eg.kts dk; \

(ii) jktdh; laLœrhps izdkj

(iii) jktdh; lkekthdj.k Eg.kts dk; \

(iv) jktdh; fopkjiz.kk«h Eg.kts dk; \

(v) vf/kekU;rsps Lo:i

(vi) jktdh; fodkl Eg.kts dk; \

2. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 200 ðkCnkar) % [20]

(i) jktdh; lektðkkL=kr eWDl oscjps ;ksxnku

(ii) jktdh; izHkkokps Lo:i f«gk

(iii) jktdh; laLœrhps Lo:i f«gk-

(iv) jktdh; lkekthdj.kkps ?kVd f«gk-
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3. [kk«h«iSdh dks.krkgh ,d izðu lksMok (400 ðkCnkar) % [20]

(i) jktdh; fopkjiz.kk«hps Lo:i f«gk-

(ii) jktdh; Hkjrhps izeq[k ?kVd f«gk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(i) jktdh; i{k

(ii) izHkko

(iii) jktdh; lgHkkx

(iv) vf/kekU;rspk vFkZ

(v) jktdh; cn«

(vi) jktdh; fodkl-
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[4701]-2033

(Modern Political Analysis)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two of the following questions (in 50 words each) : [10]

(i) Limitations on traditional political analysis.

(ii) Limitations of behaviourism.

(iii) What is public opinion ?

(iv) What is political culture ?

2. Attempt any four of the following questions (in 100 words each) : [20]

(i) Importance of political recruitment.

(ii) Types of political communication.

(iii) What are the causes of political change ?

(iv) Aims of survey method.

(v) Features of behaviourism

(vi) Limitations of field study.
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3. Attempt any three questions (in 250 words each) :  [30]

(i) Explain the types of political culture.

(ii) Explain the agencies of political socialization.

(iii) Discuss the various levels of political participation.

(iv) Discuss making of the public opinion agencies.

(v) Explain the concept of modernization.

4. Attempt any one of the following (in 500 words) :  [20]

(i) Explain the influencing factors of political culture.

(ii) Explain recruitment process and agencies.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) ikjaikjhd jktdh; foð«s"k.kkojh« e;kZnk Li"V djk-

(ii) orZuoknkojh« e;kZnk Li"V djk-

(iii) «ksder Eg.kts dk; \

(iv) jktdh; laLœrhpk vFkZ-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) jktdh; Hkjrhps egRo lkaxk-

(ii) jktdh; lalwpukps izdkj f«gk-

(iii) jktdh; cn«kph dkj.ks dks.krh \

(iv) losZ{k.k iºrhph mfÌ"VÓs-

(v) orZuoknkph oSfðk"VÓs-

(vi) {ksf=; vH;klkojh« e;kZnkph ppkZ djk-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) %  [30]

(i) jktdh; laLœrhps izdkj Li"V djk-

(ii) jktdh; lkekftdj.kkph lk/kus Li"V djk-

(iii) jktdh; lgHkkxkP;k fofo/k ikrˇÓkph ppkZ djk-
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(iv) «ksder ?kMfo.kkÚ;k lk/kukaph ppkZ djk-

(v) vk/kqfudhdj.kkph ladYiuk Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkar) %  [20]

(i) jktdh; laLœrhoj izHkko ikM.kkjs ?kVd Li"V djk-

(ii) Hkjrhph izÿh;k Li"V d:u Hkjrhph lk/kus Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2034

S.Y. B.A. EXAMINATION, 2015

HISTORY

General Paper II

[Modern India (1857-1950)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept of Nationalism.

(2) State the principles of Brahmo Samaj.

(3) State the causes of the partition of Bengal 1905.

(4) Write a note on Salt Satyagraha.

(5) Tell the Recommendations of Strichi Commission about famine.

(6) State the objectives of the Muslim League.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Enumerate the factors responsible for the out-break of the

rising of 1857.

(2) Give an account of the Quit India Movement.

(3) Review briefly the Cripps Proposal.

(4) Evaluate the role of Sardar Vallabhabhai Patel in the integration

of the princely states with the Indian Union.

3. Answer the following question in 400 words (any one) : [20]

(1) Explain the contribution of Revolutionaries in Indian Freedom

Movement.

(2) Write a review on Dalit Movement in India.

4. Write short notes on (any four) :  [20]

(1) Explain the concept of Home Rule.

(2) State the principle of Satyashodhak Samaj.

(3) Write a note on Dadabhai Naoroji’s ‘Brain-Drain Theory’.
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(4) Why did Gandhiji suspend the Non-cooperation Movement ?

(5) Narayan Meghaji Lokhande and workers movement.

(6) Importance of Vande Mataram Movement in Hyderabad

princely state.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðu if=dk igkoh-

1. [kk«h« izðukaph mŸkjs 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) jk"V™okn ladYiuk Li"V djk-

(2) czkEgks lektkph rRos lkaxk-

(3) 1905 P;k caxk«P;k Qkˇ.khps dkj.ks lkaxk-

(4) ehBkpk lR;kxzgkfo"k;h ekfgrh f«gk-

(5) fLV™ph vk;ksxkP;k nq"dkˇkckcr fðkQkjðkh lkaxk-

(6) eqL«he&«hxph mÌh"Vs lkaxk-
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2. [kk«h« izðukaph 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) lu 1857P;k mBkokph dkj.ks Li"V djk-

(2) NksMks Hkkjr pˇoˇhpk o`Ÿkkar |k-

(3) fÿIl ;kstuspk FkksMD;kr vk<kok ?;k-

(4) Hkkjrh; la?kjkT;kr laLFkkukps fo«huhdj.k dj.;klkBh ljnkj oY«HkHkkbZ iVs«

;kauh fn«sY;k ;ksxnkukps eqY;ekiu djk-

3. [kk«h« izðukaph 400 ðkCnkar mŸkj f«gk (dks.krkgh ,d) %  [20]

(1) Hkkjrh; Lokra´; pˇoˇhrh« ÿkafrdkjdkaps ;ksxnku Li"V djk-

(2) Hkkjrkrh« nf«r pˇoˇhpk o`Ÿkkar |k-

4. laf{kIr fVIkk f«gk (dks.kR;kgh pkj) %  [20]

(1) gkse:« ladYiuk Li"V djk-

(2) lR;ðkks/kd lektkph rRos lkaxk-

(3) nknkHkkbZ ukSjksthaP;k vkfFkZd fuLlkj.k flºkarkoj fVi.k f«gk-

(4) egkRek xka/khthuh vlgdkj pˇoˇ dk ekxs ?ksr«h \

(5) ukjk;.k es?kkth «ks[kaMs vkf.k dkexkj pˇoˇ

(6) gSÊkckn laLFkkukrh« oansekrje~ pˇoˇhps egŸo-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-2035

S.Y. B.A. EXAMINATION, 2015

HISTORY

Special Paper I

[Ancient India (3000 B.C to 1206 AD)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the importance of ‘Foreign Accounts’ as a source for

study of Ancient Indian History.

(2) Explain the concept of ‘Pre-history’.

(3) Explain : ‘Stupa, Chaitya and Vihar.’

(4) Discuss causes of decline of the Mauryas.

(5) Explain the importance of art and architecture of the Pallavas.

(6) Review in brief the cultural contribution of the Rashtrakutas.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the scope and features of the Harappan civilization.

(2) Review of administrative system of the Mauryas.

(3) Examine the cultural contribution of the Satavahanas.

(4) Evaluate the achievements of Harshavardhan.

3. Answer any one of the following questions in 400 words : [20]

(1) Discuss the Buddhist Philosophy in detail.

(2) Examine socio-religious life during the Imperial Guptas.

4. Write short notes on (any four) :  [20]

(1) Epigraphical sources

(2) Charvak

(3) Kalinga War

(4) Sangam Age

(5) Pulkeshi-II

(6) Administration of the Cholas.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. iq<h« izðukaph mŸkjs 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) izkphu HkkjrkP;k bfrgklkP;k vH;klkps lk/ku Eg.kwu ijdh; izokl o.kZu ;kaps

egRo Li"V djk-

(2) ^bfrgkliwoZ* gh ladYiuk Li"V djk-

(3) ^Lrqi] pSR; vkf.k fogkj*µLi"V djk-

(4) ekS;k±P;k ÚgklkP;k dkj.kkaph ppkZ djk-

(5) iY«okaP;k d«k o LFkkiR; ;kaps egRo Li"V djk-

(6) jk"V™dwVkaP;k lkaLœfrd ;ksxnkukpk FkksMD;kr vk<kok ?;k-

2. iq<h« izðukaph mŸkjs 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) fla/kw laLœfrph O;kIrh vkf.k oSfðk"VÓs Li"V djk-

(2) ekS;k±P;k izðkkldh; O;oLFkspk vk<kok ?;k-

(3) lkrokgukaP;k lkaLœfrd ;ksxnkukps ifj{k.k djk-

(4) g"kZo/kZukP;k dkefxjhps ewY;ekiu djk-
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3. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(1) ckSº rRoKkukph lfoLrj ppkZ djk-

(2) xqIrdk«hu lkekftd&/kkfeZd ftoukps ifj{k.k djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) vk«s[k

(2) pkokZd

(3) df«axps ;qº

(4) laxe ;qx

(5) nwljk iq«dsðkh

(6) pks« izðkklu-
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[4701]-2035

[Diplomatic History of Marathas (1707 to 1818)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept of ‘Baluta’.

(2) Explain the concept of ‘Brahmasabha’.

(3) Discuss in brief the Maratha-Nizam relations.

(4) Examine the relations between Peshwa Bajirao-II and Yashwantrao

Holkar.

(5) Explain the importance of the Treaty of Bassain.

(6) Review Judicial Administration of the Marathas.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Discuss the internal relations between Senapati Dabhade and

the Peshwas.
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(2) Evaluate the achievements of Peshwa Madhavrao-I

(3) Explain the causes of decline of Maratha power.

(4) Discuss the central administration of Marathas.

3. Answer any one of the following questions in 400 words : [20]

(1) Discuss various sources for study of the history of the Marathas

in detail.

(2) Examine the causes and consequences of the Battle of

Panipat.

4. Write short notes on (any four) :  [20]

(1) Gotsabha

(2) Peshwa Bajirao-I

(3) Barbhai Council

(4) Mahadji Shinde

(5) Peshwa Raghunathrao

(6) Local Administration of the Marathas.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ bafX«ðk izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) ^c«qrk* gh ladYiuk Li"V djk-

(2) cz„lHkk gh ladYiuk Li"V djk-

(3) ejkBk&futke laca/kkph ppkZ djk-

(4) isðkok nqljk ckthjko vkf.k ;ðkoarjko gkš dj ;kaP;k laca/kkps ifj{k.k djk-

(5) clbZP;k rgkps egRo Li"V djk-

(6) ejkBÓkP;k U;k;fo"k;d izðkklukpk vk<kok ?;k-

2. [kk«h« izðukaph mŸkjs 200 ðkCnkar f«gk (dks.kR;kgh nksuoj) % [20]

(1) lsukirh nkHkkMs vkf.k isðkos ;kaP;krh« varxZr laca/kkph ppkZ djk-

(2) isðkok ifg«k ek/kojko ;kaP;k dkefxjhps ewY;ekiu djk-

(3) ejkBh lŸksP;k Úgklkph dkj.ks Li"V djk-

(4) ejkBÓkP;k dsaÊh; izðkklukph ppkZ djk-
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3. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 400 ðkCnkar f«gk %  [20]

(1) ejkBk bfrgklkP;k vH;klkP;k fofo/k lk/kukph lfoLrj ppkZ djk-

(2) ikfuirP;k «<kbZph dkj.ks vkf.k ifj.kke ;kaps ifj{k.k djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) xksrlHkk

(2) Fkksj«s ckthjko isðkos

(3) ckjHkkbZ eaMˇ

(4) egknth fðkans

(5) j?kqukFkjko isðkos

(6) ejkBÓkaps LFkkfud izðkklu-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-2036

S.Y. B.A. EXAMINATION, 2015

HISTORY

Special Paper II

[History of Modern Maharashtra (1818 to 1960)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept of ‘Drain of Wealth’.

(2) Discuss economic thoughts of Mahadev Govind Ranade.

(3) Review in short the contribution of Maharshi Dhondo Keshav

Karve to education of women.

(4) Account for the ‘Bhills Uprising’ in short.

P.T.O.
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(5) Explain the importance of the ‘Non-Brahmin Movement’.

(6) Explain the view of Dr. Babasaheb Ambedkar on states

reorganization on the basis of language.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Discuss philosophy of ‘Satyashodhak Samaj’.

(2) Review the contribution of Maharshi Vitthal Ramji Shinde to

the socio-religious reform movements.

(3) Explain the causes of the ‘Deccan Riots’ in 1875.

(4) Critically examine the development of Dalit movement in modern

Maharashtra.

3. Answer any one of the following questions in 400 words : [20]

(1) Review the contribution of Lokhitwadi to socio-religious reform

movements.

(2) Discuss the contribution of Karmaveer Bhaurao Patil in

detail.
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4. Write short notes on (any four) :  [20]

(1) Renaissance

(2) Capitalism

(3) Balshastree Jambhekar

(4) Uprising of the Kolis

(5) Rango Bapuji

(6) Razakar.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. iq<h« izðukaph mŸkjs 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) ^vkfFkZd fu%lkj.kk*ph ladYiuk Li"V djk-

(2) egknso xksfoan jkuMs ;kaP;k vkfFkZd fopkjkaph ppkZ djk-

(3) egf"kZ /kksaMks dsðko dosZ ;kaP;k ^L=h* fðk{k.kkrh« ;ksxnkukph ppkZ djk-

(4) fHkY«kaP;k mBkokpk FkksMD;kr o`rkar |k-

(5) czk„.ksrj pˇoˇhps egRo Li"V djk-

(6) Hkk"kkokj izkarjpusfo"k;h MkW- ckcklkgsc vkacsMdj ;kapk n`"Vhdksu Li"V djk-
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2. [kk«h« izðukaph mŸkjs 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) ^lR;ðkks/kd* lektkP;k rRoKkukph ppkZ djk-

(2) lkekftd&/kkfeZd lq/kkj.kk pˇoˇhrh« egf"kZ foß« jketh fðkans ;kaP;k ;ksxnkukpk

vk<kok ?;k-

(3) b-l- 1875P;k n[[ku naX;kaph dkj.ks Li"V djk-

(4) vk/kqfud egkjk"V™krh« nf«r pˇoˇhP;k okVpkˇhps fVdkRed ifj{k.k djk-

3. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(1) «ksdfgroknh ;kaP;k lkekftd&/kkfeZd lq/kkj.kkoknh pˇoˇhrh« ;ksxnkukpk vk<kok

?;k-

(2) deZohj Hkk≈jko ikfV« ;kaP;k dk;kZph lfoLrj ppkZ djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) iqu#Tthou pˇoˇ

(2) HkkaMo«ðkkgh

(3) ckˇðkkL=h tkaHksdj

(4) dkš Ókapk mBko

(5) jaxks ckiwth

(6) j>kdkj-
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[4701]-2036

[Medieval India (1206 to 1707)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the concept of ‘Hundi’.

(2) Explain the concept of ‘Iqta’.

(3) Discuss in brief the concept of ‘Khalifa’.

(4) Review the water management for the capital city of Vijaynagar.

(5) Explain the religious policy of Akbar.

(6) Discuss the relations between Shah Jahan and Shahaji Raje.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Evaluate the impact of Sufism on the socio-religious life during

the Delhi Sultanate.

(2) Discuss the contribution of Mehmud Gawan to the administrative

development of the Bahamani kingdom.
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(3) Discuss the land revenue system of the Mughals.

(4) Evaluate development of trade and industry during the Mughal

period.

3. Answer any one of the following questions in 400 words : [20]

(1) Evaluate the various experiments of Mohammad-bin-Tughluq.

(2) Discuss the Mughal-Rajput relations in detail.

4. Write short notes on (any four) :  [20]

(1) Shahana-i-Mandi

(2) Raziya Sultan

(3) The First Battle of Panipat

(4) Reforms of Sher Shah

(5) Cultural life during the Mughals.

(6) Relations between the Mughal and Adilshahi.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ bafX«ðk izðuif=dk igkoh-
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1. [kk«h« izðukaph mŸkjs 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) ^gqaMh* gh ladYiuk Li"V djk-

(2) ^bDrk* gh ladYiuk Li"V djk-

(3) ^[kf«Qk* ;k ladYiusph FkksMD;kr ppkZ djk-

(4) fot;uxj ;k jkt/kkuhP;k ðkgjkP;k t«O;oLFkkiukpk vk<kok ?;k-

(5) vdcjkps /kkfeZd /kksj.k Li"V djk-

(6) ðkgktgku vkf.k ðkkgkth jkts ;kaP;krh« laca/kkph ppkZ djk-

2. [kk«h« izðukaph mŸkjs 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) fnY«h lq«rkudk«hu lkekftd&/kkfeZd ftoukojh« lwQhoknkP;k izHkkokps ewY;ekiu

djk-

(2) esgewn xokuP;k cgkeuh lkezkT;kP;k izðkkldh; fodklkrh« ;ksxnkukph ppkZ

djk-

(3) eq?k«dk«hu tehu eglw« iºrhph ppkZ djk-

(4) eq?k«dk«hu O;kikj vkf.k m|ksxkrh« izxrhps ewY;ekiu djk-

3. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(1) eksgEen&fcu&rq?k«d ;kaP;k fofo/k iz;ksxkps ewY;ekiu djk-

(2) eq?k«&jktiwr laca/kkaph lfoLrj ppkZ djk-
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4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) ðkguk&b&eaMh

(2) jf>;k lq«rku

(3) ikfuirph ifg«h «<kbZ

(4) ðksjðkkgk lq/kkj.kk

(5) eq?k«dk«hu lkaLœfrd ftou

(6) eq?k« vkf.k vkfn«ðkkgh ;kaP;krh« laca/k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2037

S.Y. B.A. EXAMINATION, 2015

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper II

[Outline of Political, Social and Economic Institutions of

Ancient India (600 B.C. to 1200 A.D.)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Write in brief the ‘Saptang Theory’ of the State.

(ii) State the theory of kingship of the Mauryas.

(iii) Write in brief the functions of ‘Sabha’.

(iv) Describe the Ashrama system in ancient times.

(v) Take a review of the life of women in Vedic period.

(vi) State the importance of ancient Indo-Roman trade.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(i) State the archaeological sources of Ancient Indian Institutions.

(ii) Explain the structure of Ministry described in Shukraniti.

(iii) Discuss the Varna
&

 system in ancient times.

(iv) Explain the phases of development in Ancient Indian Coinage.

3. Answer the following questions in 400 words each (any one) :

[20]

(i) Discuss the salient features of Ancient Indian Republics.

(ii) What is sacrament ? State the main sacraments in Ancient

India.

4. Write short notes on (any four) : [20]

(i) Functions of Samiti

(ii) Types of Ancient Indian Courts

(iii) Agrahara

(iv) Ancient Agriculture

(v)

Sarthavaha

(vi) Ancient Weights.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« iz'ukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) jkT;kpk lIrkax flºkar FkksMD;kr f«gk-

(ii) ekS;Z jktin flºkar lkaxk-

(iii) lHksph dk;Z FkksMD;kr f«gk-

(iv) izkphu dkˇkrh« vkJeO;oLFkk o.kZu djk-

(v) osndk«hu L=hthoukpk vk<kok ?;k-

(vi) izkphu Hkkjr o jkse O;kikjkps egRo lkaxk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) izkphu Hkkjrh; laLFkkaP;k vH;klkph iqjkrŸoh; lk/kus lkaxk-

(ii) 'kqÿuhfrr lkafxr«s«h ea=heaMˇkph jpuk Li"V djk-

(iii) izkphu dkˇkrh« o.kZO;oLFksfo"k;h ppkZ djk-

(iv) izkphu Hkkjrkrh« ukO;kaP;k fodklkps VIis Li"V djk-

3. [kk«h« iz'ukaph mŸkjs izR;sdh 400 'kCnkar f«gk (dks.kR;kgh ,d) % [20]

(i) izkphu Hkkjrh; x.kjkT;kaP;k Bˇd oSf'k"VÓkaph ppkZ djk-

(ii) laLdkj Eg.kts dk; \ gs lkaxwu izkphu Hkkjrkrh« egRokps laLdkj lkaxk-
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4. laf{kIr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) lferhph dk;sZ

(ii) izkphu U;k;k«;kaps izdkj

(iii) vxzgkj

(iv) izkphu 'ksrh

(v) lkFkZokg

(vi) izkphu otus-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2038

S.Y. B.A. EXAMINATION, 2015

ANTHROPOLOGY

(G-II : Indian Tribes and Tribal Development)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]

(i) Explain the tribal movements before Independence.

(ii) Explain the causes of tribal movements in India.

(iii) Write about the field work tradition in Anthropology.

(iv) Write the cultural classification of Indian Tribes.

(v) State the concept of ‘Tribal Development’.

(vi) What is Ethnography ?

P.T.O.
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2. Answer any two of the following in 200 words each : [20]

(i) Explain the various types of interviews.

(ii) Explain the functions of Youth Dormitories.

(iii) What are the tribal problems in India ?

(iv) Describe the various approaches of Tribal Development.

3. Answer any one of the following in 400 words :  [20]

(i) Explain the difference between caste and tribe.

(ii) Evaluate the policy of protective discrimination for scheduled

tribes.

4. Write short notes on any four of the following :  [20]

(i) Integrated Tribal Development Programme.

(ii) Participation of tribes in freedom movement

(iii) Report writing

(iv) Ghotul

(v) Scheduled tribes

(vi) School drop-outs.
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(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(i) Lokra´;iwoZ dkˇkrh« vkfnoklh pˇoˇh Li"V djk-

(ii) Hkkjrkrh« vkfnoklh pˇoˇhaph dkj.ks Li"V djk-

(iii) ekuoðkkL=krh« {ks= vH;klkph ijaijk f«gk-

(iv) Hkkjrh; vkfnoklhaps lkaLœrhd oxhZdj.k f«gk-

(v) vkfnoklh fodklkph ladYiuk lkaxk-

(vi) «ksdlewg foKku Eg.kts dk; \

2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 200 ðkCnkai;±r f«gk % [20]

(i) eq«k[krhps fofo/k izdkj Li"V djk-

(ii) ;qokx`gkph dk;sZ foðkn djk-

(iii) Hkkjrh; vkfnoklhaP;k leL;k dks.kR;k vkgsr \

(iv) vkfnoklh fodklkps fofo/k n`"Vhdksu Li"V djk-
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3. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 400 ðkCnkai;±r f«gk %  [20]

(i) tkr o tekr ;krh« Qjd lkaxk-

(ii) vuqlwfpr tekrhlkBh vl«s«s laj{k.kkRed i{kikr /kksj.kkps eqY;ekiu djk-

4. [kk«h«iSdh dks.kR;kgh pkjoj FkksMD;kr fVik f«gk %  [20]

(i) ,dkRehd vkfnoklh fodkl dk;Zÿe (I.T.D.P.)

(ii) vkfnoklhapk Lokra´; «<Ókrh« lgHkkx

(iii) vgok« «s[ku

(iv) xksVw«

(v) vuqlwfpr tekrh

(vi) ðkk«s; xˇrh-



Total No. of Questions—4+4] [Total No. of Printed Pages—8+3

Seat

No. [4701]-2039

S.Y. B.A. EXAMINATION, 2015

GEOGRAPHY-G2

(Gg-210 : Elements of Climatology and Oceanography)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in 20 words each (any ten) : [20]

(1) Define the term climatology in brief.

(2) What is Albedo ?

(3) What is inversion of temperature ?

P.T.O.
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(4) Give two names of local winds.

(5) What is relative humidity ?

(6) Give two effects of ocean current.

(7) Define cyclones and anticyclones.

(8) Give two causes of global warming.

(9) What is oceanography ?

(10) Name any two forms of precipitation.

(11) Give any two resources available in the ocean.

(12) What is Tsunamis ?

(13) Give two factors responsible for ocean salinity.

(14) Name any four gases present in the atmosphere.

(15) Give any two hot currents.

2. Answer in 50 words each (any two) : [10]

(1) Properties of Troposphere.
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(2) Mountain and Valley winds.

(3) Importance of continental shelf.

(4) Density of ocean water.

3. Answer in 150 words each (any two) :  [20]

(1) Explain in detail the characteristics of sea waves.

(2) Describe the heat budget of the earth.

(3) Explain the concept of El-Nino and La-Nina.

(4) Give the causes of ocean currents.

4. Answer in 300 words each (any two) :  [30]

(1) Give an account of composition and structure of

atmosphere.

(2) Explain in detail the types of clouds with a diagram.

(3) Describe the general idea of ocean relief and explain the relief

of Atlantic ocean.

(4) Give causes and types of ocean currents.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<kO;kr-

(iv) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) gokekuðkkL=kph FkksMD;kr O;k[;k |k-

(2) Hkw&/ko«rk Eg.kts dk; \

(3) rkiekukph foifjrrk Eg.kts dk; \

(4) LFkkfud okÚ;kaph nksu ukos f«gk-

(5) lkis{k vkÊZrk Eg.kts dk; \

(6) leqÊizokgkaps nksu ifj.kke f«gk-

(7) vkorZ vkf.k izR;korZ Eg.kts dk; \

(8) tkxfrd rkiekuok<hph dks.krhgh nksu dkj.ks |k-

(9) lkxjðkkL= Eg.kts dk; \

(10) ò"Vhph dks.krhgh nksu :is lkaxk-



[4701]-2039 5 P.T.O.

(11) egklkxjke/;s vk<ˇ.kkÚ;k lk/kulaiŸkhph nksu ukos f«gk-

(12) Rlqukeh Eg.kts dk; \

(13) lkxjt«kP;k {kkjrsoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd lkaxk-

(14) okrkoj.kkr vl.kkÚ;k dks.kR;kgh pkj ok;waph ukos f«gk-

(15) dks.krsgh nksu m".k leqÊ izokg f«gk-

2. [kk«h«iSdh izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.kR;kgh nksu) % [10]

(1) rikacjkph xq.koSfðk"VÓs

(2) Mksaxjh o njhrh« okjs

(3) Hkw[kaMeapkps egŸo

(4) lkxjt«kph ?kurk-

3. [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) lkxjh «kVkaph xq.koSfðk"VÓs lkaxk-

(2) ^Hkw&vkSf".kd larq«u* o.kZu djk-

(3) ,«&fuuks vkf.k «k&fuuk ladYiuk Li"V djk-

(4) leqÊizokgkaph dkj.ks lkaxk-
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4. [kk«h« izðukaph izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [30]

(1) okrkoj.kkph ?kVuk vkf.k lajpuk foðkn djk-

(2) <xkaps fofo/k izdkj vkœrhlg Li"V djk-

(3) lkxj rˇjpusps o.kZu d:u vV«kafVd egklkxjkph rˇjpuk Li"V djk-

(4) lkxjh izokgkaph O;k[;k ns≈u dkj.ks o izdkj lfoLrj foðkn djk-
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[4701]-2039

[Gg-210 : Geography of Disaster Management (G2)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Define the disaster management.

(2) State any two objectives of disaster management.

(3) What is Rehabilitation ?

(4) Write two effects of flood.

(5) What is cyclone ?

(6) State any two measures of flood management.

(7) What is Landslide ?

(8) What is Tsunami ?
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(9) Give any two effects of Tsunami.

(10) Define the forest fire.

(11) Give any two examples of non-exhaustable resources.

(12) What is depletion of ozone ?

(13) Give two examples of biological disaster.

(14) In which country Fukushima nuclear disaster occurred ?

(15) What is drought ?

2. Answer in about 50 words each (any two) : [10]

(1) Relation between geographical condition and disaster.

(2) Write the role of media in disaster management.

(3) Effects of acid rain.

(4) Effects of hail storms on agriculture in Maharashtra.

3. Answer in about 150 words each (any two) : [20]

(1) Describe pre-disaster management

(2) Explain causes and effects of drought.

(3) Explain effects of earthquake.

(4) Elaborate the impacts of global warming.
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4. Answer in about 300 words each (any two) : [30]

(1) Define disaster and explain classification of disaster in

detail.

(2) Describe standard operating procedure of disaster management

at Government level.

(3) What is deforestation ? Explain causes and effect of deforestation.

(4) Write an account of Kedarnath Cloud Burst-2013 in detail.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh lqekjs 20 ðkCnkai;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) vkiŸkh O;oLFkkiukph O;k[;k f«gk-

(2) vkiŸkh O;oLFkkiukph nksu mfÌ"VÓs lkaxk-
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(3) iquoZlu Eg.kts dk; \

(4) iqjkps nksu ifj.kke f«gk-

(5) vkorZ Eg.kts dk; \

(6) iwj O;oLFkkiukps nksu mik; lkaxk-

(7) Hkwehikr Eg.kts dk; \

(8) Rlqukeh Eg.kts dk; \

(9) Rlqukehps nksu ifj.kke |k-

(10) ouvkxhph O;k[;k |k-

(11) vfoukðkh lk/kulaiŸkhph dks.krhgh nksu mnkgj.ks |k-

(12) vks>ksu {k; Eg.kts dk; \

(13) tSfod vkiŸkhph nksu mnkgj.ks |k-

(14) Qqdqfðkek vkf.od vkiŸkh dks.kR;k nsðkkr ?kM«h \

(15) vko"kZ.k Eg.kts dk; \

2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) HkkSxksf«d ifjfLFkrh vkf.k vkiŸkhpk laca/k-

(2) vkiŸkh O;oLFkkiukrh« izlkj ek/;ekph Hkwehdk

(3) vkE« itZU;kps ifj.kke-

(4) xkjihVhpk egkjk"V™krh« ðksrhojh« ifj.kke-
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3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) vkiŸkhiwoZ O;oLFkkiukps o.kZu djk-

(2) vo"kZ.kkph dkj.ks o ifj.kke Li"V djk-

(3) Hkwdaikps ifj.kke Li"V djk-

(4) tkxrhd rkieku ok<hps ifj.kke foðkn djk-

4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [30]

(1) vkiŸkhph O;k[;k lkaxwu vkiŸkhps oxhZdj.k lfoLrj Li"V djk-

(2) ðkkluLrjkojh« vkiŸkh O;oLFkkiukph izekf.kr dk;Ziºrhps lfoLrj o.kZu djk-

(3) fuoZuhdj.k Eg.kts dk; \ fuoZuhdj.kkph dkj.ks o ifj.kke Li"V djk-

(4) dsnkjukFk <xQqVh] 2013 P;k ?kVuspk o`Ÿkkar lfoLrj f«gk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8+3

Seat

No. [4701]-2040

S.Y. B.A. EXAMINATION, 2015

GEOGRAPHY

[G9-220 : Economic Geography (S-1)]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Define economic activity.

(2) What is meant by metallic minerals ?

(3) Write the secondary economic activities.

(4) What is meant by natural resources ?

P.T.O.
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(5) Write definition of Hydel Power (Hydroelectricity).

(6) What is meant by wind energy ?

(7) Write any two factors affecting on industrial location.

(8) Write any two factors affecting on agriculture.

(9) What is meant by shifting agriculture ?

(10) Write wheat producing region of India.

(11) What is meant by ‘OPEC’ ?

(12) What is meant by Green Revolution ?

(13) Write any two positive effects of globalisation.

(14) Write the types of coal.

(15) Write the types of Railway Gauge.

2. Answer in 50 words each (any two) : [10]

(1) Explain the concept of ‘liberalisation.’

(2) Write a note on paper industries.

(3) Non-conventional energy resources.

(4) Explain the concept of ‘developed countries’.
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3. Answer in 150 words each (any two) :  [20]

(1) Explain Ricardian theory.

(2) Write distribution of cotton textile industries in short.

(3) Write coal distribution in short.

(4) Explain the importance of natural resources.

4. Answer in 300 words each (any two) :  [30]

(1) Explain in detail Iron Ore Distribution in India.

(2) Write the importance of agriculture and write commercial grain

farming in detail.

(3) Write the impact of economic activities on environment.

(4) Explain post-independence economic development in detail.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k--
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1. izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) vkfFkZd O;olk; O;k[;k lkaxk-

(2) /kkrw[kfut Eg.kts dk; \

(3) f}fr; Js.khps vkfFkZd O;olk; dks.krs rs lkaxk-

(4) uSlfxZd lk/kulaiŸkh Eg.kts dk; \

(5) t«fo|qr ðkDrhµO;k[;k f«gk-

(6) iou mtkZ Eg.kts dk; \

(7) m|ksx/kanÓkP;k LFkkfudhdj.kkoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd f«gk-

(8) ðksrh O;olk;koj ifj.kke dj.kkjs dks.krsgh nksu izkœfrd ?kVd lkaxk-

(9) LFk«karfjr ðksrh Eg.kts dk; \

(10) Hkkjrkrh« xgw mRiknd iznsðk lkaxk-

(11) ‘OPEC’ Eg.kts dk; \

(12) gfjrÿkarh Eg.kts dk; \

(13) tkxfrdhdj.kkps nksu Qk;ns f«gk-

(14) dkš ðkkps izdkj f«gk-

(15) «ksgekxkZps xstuqlkj izdkj f«gk-
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2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^mnkjhdj.k* laKk Li"V djk-

(2) isij (dkxn) m|ksx fVi f«gk-

(3) viquuZohdj.kh; mtkZ

(4) ^fodluðkh« nsðk* laKk Li"V djk-

3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) fjdkMksZpk flºkar Li"V djk-

(2) dkiM m|ksxkps forj.k FkksMD;kr f«gk-

(3) dksˇðkkps forj.k FkksMD;kr f«gk-

(4) uSlfxZd lk/kulaiŸkhps egRo Li"V djk-

4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [30]

(1) Hkkjrkrh« «ksg[kfutkps forj.k lfoLrj Li"V djk-

(2) ðksrhps egRo lkaxwu O;kikjh /kkU;ðksrh lfoLrj f«gk-

(3) vkfFkZd ?kMkeksMhpk i;kZoj.kkojh« ifj.kke lfoLrj Li"V djk-

(4) Hkkjrkpk Lokra´;ksŸkj dkˇkrh« vkfFkZd fodkl lfoLrj Li"V djk-



[4701]-2040 6

[4701]-2040

[Gg 220 : Tourism Geography]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) : [20]

(1) Define tourism.

(2) What is interdisciplinary nature of tourism ?

(3) What is meant by Agro-tourism ?

(4) State any two landforms affected on tourism.

(5) Sardar Sarovar dam is constructed on which river ?

(6) Write any two names of Indian Sanctuaries.
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(7) Write any two names of religious centres in India.

(8) State four roles of tourist guide.

(9) What is Motel ?

(10) State any two social effects of tourism.

(11) Write long form of ITDC.

(12) State any two impacts of tourism on environment.

(13) Write any two impacts of tourism on health.

(14) Write any two characteristics of Konark Sun Temple.

(15) State any two names of tourist agencies.

2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Local tourism

(2) Warli painting

(3) Rail Yatri Bhavan

(4) Diveagar Tourist Centre.
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3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Explain the importance of tourism.

(2) Explain the relationship between climate and tourism

development.

(3) State the role of road transportation in tourism

development.

(4) Explain the natural factors in tourism potential

assessment.

4. Answer the following questions in about 300 words each

(any two) :  [30]

(1) Explain the tourism types as per based on purposes.

(2) Explain the religious and historical factors in tourism

potential assessment.

(3) Explain extensively types of tourist accommodation.

(4) Write about Vaishno Devi and Shegaon religious tourist cen-

tres.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks vkœR;k o vkjk[kMs dk<k-

(iv) udkðkk LVsfUl« okij.kkl ijokuxh vkgs-

1. [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) i;ZVukph O;k[;k f«gk-

(2) i;ZVukps vkarjfo|kðkk[kh; Lo:i Eg.kts dk; \

(3) œ"kh&i;ZVu Eg.kts dk; \

(4) i;ZVukoj ifj.kke dj.kkjh nksu Hkw:is lkaxk-

(5) ljnkj ljksoj izdYi dks.kR;k unhoj vkgs-

(6) Hkkjrkrh« nksu vHk;kj.;kaph ukos f«gk-

(7) Hkkjrkrh« dks.kR;kgh nksu /kkfeZd i;ZVu dsaÊkph ukos f«gk-

(8) ekxZnðkZdkP;k pkj Hkwfedk lkaxk-

(9) eksVs« Eg.kts dk; \
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(10) i;ZVukps nksu lkekftd ifj.kke lkaxk-

(11) ITDC ps iw.kZ:i f«gk-

(12) i;ZVukps i;kZoj.kkojh« dks.krsgh nksu ifj.kke lkaxk-

(13) i;ZVukps vkjksX;kojh« nksu ifj.kke f«gk-

(14) dks.kkdZ lw;Zeafnjkph dks.krhgh nksu oSfðk"VÓs f«gk-

(15) dks.kR;kgh nksu i;ZVd la?kVukaph ukos f«gk-

2. [kk«h« izðukaph izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.kR;kgh nksu) % [10]

(1) LFkkfud i;ZVu

(2) okjˇh fp=d«k

(3) js« ;k=h Hkou

(4) fnosvkxkj i;ZVu dsaÊ-

3. [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) i;ZVukps egŸo Li"V djk-

(2) gokeku o i;ZVu fodkl ;kapk lglaca/k Li"V djk-

(3) i;ZVu fodklkrh« jLrs okgrqdhph Hkwfedk lkaxk-

(4) i;ZVu {kerk ewY;ekiukrh« uSlfxZd ?kVd Li"V djk-
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4. [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) i;ZVukps mn~nsðkkuqlkj izdkj Li"V djk-

(2) i;ZVu {kerk ewY;ekiukrh« /kkfeZd o ,sfrgkfld ?kVd Li"V djk-

(3) i;ZVd fuokl izdkj lfoLrj Li"V djk-

(4) oS".kksnsoh o ðksxkao ;k /kkfeZd i;ZVu LFkˇkafo"k;h ekfgrh f«gk-



Total No. of Questions—7+7+7] [Total No. of Printed Pages—4+2

Seat

No. [4701]-2041

S.Y. B.A. EXAMINATION, 2015

MUSIC

(;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;k rhuiSdh rqeP;k

vH;klÿekph iz'uif=dk lksMok)

laxhr lkekU;Lrj (th&2)

(2013 PATTERN)

jkx laxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vkoð;d vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« cafn'khps@NksV~;k [;k«kps (e/;«; vFkok

Êqr «; [;k«) Loj«s[ku djk-

2. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph lfoLrj 'kkL=ksDr ekfgrh f«gk-

3. f=rk«] ,drk«] pkSrk« ;kiSdh dks.kR;kgh ,dk rk«kps oSf'k"V~;kalg ek=k] [k.M]

Vkˇh] dk« ;k izek.ks «s[ku djk-

4. O;k[;k f«gk (dks.kR;kgh ikp) %

(1) xzke

(2) d.k Loj

P.T.O.
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(3) fooknh Loj

(4) xzg Loj

(5) va'k Loj

(6) vYiRo

(7) cgqRo

(8) oknh Loj-

5. Vhik f«gk (dks.krsgh nksu) %

(1) fganqLrkuh o dukZVd laxhr iºrh

(2) /k`in

(3) /kekj

(4) xku le; flºkar-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) laxhr o vk/kqfud oSKkfud midj.ks

(2) laxhr lk/kuk

(3) «ksd laxhr-

7. pfj= f«gk (dks.krkgh ,d) %

(1) ia- fo- Mh- i«qLdj

(2) mLrkn vY«kfn;k [kka

(3) cStw ckojk-



[4701]-2041 3 P.T.O.

[4701]-2041

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vkoð;d vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« jtk[kkuh xr Lojf«ihcº djk-

2. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph lfoLrj 'kkL=ksDr ekfgrh f«gk-

3. ,drk«] f=rk«] dsjok ;kiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;k

izek.ks «s[ku djk-

4. O;k[;k f«gk (dks.krsgh ikp) %

(1) o.kZ

(2) U;kl

(3) xzg

(4) vYiRo

(5) cgqRo

(6) vkjksg

(7) vojksg

(8) idM-

5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) xku@oknu le; flºkar

(2) fganqLrkuh o dukZVdh laxhr iºrh

(3) rkukaps izdkj

(4) lrkjph jpuk-
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6. fuca/k f«gk (dks.krkgh ,d) %

(1) «ksd laxhr

(2) eh ,sd«s«h eSfQ«

(3) laxhr lHksps vk;kstu-

7. pfj= f«gk (dks.krkgh ,d) %

(1) mLrkn fFkjdok [kka lkgsc

(2) mLrkn vCnq« djhe [kka lkgsc

(3) vkpk;Z ckck vY«kmfÌu [kka lkgsc-
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rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vkoð;d vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ,drk«kps «s[ku djk-

2. pkSrk«kps «s[ku djk-

3. nhipanh rk«kps «s[ku djk-

4. O;k[;k f«gk (dks.kR;kgh ikp) %

(1) tkrh

(2) frxqu

(3) pkSxqu

(4) rqdMk

(5) rk«

(6) le

(7) «Xxh

(8) mBku-

5. Vhik f«gk (dks.krkgh ,d) %

(1) f=rk«ke/;s f/kjfdVpk dk;nk

(2) :id rk«kph nqIiV

(3) f=rk«kr lesiklwu lesi;±r ,d frgkbZ-
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6. FkksMD;kr f«gk (dks.krkgh ,d) %

(1) rc«k ;k ok|kpk laf{kIr bfrgkl

(2) frjdhV] DM/kk ;k cks«kaph fudkl iºrh

(3) f/kj&f/kj f/k≥ux ;k cks«kaph fudkl iºrh-

7. dks.krkgh ,d f«gk %

(1) ia- Hkkr[kaMs f«ihuqlkj f=rk«kr lesiklwu lesi;±r ,d frgkbZ

(2) ,drk«kph nqIiV

(3) rqeP;k vkoMR;k rc«koknd d«kdkjkps pfj= f«gk-
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Seat

No. [4701]-2042

S.Y. B.A. EXAMINATION, 2015

MUSIC

(;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;k rhuiSdh rqeP;k

vH;klÿekph iz'uif=dk lksMok)

laxhr fo'ks"kLrj (,l&1)

(2013 PATTERN)

jkx laxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vkoð;d vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.krkgh ,dk jkxkrh« cafn'khps@NksV~;k [;k«kps (e/;«; vFkok

Êqr «; [;k«) Loj«s[ku djk-

2. dY;k.k] Nk;kuV] 'kqº lkjax ;kiSdh dks.krkgh ,dk jkxkph lfoLrj 'kkL=ksDr ekfgrh

f«gk-

3. fo«afcr ,drk«] >qejk] pkSrk« ;kiSdh dks.krkgh ,dk rk«kps oSf'k"V~;kalg «s[ku

djk-

P.T.O.
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4. O;k[;k f«gk (dks.krsgh ikp) %

(1) laf/kizdk'k jkx

(2) vkanksf«r

(3) xzg

(4) feJ jkx

(5) tksM jkx

(6) p« Loj

(7) rhoz Loj

(8) iwoZ jkx-

5. Vhik f«gk (dks.krsgh nksu) %

(1) jkx oxhZdj.k iºrh

(2) xk;d] uk;d] okXX;s;dkj] d«koar

(3) prjax

(4) rjkuk-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) laxhrkrh« ?kjk.kh

(2) «ksd laxhr 'kS«h o izknsf'kd egRo

(3) laxhr&xq#eq[kh fo|k-

7. pfj= f«gk (dks.krkgh ,d) %

(1) ia- xtkuujko tks'kh

(2) ia- jfo 'kadj

(3) mLrkn vehj [kka-
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lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.krkgh ,dk jkxkrh« jtk[kkuh xr Lojf«ihcº djk-

2. HkSjo] dsnkj] nqxkZ ;kiSdh dks.krkgh ,dk jkxkph lfoLrj 'kkL=ksDr ekfgrh f«gk-

3. f=rk«] ,drk«] pkSrk« ;kiSdh dks.krkgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;kizek.ks

«s[ku djk-

4. O;k[;k f«gk (dks.krsgh ikp) %

(1) laf/kizdk'k jkx

(2) iwok±xoknh jkx

(3) mŸkjkaxoknh jkx

(4) foU;kl

(5) va'k

(6) U;kl

(7) vkanksf«r

(8) viU;kl-

5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) jkx oxhZdj.k iºrh

(2) xk;d] uk;d] okXX;s;dkj] d«koar



[4701]-2042 4

(3) prjax

(4) f=oV

(5) rjk.kk-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) gkrkP;k r;kjhlkBh djko;kpk fj;kt

(2) lsuh;k ?kjk.ks

(3) fj;ktkps egRo-

7. pfj= f«gk (dks.krkgh ,d) %

(1) vehj [kk°

(2) ia- xtkuujko tks'kh

(3) ia- Ogh-th- tksx-
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[4701]-2042

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;kizek.ks leku xq.k vkgsr-

1. vkMkpkSrk« f«gk-

2. fr«okMk rk« f«gk-

3. >qejk rk« f«gk-

4. FkksMD;kr f«gk (dks.krkgh ,d) %

(1) /kqekˇh rk«kph nqIiV

(2) f=rk«kr ,d ´;J tkrhpk dk;nk

(3) >irk«kr frfjfdVpk ,d dk;nk-

5. Vhik f«gk (dks.krkgh ,d) %

(1) ,drk«kr nksu frgkbZ

(2) vkMkpkSrk«kr nksu frgkbZ

(3) rc«k ok|kP;k fufeZrhfo"k;d fopkj-
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6. FkksMD;kr f«gk (dks.krkgh ,d) %

(1) [;k«@[k;k«

(2) /k`in

(3) /kekj-

7. dks.krkgh ,d f«gk %

(1) vkM o dqvkM «;

(2) fnY«h ckt

(3) rqeP;k vkoMR;k rc«koknd d«kdkjkps pfj= f«gk-



Total No. of Questions—7+7+7] [Total No. of Printed Pages—4+2

Seat

No. [4701]-2043

S.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr)

(;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;k rhuiSdh rqeP;k

vH;klÿekph iz'uif=dk lksMok)

laxhr fo'ks"kLrj (,l&2)

(2013 PATTERN)

jkx laxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«afcr «; [;k«kps (cMk [+;k«@[+k;k«)

Loj«s[ku djk-

2. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph Loj foLrkjklg lfoLrj 'kkL=ksDr ekfgrh

f«gk-

3. lw«rk«] /kekj] vºk /kqekˇh ;kiSdh dks.kR;kgh ,dk rk«kps oSf'k"V~;kalg «s[ku

djk-

P.T.O.
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4. Vhik f«gk (dks.krsgh nksu) %

(1) Bqejh

(2) nknjk

(3) /k`in

(4) /kekj-

5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) 'kCniz/kku laxhr

(2) lqxe laxhr 'kS«h

(3) egkjk"V™kps «ksdlaxhr

(4) eSfQ«hps jlxzg.k-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) ik'oZ xk;u

(2) ik'oZ laxhr

(3) laxhr f'k{k.kkps Lo:i-

7. pfj= f«gk (dks.krkgh ,d) %

(1) m- cMs xq«kev«h [kka

(2) ia- Ogh- th- tksx

(3) Jherh csxe v[rj-



[4701]-2043 3 P.T.O.

[4701]-2043

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ficº djk-

2. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph lfoLrj 'kkL=ksDr ekfgrh f«gk-

3. f=rk«] lw«rk«] >qejk ;kiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;k

izek.ks «s[ku djk-

4. fVik f«gk (dks.krsgh nksu) %

(1) lrkj oknukrh« ehaMps egRo

(2) laxhr vkf.k lkfgR;

(3) ukVdkr laxhrkps egRo

(4) Loj«s[ku iºrhph O;kIrh o e;kZnk-

5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) lrkj ok|kpk bfrgkl

(2) lrkj oknukrh« rc«k lkFk

(3) lrkj oknukrh« ,dk ?kjk.;kfo"k;h f«gk-

(4) egkjk"V™krh« «ksd laxhr-
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6. fuca/k f«gk (dks.krkgh ,d) %

(1) uHkksok.kh }kjs gks.kkjk laxhrkpk izpkj

(2) /k`in

(3) /kekj-

7. pfj= f«gk (dks.krkgh ,d) %

(1) mLrkn fcfLeY«k [kka

(2) ia- ftrsaÊ vfHk"ksdh

(3) ia- Hkhelsu tks'kh-



[4701]-2043 5 P.T.O.

[4701]-2043

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj iz'u lksMok-

(iii) loZ iz'ukauk izR;sdh ikp ;k izek.ks leku xq.k vkgsr-

1. /kekj rk« f«gk-

2. lw«rk« f«gk-

3. [kseVk rk« f«gk-

4. O;k[;k f«gk (dks.kR;kgh ikp) %

(1) is'kdkj

(2) js«k

(3) jkS

(4) xr

(5) iju

(6) vken

(7) dk;nk

(8) rk«-

5. Vhik f«gk (dks.krkgh ,d) %

(1) f=rk«kr ´;J tkrhpk ,d dk;nk

(2) >irk«kr f/kjfdV cks«;qDr ´;J tkrhpk ,d dk;nk

(3) ,drk«kr ,d pÿnkj-
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6. FkksMD;kr f«gk (dks.krkgh ,d) %

(1) rk«fufeZrhps flºkar

(2) le] Vkˇh] [kk«h ps egRo

(3) dk;nk-

7. dks.krkgh ,d f«gk %

(1) ia- Hkkr[kaMs f«ihulkj >irk« e/;s prqjlz tkrhpk dk;nk f«gk-

(2) vtjkMk cktkph foLr`r ekfgrh f«gk-

(3) rqeP;k vkoMR;k rc«koknd d«kdkjkps pfj= f«gk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2044

S.Y. B.A. EXAMINATION, 2015

PSYCHOLOGY

General Paper II

(Social Psychology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) What is self ?

(2) Which are the three levels of behaviour ?

(3) Explain the components of attitudes.

(4) Explain the close relationships.

(5) Explain the causes of aggression.

(6) Explain the motives for pro-social behaviour.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) State the causes of prejudice.

(2) Describe the related fields of Social Psychology.

(3) Explain the levels of aggression.

(4) What is gender ? Explain the gender role development.

3. Answer the following questions in 400 words each (any one) : [20]

(1) Define Communication. Explain the process and types of

communication.

(2) What is compliance ? Explain the use of compliance techniques.

4. Write short notes in 50 words each (any four) : [20]

(1) Theories in Social Psychology.

(2) Commitment to socially responsible behaviour.

(3) Internal determinants of attraction.

(4) Theories of love

(5) Attitude and behaviour.

(6) Child sexual abuse behaviour.



[4701]-2044 3 P.T.O.

(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) Lo Eg.kts dk; \

(2) orZukP;k rhu ikrˇÓk dks.kR;k \

(3) vfHko`Ÿkhps ?kVd Li"V djk-

(4) ?kfu"B laca/k Li"V djk-

(5) vkÿedrsph dkj.ks Li"V djk-

(6) lektkfHkeq[k orZukph izsjds Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) iwoZxzgkph dkj.ks Li"V djk-

(2) lkekftd ekulðkkL=kph lacaf/kr {ks=s Li"V djk-

(3) vkÿedrsP;k ikrˇÓk Li"V djk-

(4) f«ax Eg.kts dk; \ f«ax Hkwfedk fodkl Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 400 ðkCnkr f«gk (dks.krkgh ,d) %  [20]

(1) laizs"k.k Eg.kts dk; \ laizs"k.k izfÿ;k o izdkj Li"V djk-

(2) vuqik«u Eg.kts dk; \ vuqik«ukpk mi;ksx o ra=s Li"V djk-

4. izR;sdh 50 ðkCnkr FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) lkekftd ekulðkkL=kps flºkar-

(2) lektkfHkeq[k œrhlkBh opucºrk-

(3) vkd"kZ.kkph varxZr fu;keds-

(4) izsekps flºkar-

(5) vfHko`Ÿkh vkf.k orZu

(6) eq«kaðkh gks.kkjs «Safxd nqoZrZu-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

[4701]-2045

S.Y. B.A. EXAMINATION, 2015

PSYCHOLOGY

(S-1 : Abnormal Psychology)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) State the symptoms of Schizophrenia.

(ii) What is depression ?

(iii) What is anxiety disorder ?

(iv) State the types of somatoform disorder.

(v) What is sexual dysfunctions ?

(vi) State the symptoms of narcissistic personality disorder.

P.T.O.

Seat

No.
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2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain psychotic disorders.

(ii) Describe trauma and stress related disorders.

(iii) Explain types of dissociative disorders.

(iv) Illustrate cluster-A personality disorder.

3. Answer the following questions in 400 words each (any one) : [20]

(i) Define abnormal behaviour. Discuss criteria of abnormal

behaviour.

(ii) What is insomnia disorder ? Illustrate various types of Insomnia

disorder.

4. Write short notes on (any four) : [20]

(i) Delusional Disorder;

(ii) Bipolar Disorder;

(iii) Panic Disorder;

(iv) Fictitious Disorders;

(v) Autism

(vi) Dependent Personality Disorder.



[4701]-2045 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 100 ðkCnkr mŸkjs f«gk (dks.krsgh pkj) % [20]

(i) fNUueuLdrsph «{k.ks lkaxk-

(ii) volkn Eg.kts dk; \

(iii) fpark&foœrh Eg.kts dk; \

(iv) dkf;d foœrhps izdkj lkaxk-

(v) «Safxd vidk;Znks"k Eg.kts dk; \

(vi) Lo&eXu O;fDreRo foœrhph «{k.ks lkaxk-

2. [kk«h« izðukaph izR;sdh 200 ðkCnkr mŸkjs f«gk (dks.krsgh pkj) % [20]

(i) euksfof{kIrh foœrh Li"V djk-

(ii) vk?kkrtU; vkf.k rk.ktU; foœrhaps o.kZu djk-

(iii) fo;kstukRed foœrhps izdkj Li"V djk-

(iv) v&xV O;fDreRo foœrhaps izdkj lksnkgj.k lkaxk-

3. [kk«h«iSdh dks.kR;kgh ,dk izðukps 400 ðkCnkr mŸkj f«gk % [20]

(i) euksfoœr orZukph O;k[;k nÓk- euksfoœrhP;k fud"kkaph ppkZ djk-

(ii) fuÊknks"k foœrh Eg.kts dk; \ fuÊknks"k foœrhps fofo/k izdkj lksnkgj.k

lkaxk-
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4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) foHkze foœrh_

(ii) f}/kqzoh; foœrh_

(iii) vkrafdr foœrh (Panic Disorders)_

(iv) cukoVh@O;k/kh <ksax foœrh_

(v) vkRedsaÊhr O;fDreRo foœrh_

(vi) vo«acu O;fDreRo foœrh-



[4701]-2045 5 P.T.O.

[4701]-2045

(S-1 : Psychology of Adjustment)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) What is inadequate communication in marital adjustment ?

(ii) State the problems with male role.

(iii) What is job stress ?

(iv) What is paranoid personality disorder ?

(v) What is health psychology ?

(vi) State defensive coping.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Discuss the marital adjustment.

(ii) Illustrate the models of career choice.

(iii) Discuss the models of health.

(iv) What is coping ? Explain the types of coping.
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3. Answer the following questions in 400 words each (any one) : [20]

(i) What is psychology of adjustment ? Illustrate behaviour

perspective for adjustment.

(ii) Define stress. Describe the nature and types of stress.

4. Write short notes on (any four) : [20]

(i) Remaining single

(ii) Gender stereotypes

(iii) Sexual Harassment

(iv) Catatonic Schizophrenia

(v) Mind-body connection

(vi) Blamming Yourself.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) oSokfgd lek;kstukrh« folaokn Eg.kts dk; \



[4701]-2045 7 P.T.O.

(ii) iq#"k HkwfedkackcrP;k leL;k lkaxk-

(iii) dk;Z&rk.k Eg.kts dk; \

(iv) laðk;h O;fDreRo foœrh Eg.kts dk; \

(v) vkjksX; ekulðkkL= Eg.kts dk; \

(vi) laj{kd izfr;kstu Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(i) oSokfgd lek;kstukph ppkZ djk-

(ii) O;olk; fuoMhph izk:is lksnkgj.k Li"V djk-

(iii) vkjksX;kP;k izk:ikapah ppkZ djk-

(iv) izfr;kstu Eg.kts dk; \ izfr;kstukaps izdkj Li"V djk-

3. [kk«h«iSdh dks.kR;kgh ,dk izðukps 400 ðkCnkr mŸkj f«gk % [20]

(i) lek;kstu ekulðkkL= Eg.kts dk; \ lek;kstuklkBh orZuoknh n`"Vhdksu lksnkgj.k

Li"V djk-

(ii) rk.kkph O;k[;k nÓk- rk.kkps Lo:i vkf.k izdkjkaps o.kZu djk-

4. FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) ,dkdhi.kk_
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(ii) f«axfLFkjHkko_

(iii) «SSafxd Nˇ_

(iv) rk.k&vo#n~/krk fNUueuLdrk_

(v) eu&ðkjhj laca/k_

(vi) Lonks"kkjksiu-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-2046

S.Y. B.A. EXAMINATION, 2015

PSYCHOLOGY

(S-II : Developmental Psychology)

Special Paper II

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the importance of play in early childhood.

(2) What are the roots of violent behaviour in childhood ?

(3) State the importance of genes and chromosomes.

(4) What are the problems of working women ?

(5) Explain the relationships in middle adulthood.

(6) Explain the moral development in middle childhood.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) What are the birth complications ?

(2) Describe the physical development in early childhood.

(3) What are the stressors in early adulthood ? Describe the coping

strategies.

(4) Explain the daily life of adult.

3. Answer any one the following questions in 400 words : [20]

(1) Explain the roots of language and speech development in infancy.

(2) What is maturation ? What are the primary and secondary

sex characteristics in adolescence ?

4. Write short notes on (any four) :  [20]

(1) Post-natal adjustment

(2) Social development of school going children

(3) Effective parenting styles

(4) Career choices in early adulthood

(5) Intelligence in middle adulthood

(6) Piaget’s pre-operational thinking.



[4701]-2046 3 P.T.O.

(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) iwoZ ckY;koLFksrh« [ksˇkaps egRo lkaxk-

(2) ckY;koLFksrh« vkÿed orZukph mexLFkkus lkaxk-

(3) tUeiwoZ fodklkrh« vkuqoafðkd ns.kxhps egRo lkaxk-

(4) uksdjh dj.kkÚ;k fL=;kaP;k leL;k dks.kR;k \

(5) e/; izkS<koLFksrh« ukrslaca/k foðkn djk-

(6) e/; ckY;koLFksrh« uSfrd fodkl Li"V djk-

2. [kk«h« izðukaph 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) tUekP;k osˇh ;s.kkÚ;k vMp.kh dks.kR;k \

(2) iwoZ ckY;koLFksrh« ðkkjhfjd fodklkps o.kZu djk-

(3) iwoZ izkS<koLFksrh« rk.kds dks.krh \ rk.k&O;oLFkkiukP;k in~/krhaps o.kZu djk-

(4) o`n~/kkaph nSuafnuh Li"V djk-
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3. [kk«h«iSdh dks.krkgh ,d izðukph 400 ðkCnkar mŸkjs f«gk %  [20]

(1) ðkSðkokoLFksrh« Hkkf"kd fodklkph ewˇs o okpk fodkl Li"V djk-

(2) ifjiDou Eg.kts dk; \ ikSxaMkoLFksrh« izkFkfed o nq∏;e «Safxd «{k.ks Li"V

djk-

4. fVik f«gk (dks.krsgh pkj) %  [20]

(1) uotkr vHkZdkph lek;kstus

(2) ðkk«s; eq«kapk lkekftd fodkl Li"V djk-

(3) ;ðkLoh ik«dRo ðkS«h

(4) iwoZ izkS<koLFksrh« O;olk; fuoM

(5) e/; izkS<koLFksrh« cqfn~/keŸkk

(6) fi;kts ;kapk fÿ;k&iwoZ fopkjkapk n`"Vhdksu-



[4701]-2046 5 P.T.O.

[4701]-2046

(S-2 : Positive Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain ‘Life above zero’.

(2) Describe the ‘Broaden’ and ‘Build’ theory of positive emotions.

(3) What is resilience ?

(4) Explain the negative effects of Trauma.

(5) Describe, what makes a traits positive ?

(6) Explain the personality and happiness : ‘The Big Five Model’.

2. Answer the following questions in 200 words each (any two) : [20]

(1) Define positive psychology. Explain the assumptions and goals

of positive psychology.
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(2) Explain the life satisfaction.

(3) Explain the measuring personal goals.

(4) Describe the interconnection of ‘Good’ and ‘Bad’.

3. Answer any one the following questions in 400 words : [20]

(1) What is happiness ? Describe the two traditions of

happiness.

(2) Explain in detail the relationship between marriage and

happiness.

4. Write short notes on (any four) :  [20]

(1) Traditional Psychology

(2) Successful ageing

(3) Sources of resilience

(4) Materialism and its discontent

(5) What are personal goals ?

(6) ‘Self esteem’.



[4701]-2046 7 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) ^ðkqU;kP;k ojrh thou* Li"V djk-

(2) ^czkWMu* vUM ^fcYM* ldkjkRed Hkkouk miiŸkh o.kZu djk-

(3) fLFkrhLFkkidRo Eg.kts dk; \

(4) vk?kkrtU; ?kVukaps udkjkRed ifj.kke Li"V djk-

(5) ldkjkRed xq.koSfðk"VÓs dðkh curkr o.kZu djk-

(6) ^O;fDreRo vkf.k vkuanho`Ÿkh* iap?kVd izk:i Li"V djk-

2. [kk«h« izðukaph izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ldkjkRed ekulðkkL= O;k[;k |k- ldkjkRed ekulðkkL=kph x`fgrds vkf.k

/;s;s Li"V djk-

(2) ^thou lek/kku* Li"V djk-

(3) O;fDrxr /;s; ekiu Li"V djk-

(4) ^pkax«s* vkf.k ^okbZV* ;krh« vkarjlaca/k o.kZu djk-
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3. [kk«h«iSdh dks.krkgh ,d izðukph 400 ðkCnkar mŸkjs f«gk %  [20]

(1) vkuanho`Ÿkh Eg.kts dk; \ vkuanho`ŸkhP;k nksu ijaijk o.kZu djk-

(2) fookg vkf.k vkuanho`Ÿkh ;krh« laca/k lfoLrj Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) ikjaikfjd ekulðkkL=

(2) ;ðkLoh o`ºkoLFkk

(3) fLFkrhLFkkidRokph mxeLFkkus

(4) HkkSfrdokn vkf.k R;krh« vlek/kku

(5) O;fDrxr /;s;s dks.krh \

(6) ^Lo* vknj-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2047

S.Y. B.A. EXAMINATION, 2015

GANDHIAN THOUGHT

(G-2 : Gandhi’s Social, Educational, Political and Economic Thoughts)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain in short the concept of man according to Ruskin.

(2) Explain in short the concept of Social Change.

(3) Explain in short the concept of Constructive Programme.

(4) Explain in short the concept of Ideal State.

(5) Explain in short the concept of Spiritualization of Politics.

(6) Explain in short the concept of Democracy.

2. Answer the following questions in 200 words each (any two) : [20]

(1) State Gandhiji’s tri-bhasha sutra.
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(2) State the importance of Gandhiji’s concept of ‘Dignity of

Labour’.

(3) Explain Gandhini’s concept of ‘Rights and Duties’.

(4) State and evaluate traditional idea of Varna in the context

of Gandhiji’s Idea of Varna.

(5) Explain Gandhiji’s concept of ‘Panchayat Raj’.

3. Answer any one of the following questions in 400 words : [20]

(1) Explain fully Gandhiji’s concept of Relation between Man and

Society.

(2) Explain Gandhiji’s concept of Swaraj with the help of four

dimensions.

4. Write short notes on (any four) : [20]

(1) Trusteeship

(2) Gandhiji’s critique on Communalism

(3) Gandhiji’s views on women education

(4) Concept of Society : Thoreau

(5) Sarvodaya

(6) Gandhiji’s views on Ashrama.



[4701]-2047 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.kRksgh pkj) % [20]

(1) jLdhu ;kaph O;Drh ladYiuk FkksMD;kr Li"V djk-

(2) lkekftd cn«kph ladYiuk FkksMD;kr Li"V djk-

(3) fo/kk;d dk;Zÿe ladYiuk FkksMD;kr Li"V djk-

(4) vknðkZjkT; ladYiuk FkksMD;kr Li"V djk-

(5) jktdkj.kkps vk/;kfRedhdj.k ladYiuk FkksMD;kr Li"V djk-

(6) «ksdðkkgh ladYiuk FkksMD;kr Li"V djk-

2- [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.kRksgh nksu) % [20]

(1) xka/khthaps f=&Hkk"kk lw= lkaxk-

(2) xka/khthaP;k Je&izfr"Bk ladYiusps egŸo lkaxk-

(3) xka/khthaph ^gDd vkf.k drZO;* ladYiuk Li"V djk-

(4) ikjaikfjd o.kZ ladYiuk xka/khthaP;k o.kZ ladYiusP;k lanHkkZr Li"V djk-

(5) xka/khthaph ^iapk;rjkt* ladYiuk Li"V djk-
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3- [kk«h«iSdh dks.kRkkgh ,dk izðukps mŸkj 400 ðkCnkar f«gk % [20]

(1) xka/khthaph O;Drh vkf.k lekt ;karh« laca/kkph ladYiuk lfoLrj Li"V

djk-

(2) LojktkP;k pkj iS«walg xka/khthaph Lojkt ladYiuk Li"V djk-

4- FkksMD;kr fVik f«gk (dks.kRksgh pkj) % [20]

(1) foðoLrrk

(2) xka/khthapk lkE;oknkojh« Vhdk

(3) xka/khthaph L=h&fðk{k.k fo"k;hps ers

(4) Fkksjksph lekt ladYiuk

(5) loksZn;

(6) xka/khthaph vkJekckcrph ers-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-2048

S.Y. B.A. EXAMINATION, 2015

YOGVIDYA

General Paper II

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) Explain the uses of Sutraniti.

(ii) Explain the importance of Dhyan.

2. Write short notes on any two of the following : [10]

(i) Karma

(ii) Supta Vajrasana

(iii) Shitali Pranayama

(iv) Sarvangasana.

P.T.O.
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3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) What are the importance of Niyam in social health ?

(ii) What is Jain Darshana ?

(iii) What are the benefits of Halasana ?

4. Attempt any one question in detail : [10]

(i) What is perception ? Explain in detail the importance of

Pratyahar and Dhyan Dharana in perception process.

(ii) What is Nastik Darshan ? Explain Bauddha Darshan in

detail.

(ejkBh :ikarj)

osˇ % 2 rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(i) lq=furhpk mi;ksx lkaxk-

(ii) /;kukps egRo lkaxk-
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2. FkksMD;kr fVik |k (dks.kR;kgh nksu) % [10]

(i) deZ

(ii) lqIrotzklu

(iii) ðkhr«h izk.kk;ke

(iv) lok±xklu

3. [kk«h«iSdh dks.kR;kgh nksu izðukps 200 rs 250 ðkCnkar mŸkjs f«gk % [15]

(i) lkekftd vkjksX;kr fu;ekps egRo lkaxk-

(ii) tSu nðkZukfo"k;h ekfgrh lkaxk-

(iii) g«klukps Qk;ns lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj nÓk % [10]

(i) laosnu Eg.kts dk; gs lkaxwu laosnu izfÿ;sr izR;kgkj o /;ku/kkj.kk ;kaps egRo

lfoLrj Li"V djk-

(ii) ukfLrd nðkZu Eg.kts dk; gs lkaxwu ckSº nðkZukfo"k;h lfoLrj ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2050

S.Y. B.A. EXAMINATION, 2015

HOME ECONOMICS

(G-2 : Sociology of Indian Family)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the importance of Sociology.

(2) Explain the merits of joint family system.

(3) Explain the types of family.

(4) Explain the types of marriages.

(5) Explain the causes of family disorganisation in India.

(6) Explain the role of government in family welfare.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the functions of family.

(2) Explain the basic development of human race.

(3) Explain the causes and effects of family disintegration in

India.

(4) Explain the role of government in child welfare.

3. Answer the following questions in 400 words each (any one) : [20]

(1) Explain the merits and demerits of nuclear family.

(2) Write an essay on social legislation about marriage and family

in India.

4. Write short notes (any four) :  [20]

(1) Scope of Sociology

(2) Socialization of child

(3) Human race

(4) Evolution of marriage

(5) Family organization

(6) Voluntary agencies.



[4701]-2050 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(1) lektðkkL=kps egRo Li"V djk-

(2) la;qDr dqVwaciºrhps xq.k Li"V djk-

(3) dqVwackps izdkj Li"V djk-

(4) fookgkps izdkj Li"V djk-

(5) Hkkjrkrh« dqVwac foLFkkiukph dkj.ks Li"V djk-

(6) dqVaqc dY;k.kkrh« ðkklukph Hkwfedk Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(1) dqVwackph dk;sZ Li"V djk-

(2) ekuoh oa'kkP;k eq«Hkwr fodklkps Li"Vhdj.k djk-

(3) Hkkjrkrh« dqVwac fo?kVukph dkj.ks o ifj.kke Li"V djk-

(4) ckˇ dY;k.kkrh« ðkklukph Hkwfedk Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 400 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) v.kqdwVqackps xq.k vkf.k nks"k Li"V djk-

(2) Hkkjrkrh« fookg o dqVwacfo"k;d fo/ks;dkoj fuca/k f«gk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) lektðkkL=kph O;kIrh

(2) ckˇdkps lkekftdhdj.k

(3) ekuoh oaðk

(4) fookgkph mRÿkarh

(5) dqVqac la?kVu

(6) ,sfPNd la?kVuk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+4

Seat

No. [4701]-2051

S.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

[D.S. : (G-2) (A) : Military Geography]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) State the importance of Geostrategy.

(ii) Explain the scope of Military Geography.

(iii) Give the concept of National Power.

(iv) Explain the aims of Grand strategy.

(v) State the concept of strategy.

(vi) Explain the uses of natural gas.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the Geo-strategic importance of Diego-Garcia.

(ii) Describe the principles of Logistics.

(iii) Explain the Geo-strategic importance of Jammu and Kashmir.

(iv) State the impact of Geography on sea-warfare.

3. Answer the following questions in 400 words each (any one) : [20]

(i) Explain in detail the elements of national power.

(ii) Describe the characteristics, arms and logistic problems in desert

warfare.

4. Write short notes (any four) : [20]

(a) Oil

(b) Characteristics of Jungle warfare

(c) Concept of Logistics

(d) Scope of Geo-strategy

(e) Uses of Military Geography

(f) Concept of Geo-strategy.



[4701]-2051 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(i) Hkw&;qºuhfrps egŸo lkaxk-

(ii) «"djh Hkwxks«kph O;kIrh Li"V djk-

(iii) jk"V™h; lkeF;kZph ladYiuk lkaxk-

(iv) foðkk« ;qºuhfrps mÌsð; Li"V djk-

(v) ;qºuhfrph ladYiuk lkaxk-

(vi) uSlfxZd xWlps mi;ksx Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) fnxks xkfðkZ;kps Hkw&lkefjd egŸo Li"V djk-

(ii) iqjoBk O;oLFksph rŸos foðkn djk-

(iii) tEew&dkðehjps Hkw&lkefjd egŸo Li"V djk-

(iv) lkxjh ;qºkoj Hkwxks«kpk iM.kkjk izHkko lkaxk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 400 ðkCnkr f«gk (dks.krkgh ,d) %  [20]

(i) jk"V™h; lkeF;kZps ?kVd lfoLrj Li"V djk-

(ii) okˇoaVh ;qº/kkj.ksph oSfðk"Vs] ðkL=kL=s vkf.k iqjoBk leL;k foðkn djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(a) ba/ku

(b) tax« ;qº/kkj.ksph oSfðk"Vs

(c) iqjoBk O;oLFksph ladYiuk

(d) Hkw&;qºuhfrph O;kIrh

(e) «"djh Hkwxks«kps mi;ksx

(f) Hkw&;qºuhfrph ladYiuk-



[4701]-2051 5 P.T.O.

[4701]-2051

[D.S. G-2 (B) : Geopolitics]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) State the importance of War Time Geopolitics.

(ii) Explain the geopolitical thought of Karl Haushoffer.

(iii) State the importance of Political Geography.

(iv) State the types of natural boundaries.

(v) What are the objectives of territorial water ?

(vi) Explain the problems of Buffer State.

2. Answer the following  questions in 200 words each (any two) : [20]

(i) Explain the nature of Geopolitics.

(ii) Describe the unified field theory of Prof. S.B. Jones.
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(iii) Explain the basic elements of state.

(iv) State the scope of Political Geography.

3. Answer the following questions in 400 words (any one) :  [20]

(i) What is landlocked state ? State the problems of landlocked

states.

(ii) Describe the geographical factors affecting war.

4. Write short notes (any four) :  [20]

(i) Geopolitics

(ii) Admiral A.T. Mahan

(iii) Nation

(iv) Frontiers

(v) Exclusive economic zone

(vi) Political Geography.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-
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1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) ;qºdk«hu Hkwjktuhfrps egRo lkaxk-

(ii) dk«Z gkSðkkSQj ;kaps Hkwjktuhfrd fopkj Li"V djk-

(iii) jktdh; Hkwxks«kps egRo lkaxk-

(iv) uSlxhZd flekaps izdkj lkaxk-

(v) izknsfðkd t«kðk;kph mfÌ"VÓs dks.krh \

(vi) vk?kkrðkks"kd jk"V™kP;k leL;k Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) Hkwjktuhfrps Lo:i Li"V djk-

(ii) izk- ,l- ch- tksUl~ ;kapk ^,d:i {ks= flºkar* foðkn djk-

(iii) jkT;kps eq«Hkwr ?kVd Li"V djk-

(iv) jktdh; Hkwxks«kph O;kIrh lkaxk-

3. [kk«h« izðukps mŸkj 400 ðkCnkr f«gk (dks.krkgh ,d) %  [20]

(i) Hkwos"Vhr nsðk Eg.kts dk; \ Hkwos"Vhr nsðkkaP;k leL;k lkaxk-

(ii) ;qºkoj ifj.kke dj.kkÚ;k HkkSxksf«d ?kVdkaps o.kZu djk-



[4701]-2051 8

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(i) Hkwjktuhfr

(ii) vWMfej« ,-Vh- egku

(iii) jk"V™

(iv) lhek iznsðk@ljgÌ

(v) vkFkhZd fuc±/k {ks=

(vi) jktdh; Hkwxks«-



[4701]-2051 9 P.T.O.

[4701]-2051

[D.S. (G-2) (C) : Industrial Security]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) State the objectives of industrial security.

(ii) What is the right of private defence  ?

(iii) How does investigation take place ?

(iv) What are the basic principles of industrial security ?

(v) How do we get warning of firebreak ?

(vi) State the importance of search gate.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain the scope of industrial security.

(ii) Describe criminal crimes and preventive measures of it.
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(iii) Describe industrial espionage.

(iv) What is fire ? Explain the classification of fire.

3. Answer the following question in 400 words (any one) :  [20]

(i) State the duties of security inspector.

(ii) Explain various types of first aid.

4. Write short notes (any four) :  [20]

(i) Indian Penal Code

(ii) Security lighting

(iii) Main gate

(iv) First information report

(v) Control room

(vi) Department of security.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-



[4701]-2051 11 P.T.O.

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) vkS|ksfxd lqj{ksph mfÌ"VÓs lkaxk-

(ii) [kktxh cpkokpk gDd Eg.kts dk; \

(iii) pkSdðkh dðkh ds«h tkrs \

(iv) vkS|ksfxd lqj{ksph eq«Hkwr rRos dks.krh \

(v) vkxhph iwoZ lqpuk vki.kkl dðkh feˇrs \

(vi) >Mrh xsVps egRo lkaxk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) vkS|ksxhd lqj{ksph O;kIrh Li"V djk-

(ii) QkStnkjh xqUgs o rs Vkˇ.;klkBh dsY;k tk.kkÚ;k izfrca/kkRed mik;kaps o.kZu

djk-

(iii) vkS|ksfxd gsjfxjhps o.kZu djk-

(iv) vkx Eg.kts dk; \ vkxhps oxhZdj.k Li"V djk-

3. [kk«h« izðukps mŸkj 400 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(i) lqj{kk fufj{kdkph drZO;s lkaxk-

(ii) izFkeksipkjkps fofo/k izdkj Li"V djk-
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4. FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(i) Hkkjrh; naM lafgrk

(ii) lqj{kk izdkðk O;oLFkk

(iii) eq[; izosðk}kj

(iv) ifg«h [kcj

(v) fu;a=.k d{k

(vi) lqj{kk foHkkx-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-2052

S.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

[D.S. (S-1) : (A) : Indian Military System After Independence]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Explain the reforms for Indian Forces.

(ii) What is cease fire line ?

(iii) Why did Pakistan intervene in Jammu & Kashmir in 1947 ?

(iv) What is International Border ?

(v) Explain the causes of defeat of India in 1962 war.

(vi) Explain the Naval Military Power.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain in detail the partition of Armed Forces.

(ii) Describe the development of missile and explain its delivery

system.

(iii) Explain the performance of Indian Armed Forces in 1971 war.

(iv) Describe Tashkent Agreement.

3. Answer the following question in 400 words (any one) :  [20]

(i) Discuss ‘Defence Policy of India since 2005’.

(ii) Explain in detail the problem of Tibet.

4. Write short notes (any four) : [20]

(a) L.O.C.

(b) Nuclear capability

(c) Effects of Kargil conflict

(d) Problems of Refugee

(e) Rann of Kutchh

(f) British Indian Forces.



[4701]-2052 3 P.T.O.

(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(i) Hkkjrh; lSU;kph iwujZpuk Li"V djk-

(ii) ;qºcanh js"kk Eg.kts dk; \

(iii) 1947 e/;s tEew&dkðehje/;s ikfdLrkuus ?kql[kksjh dk ds«h \

(iv) vkarjjk"V™h; lhek Eg.kts dk; \

(v) 1962 ;qºkrh« HkkjrkP;k ijkHkokph dkj.ks Li"V djk-

(vi) ukfod «"djh lkeF;Z Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh nksu) % [20]

(i) lðkL= n«kph foHkkx.kh lfoLrj Li"V djk-

(ii) {ksi.kkL=kapk fodkl Li"V djk vkf.k R;kaph mÏk.k iºrh Li"V djk-

(iii) 1971P;k ;qºkrh« Hkkjrh; lðkL= n«kph {kerk Li"V djk-

(iv) rk'dan djkj foðkn djk-
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3. [kk«h« izðukps mŸkj 400 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) ^2005 iklwups Hkkjrh; laj{k.k /kksj.k* ppkZ djk-

(ii) frcsV leL;k lfoLrj Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(a) ,«- vks- lh- (izR;{k fu;a=.k js"kk)

(b) v.oL= {kerk

(c) dkjfx« la?k"kkZps ifj.kke

(d) fuokZflrkaP;k leL;k

(e) dPNps j.k

(f) fczVhðk Hkkjrh; lsuk-



[4701]-2052 5 P.T.O.

[4701]-2052

[D.S. (S –1) : (B) : Maratha Military System]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Why did Shivaji adopt Guerrilla tactics ?

(ii) State the strategic importance of Karnataka Campaign.

(iii) Describe the Battle of Bhopal.

(iv) Explain the role of Dadoji Kondadev in making Shivaji.

(v) State the military leadership of Sambhaji.

(vi) State the articles of Treaty of Purandar.

2. Answer the following questions in 200 words each (any two) : [20]

(i) State the causes of downfall of Maratha power.

(ii) Explain the causes of Shivaji’s victory in battle of Pratapgarh.

(iii) Describe the Third Anglo–Maratha war.

(iv) Describe the Maratha Military Organisation under the Shivaji.
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3. Answer the the following questions in 400 words each (any one) : [20]

(i) Explain in detail the geographical, social, economic and political

background of Maharashtra  before Shivaji.

(ii) Describe the Third Battle of Panipat (1761 A.D.)

4. Write short notes (any four) :  [20]

(i) Military qualities of Bajirao – I

(ii) Raid on Shahistekhan

(iii) Jijabai

(iv) Strategic importance of Battle of Palkhed

(v) Santaji–Dhanaji

(vi) Strategic importance of Jawali.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-



[4701]-2052 7 P.T.O.

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkr f«gk (dks.krsgh pkj) % [20]

(i) fðkokth egkjktkauh xfueh dkokapk okij dk ds«k \

(ii) dukZVd eksfgesps lkefjd egŸo lkaxk-

(iii) HkksikˇP;k «<kbZps o.kZu djk-

(iv) fðkokth egkjktkaP;k tM.k?kM.khr nknksth dksaMnso ;kaph Hkwfedk Li"V djk-

(v) laHkkth egkjktkaps «"djh usr`Ro lkaxk-

(vi) iqjanjP;k rgkph d«es lkaxk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) ejkBh lŸksP;k irukph dkj.ks lkaxk-

(ii) fðkokth egkjktkaph izrkixMP;k «<kbZrh« fot;kph dkj.ks Li"V djk-

(iii) baxzt&ejkBk frlÚ;k ;qºkps o.kZu djk-

(iv) fðkokth egkjktkaP;k fu;a=.kk[kk«h« ejkBÓkaP;k «"djh la?kVusps o.kZu djk-

3. [kk«h« izðukph mŸkj 400 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(i) fðkoiwoZdk«hu egkjk"V™kph HkkSxksf«d] lkekftd] vkfFkZd vkf.k jktdh; ifjfLFkrh

lfoLrj Li"V djk-

(ii) 1761P;k ikfuirP;k frlÚ;k «<kbZps o.kZu djk-
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4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(i) ifgY;k ckthjkokps «"djh xq.k

(ii) ðkkfgLrk[kkukojh« gY«k

(iii) thtkckbZ

(iv) ik«[ksMP;k «<kbZps lkefjd egŸo

(v) larkth&/kukth

(vi) tkoˇhps lkefjd egŸo-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-2053

S.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

[D.S. S-2(A) : International Relation]

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) State the concept of Arms Control.

(2) Explain the decision making theories.

(3) Describe the Soviet Union disintegration.

(4) Explain the concept of Non-alignment.

(5) What is New Cold War ?

(6) Explain the Brettenwoods system.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Describe the nature and scope of Cold War.

(2) Explain the foundations and consequences of detente.

(3) Explain the impact of New Cold War on International Relations.

(4) Describe the details of World Trade Organization.

3. Answer any one of the following questions in 400 words :  [20]

(1) Describe the Realism theory to the study of international relations.

(2) Explain the changes in East Europe in 1989.

4. Write short notes (any four) :  [20]

(1) Nature of detente

(2) Systems approach

(3) International political economy

(4) GATT

(5) New World Order

(6) Diplomacy.



[4701]-2053 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) ðkL= fu;a=.kkph ladYiuk lkaxk-

(2) fu.kZ;xzkgh flºkar Li"V djk-

(3) lksfOg,r ;qfu;ups fo?kVu foðkn djk-

(4) vf«Irrsph ladYiuk Li"V djk-

(5) uohu ðkhr ;qº Eg.kts dk; \

(6) fczVuoqM~l O;oLFkk Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) ðkhr;qºkps Lo:i o O;kIrh foðkn djk-

(2) r.kkoðkSfFkY;kps vk/kkj o ifj.kke Li"V djk-

(3) uohu ðkhr;qºkpk vkarjjk"V™h; laca/kkoj >k«s«k ifj.kke Li"V djk-

(4) tkxfrd O;kikj la?kVuk lfoLrj foðkn djk-
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3. [kk«h«iSdh dks.krkgh ,d izðukaps mŸkj 400 ðkCnkar f«gk %  [20]

(1) vkarjjk"V™h; laca/kkP;k vH;klkckcr okLrookn flºkar foðkn djk-

(2) 1989 e/;s iwoZ ;qjksikrh« >k«s«s cn« Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) nsrkarps Lo:i

(2) O;oLFkkRed n`"Vhdksu

(3) vkarjjk"V™h; jktdh; vFkZO;oLFkk

(4) xWV

(5) uohu tkxfrd O;oLFkk

(6) jktu;-
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[4701]-2053

[D.S. S-2 (B) : International Security]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) State the concept of International Security.

(ii) Explain the New Cold War.

(iii) Explain the security problems of post-cold war scenario.

(iv) Explain the functions of diplomats

(v) Explain the concept of pollution

(vi) State the concept of Detente.

2. Answer the following questions in 200 words each (any two) : [20]

(i) Explain in detail the causes of decline of Cold War.

(ii) Explain the role of non-alignment in maintaining international

security.
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(iii) State the nature and effects of terrorism.

(iv) State the concept and nature of ethnic conflict.

3. Answer the following questions in 400 words each (any one) : [20]

(i) State the concept of Arms Control and Disarmament. Explain

the problems of them.

(ii) Explain the means and types of Balance of Power.

4. Write short notes (any four) :  [20]

(i) Global Warming

(ii) Concept of Diplomacy

(iii) National Security

(iv) Non-alignment

(v) New World order

(vi) Cyber crimes.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-



[4701]-2053 7 P.T.O.

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) vkarjjk"V™h; lqj{ksph ladYiuk lkaxk-

(ii) uohu ðkhr;qº Li"V djk-

(iii) ðkhr;qºksŸkjdkˇkrh« lqj{ksP;k leL;k Li"V djk-

(iv) jktu;kph dk;sZ Li"V djk-

(v) iznq"k.kkph ladYiuk Li"V djk-

(vi) r.kko'kSfFkY;kph ladYiuk lkaxk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) ðkhr;qºkP;k Úgklkph dkj.ks lfoLrj Li"V djk-

(ii) vkarjjk"V™h; lqjf{krrk jk[k.;kr vf«Irrsph Hkwfedk Li"V djk-

(iii) ngðkroknkps Lo:i vkf.k ifj.kke lkaxk-

(iv) okafðkd la?k"kkZph ladYiuk vkf.k Lo:i lkaxk-

3. [kk«h« izðukaph mŸkj 400 ðkCnkar f«gk (dks.krkgh ,d) %  [20]

(i) ðkL=fu;a=.k vkf.k fu%ðkL=hdj.kkph ladYiuk lkaxk- R;kaP;k leL;k foðkn djk-

(ii) lŸkklerks«kph lk/kus vkf.k izdkj Li"V djk-
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4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(i) tkxfrd rkieku ok<

(ii) jktu;kph ladYiuk

(iii) jk"V™h; lqj{kk

(iv) vf«Irrrk

(v) uohu tkxfrd O;oLFkk

(vi) lk;cj xqUgs-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-2055

S.Y. B.A. EXAMINATION, 2015

COMMERCE (General-II)

(Business Accounting)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. State the objects, importance and utility of Book-keeping. [16]

Or

Journalise the following transactions : [16]

(a) Started business with cash Rs. 1,00,000 by Mr. Mohan.

(b) Purchased machinery on credit Rs. 10,000.

(c) Sold goods on cash for Rs. 50,000.

(d) Received commission Rs. 1,000.

(e) Paid salary Rs. 5,000 to Mr. Aneesh.

(f) Deposited Rs. 50,000 in Bank of India.

(g) Paid for advertisement Rs. 1,000.

(h) Withdrew Rs. 5,000 for personal use.
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2. Describe various subsidiary books with its format. [16]

Or

Prepare Cash book with Cash and Bank column in the Books of

Raskia : [16]

Oct. 1 : Cash Balance Rs. 25,000, Bank Rs. 18,000.

Oct. 3 : Paid for printing Rs. 7,400.

Oct. 8 : Cash sales Rs. 23,000.

Oct. 9 : Cash purchases Rs. 9,000.

Oct. 10 : Deposited into banks Rs. 10,000.

Oct. 22 : Paid legal charges by cheques Rs. 2,000.

Oct. 26 : Paid for carriage Rs. 600.

Oct. 30 : Paid telephone bill Rs. 4,000.

3. Describe the objectives and importance of Cost Accounting. [16]

Or

Prepare Store Ledger Account on the basis of LIFO method : [16]

1 Jan. : Opening balance 200 quantity @ Rs. 10.

4 Jan. : Purchased goods 100 quantity @ Rs. 5.

6 Jan. : Issue material 50 quantity.

8 Jan. : Purchased material 200 quantity @ Rs. 6.

10 Jan. : Issued material 100 quantity.

18 Jan. : Purchased material @ 6, 200 quantity.

20 Jan. : Issued material 100 quantity.

30 Jan. : Issued material 200 quantity.
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4. Explain purchase procedure in detail. [16]

Or

Prepare Cost sheet from the following : [16]

Rs.

Direct material 20,000

Productive wages 10,000

Direct expenses 10,000

Advertisement 2,000

Bad debts 1,000

Legal charges 300

Income tax 1,000

Office salary 5,000

Factory lighting 1,000

Motive power 2,000

Printing & Stationery 1,000

Salesman commission 1,000

Depreciation of delivery van 500

Factory heating 1,000

Salesman commission 1,000

Sales 1,00,000
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5. Write short notes on (any four) : [16]

(i) Types of overheads

(ii) Time-keeping

(iii) Limitations of Financial Accounting

(iv) Petty Cash-book

(v) Trial Balance

(vi) Balance-sheet.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2056

S.Y. B.A. EXAMINATION, 2015

G-2 : EDUCATION

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain John Dewey’s problem solving method.

(2) Explain the importance of Computer Education.

(3) Explain the effect of motivation on learning.

(4) Write the characteristics of emotional development in infancy

stage.

(5) Explain the laws of heredity

(6) Describe the educational importance of environment.

2. Answer the following questions in 200 words each (any two) : [20]

(1) What do you mean by national integrity ? Explain the role

of school in developing national integrity.

P.T.O.
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(2) What is memory ? Describe the stages of memory.

(3) What is basic education ? Explain the characteristics of basic

education.

(4) What are growth and development ? Describe the differences

between growth and development.

3. Answer any one of the following questions in 400 words : [20]

(1) What is secondary education ? What are the problems in secondary

education ? Suggest remedies to overcome these problems.

(2) What is insight learning ? Explain the merits and limitations

of insight learning.

4. Write short notes in 50 words each (any four) :  [20]

(1) Education in democracy

(2) Social heredity

(3) Concept of forgetting

(4) Emotional development in adolescence stage

(5) Educational importance of heredity

(6) Concept of ‘Sakharshala’.



[4701]-2056 3 P.T.O.

(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) tkWu MÓqbZph leL;k fujkdj.kkph iºrh Li"V djk-

(2) lax.kd fðk{k.kkps egRo Li"V djk-

(3) izsj.kspk v/;;ukoj gks.kkjk ifj.kke Li"V djk-

(4) ckY;koLFksrh« Hkkofud fodklkph oSfðk"VÓs f«gk-

(5) vuqoaðkkps fu;e Li"V djk-

(6) ifjfLFkrhps ðkS{kf.kd egŸo Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) jk"V™h; ,dkRerk Eg.kts dk; \ jk"V™h; ,dkRerk #tfo.;ke/;s ðkk šph Hkwfedk

Li"V djk-

(2) Lej.k Eg.kts dk; \ Lej.kkps VIis Li"V djk-

(3) eq«nÓksxh fðk{k.k iºrh Eg.kts dk; \ eq«nÓksxh fðk{k.k iºrhph oSfðk"VÓs

Li"V djk-

(4) ok< o fodkl Eg.kts dk; \ ok< o fodklkrh« Qjd Li"V djk-
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3. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(1) ek/;fed fðk{k.k Eg.kts dk; \ ek/;fed fðk{k.kkrh« leL;k Li"V d:u

R;koj mik; lwpok-

(2) eeZn`"Vheq«d v/;;u Eg.kts dk; \ eeZn`"Vheq«d v/;;uiºrhps Qk;ns o

e;kZnk Li"V djk-

4. izR;sdh 50 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(1) «ksdðkkghrh« fðk{k.k

(2) lkekftd vuqoaðk

(3) foLej.kkph ladYiuk

(4) dqekjkoLFksrh« Hkkofud fodkl

(5) vuqoaðkkps ðkS{kf.kd egRo

(6) lk[kjðkkˇk ladYiuk-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [4701]-2057

S.Y. B.A. EXAMINATION, 2015

MATHEMATICS

(FMG-2 : Operations Research & Optimization Techniques)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithmic table and calculator is allowed.

(iv) Graph papers will be supplied on demand.

1. Attempt the following : [16]

(i) Write the standard form of the following L.P.P. :

Min. Z = 5x1 – 2x2 + 4x3

Subject to : x1 + x2 + 2x3 ≥ 1

2x1 + 2x2 – x3 = 4

x1, x2, x3 ≥ 0.

(ii) How can the concept of duality is useful ? Give any two

reasons.

(iii) Find the common feasible region of the following L.P.P. :

Max. Z = 3x1 + 4x2

Subject to : x1 + 2x2 ≤ 40

3x1 + x2 ≥ 30

4x1 + 3x2 ≥ 60

x1, x2 ≥ 0.
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(iv) Define the following :

(a) Non-degenerate solution of transportation.

(b) Balanced Assignment Problem.

(v) What is the condition for a stationary point X0 to be :

(a) Minimum point

(b) Maximum point

of a function F(X), X ∈ Rn.

(vi) Define the following :

(a) Total float

(b) Free float.

(vii) What are the assumptions made in the theory of games ?

Give any two assumptions.

(viii) The following table shows the machine time for 5 Jobs to

be processed on two machines A and B in order AB. Find

the sequence in which the jobs should be processed :

Job Machine A Machine B

(in hours) (in hours)

1 3 6

2 7 2

3 4 7

4 5 3

5 7 4
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2. (A) Attempt any one of the following : [6]

(i) Solve the following Transportation problem by Least Cost

Entry Method :

W1 W2 W3 W4 Supply

F1 90 30 50 10 7

F2 70 30 40 60 9

F3 40 8 70 20 18

Demand 5 8 7 14

(ii) Solve the following L.P.P. by graphical method :

Max. Z = 0.40x1 + 0.30x2

Subject to : x1 + x2 ≤ 800

2x1 + x2 ≤ 1000

x1 ≤ 400

x2 ≤ 700

x1, x2 ≥ 0.

(B) Attempt any one of the following : [10]

(i) Find the optimal solution of the following L.P.P. using

Big M method :

Max. Z = 3x1 – x2

Subject to : 2x1 + x2 ≤ 2

x1 + 3x2 ≥ 3

x2 ≤ 4

x1, x2 ≥ 0.
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(ii) Find the dual of the following L.P.P. and solve it by

Simplex method to obtain solution of primal L.P.P. :

Min. Z = 4x1 + 6x2

Subject to : x1 + 2x2 ≥ 80

3x1 + x2 ≥ 75

x1, x2 ≥ 0.

3. (A) Attempt any one of the following : [8]

(i) The XYZ Company has five jobs I, II, III, IV, V to be

done and 5 men A, B, C, D, E to do these jobs. The

number of hours each man would take to accomplish each

job is given by the following table :

A B C D E

I 16 13 17 19 20

II 14 12 13 16 17

III 14 11 12 17 18

IV 5 5 8 8 11

V 5 3 8 8 10

Find the minimum time to accomplish the jobs.

(ii) Solve the following Transportation problem by VAM method

(Maximization TP) :

A B C D E Amount

Available

1 80 90 60 75 100 80

2 55 65 40 60 50 60

3 30 25 30 50 20 75

4 15 12 25 35 10 80

Max. Invest. 75 60 50 80 100
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(B) Attempt any one of the following : [8]

(i) Solve the following game by graphical method :

Player B

B1 B2 B3 B4 B5

Player A
A1 2 –1 5 –2 6

A2 –2 4 –3 1 0

(ii) Find the optimum sequencing for the following problem

to minimize time and also obtain total elapsed time and

idle time for each machine :

Jobs Machine A Machine B Machine C

J1 13 8 13

J2 8 9 12

J3 12 10 11

J4 7 7 14

J5 10 6 15

J6 6 11 14

(Follow the order ABC)

4. (A) Attempt any one of the following : [6]

(i) A new tempo costs Rs. 80,000 and may be sold at the

end of any year at the following prices :

Year Operating Cost Resale Value

1 10,000 50,000

2 12,000 33,000

3 15,000 20,000

4 20,000 11,000

5 30,000 6,000

6 50,000 1,000

What is the age to sell tempo so as to minimize average

annual cost ?
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(ii) Draw a network diagrams of activities involved in the

project :

Activities Predecessors

A —

B A

C B

D B

E B

F C

G C

H F, G

I D, E, H

J I

(B) Attempt any one of the following : [10]

(i) Consider the problem :

Minimize f(X) = 2 2 2
1 2 3
x x x+ +

Subject to : g1(X) = x1 + x2 + 3x3 – 2 = 0

g2(X) = 5x1 + 2x2 + x3 – 5 = 0

Select the independent variable as x3 and solve it by

Jacobian method.

(ii) Find the critical path and calculate total float for each

event for the network given as :

Activity Duration

(Days)

1—2 2

1—3 2

1—4 1

2—6 4

3—7 5

3—5 8

4—5 3

5—9 5

6—8 1

7—8 4

8—9 3
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5. (A) Attempt any one of the following : [6]

(i) There are seven jobs, each of which has to go through

the machines A and B in the order AB. Processing time

in hours are given below as :

Jobs Machine A Machine B

1 3 8

2 12 10

3 15 10

4 6 6

5 10 12

6 11 1

7 9 3

Find the optimum sequence of jobs and total elapsed

time.

(ii) Determine the extreme point of the function :

( ) 2 2 2
1 1 2 2 3 2

F X 12 8 4 .x x x x x x= − + − + −

(B) Attempt any one of the following : [10]

(i) The data on the running cost per year and resale price

of equipment A, whose purchase price is Rs. 2,00,000

are as follows :

Year Running Cost Resale Value

(R(n)) (Rs.)

1 30,000 1,00,000

2 38,000 50,000

3 46,000 25,000

4 58,000 12,000

5 72,000 8,000

6 90,000 8,000

7 1,10,000 8,000

(a) What is the optimum period of replacement ?
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(b) When equipment is one year old; equipment B which

is a new model for the same usage is available.

The optimum period for replacement is 4 years with

an average cost of Rs. 72,000. Should equipment

A be changed with equipment B ? If so, when ?

(ii) A project has the following activities and other

characteristics :

Activities Estimated Duration (Weeks)

(i—j) Optimistic Most likely Pessimistic

1—2 1 2 9

2—3 1 4 7

2—4 2 4 12

3—4 0 0 0

3—5 2 3 4

3—7 6 8 16

4—5 4 6 8

4—6 3 5 7

5—6 0.5 1 1.5

5—7 5 7 15

6—7 3 5 13

(a) Draw the network diagram for the project.

(b) Identify the critical path.

(c) Prepare the activity schedule for the project.
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MATHEMATICAL STATISTICS (General)

(Discrete Probability Distributions, Statistical Methods
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical tables is allowed.

(iv) Graph papers will be provided on request.

1. Attempt the following :

(A) State whether the following statements are True or False :

[1 each]

(i) The R-software is used to analysis statistical data.

(ii) Marks obtained by students is an example of time series.

(iii) In NBD, mean is greater than variance.

(iv) In multinomial distribution, the covariance between any two

variables is positive.

P.T.O.
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(B) Choose correct alternative for each of the following : [1 each]

(i) The distribution of sum of i.i.d. geometric r.v.s. is :

(a) Binomial

(b) Uniform

(c) Poisson

(d) Negative-binomial

(ii) The command in R-software as >q( ) used to :

(a) end R-programme

(b) quit R

(c) start R

(d) none of the above

(iii) The multiple correlation coefficient lies in the interval :

(a) [0 1]

(b) (0 1)

(c) [–1 1]

(d) (–1 1)
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(iv) The difference between actual and estimated value of response

variable is known as :

(a) Yield

(b) Residual

(c) Correlation

(d) None of the above

(C) Define the following terms : [2 each]

(i) Time series

(ii) Truncated distribution

(iii) Multiple correlation

(iv) Level of significance.

2. Attempt any four of the following : [4×4=16]

(a) Obtain the mgf of NBD. Hence or otherwise find its mean.

(b) Define truncated binomial distribution. Obtain its mean.

(c) Write the output of the following commands in R-programme :

(i) > z = c(3, 5, 6, 8)

(ii) > z = seq(–3, 2, by=0.5)

(iii) > z = rep (4, 4).
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(d) Write a note on features of R-software.

(e) If X is truncated B(7, 0.4) at zero, find P(X > 2) and prove

that :

E(XT) > E(X).

(f) Obtain the mean of truncated Poisson distribution at X = 0.

3. Attempt any four of the following : [4×4=16]

(a) A blood bank needs 4 donors of a blood group A. There are

20% of donors of blood group A. What is the probability that

8th donor will be the 4th one of group A ?

(b) Obtain the mgf of multinomial distribution. Hence or otherwise

find mean of ith variable of multinomial distribution.

(c) What is time series ? Describe any two components of time

series.

(d) Under certain conditions (to be stated), prove the Poisson

approximation to NBD.

(e) Show that the marginal distribution of multinomial distribution

is binomial.

(f) Describe any one method of estimation of trend in time series.
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4. Attempt any two of the following : [2×8=16]

(a) Derive the fitted equation of regression model for trivariate

data by method of least square.

(b) Define the following terms :

(i) A statistic

(ii) p-value

(iii) Null hypothesis

(iv) Critical region.

(c) Compute C.D.R. and S.T.D.R. for the population A and population

B from the following data. Use direct method of standardization

taking population B as standard. Also compare your result.

Age group in             Population A                 Population B

Years No. of No. of No. of No. of

Persons Deaths Persons Deaths

0–10 600 18 400 16

10–20 1000 5 1500 6

20–60 3000 24 2400 24

60–100 400 20 700 21

(d) Describe various methods of obtaining vital statistics.
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5. Attempt any one of the following : [1×16=16]

(a) (i) Define the terms inter arrival rate, service rate and traffic

intensity related to queuing model. [4]

(ii) Describe the procedure to draw a sample by SRSWR and

SRSWOR using R-software. [4]

(iii) Compute CBR, GFR, ASFR and TFR for the following

data :

Age Group Number of Women Number of Births

15–19 24000 800

20–24 20000 2400

25–29 15000 2000

30–34 12000 600

35–39 6000 120

40–44 4000 10

The total population is 186300. [8]

(b) (i) Describe the procedure to test single population

mean. [5]

(ii) Explain the use of R-software in t-test. [5]
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(iii) In a random sample of 800 persons from rural area 200

were found to be smokers. In a sample of 1000 persons

from urban area 350 were found to be smokers. Test whether

proportion of smokers is same for both populations.

Use 5% level of significance. [6]



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-2059

S.Y. B.A. EXAMINATION, 2015

ENGLISH (General)

Paper II

(Study of English Language and Literature)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :—

(i) Rainbow : A Collection of Short Stories.

 Ed. Board of Editors, Orient Blackswan

(ii) Linguistics : An Introduction.

Ed. Board of Editors, Orient Blackswan

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Attempt any one of the following in about 100 words each : [8]

(i) Write a note on short story as a form of literature.

(ii) Trace the development of a short story as a literary form.

P.T.O.
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(B) Attempt any one of the following in about 100 words each : [8]

(i) Analyse the three major characters in the story ‘The Three

Questions’.

(ii) Explain the significance of the title ‘The Bet’.

2. Write short notes on any four of the following in about 100 words

each : [16]

(i) Consonants in English

(ii) Places of Articulation

(iii) Front Vowels in English

(iv) Uses of Falling Tone

(v) Word Stress

(vi) Minimal Pairs.

3. Attempt any two of the of following in about 100 words each : [16]

(i) Comment on the ending of the story ‘After Twenty Years’.

(ii) What is the climax of the story ‘The Open Window’ ?

(iii) Discuss the role of the narrator in ‘Lawley Road’.

(iv) How do the two fathers contribute to the central theme of

‘Kabuliwallah’.
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4. Write notes on any two of the following in bout 100 words each : [16]

(i) Morphemes and Allomorphs

(ii) Types of bound morphemes

(iii) Process of prefixation

(iv) Morphology as a branch of linguistics.

5. Write notes on any two of the following in about 100 words each : [16]

(i) Spelling differences in British and American English

(ii) Code mixing

(iii) Register as a variety of language

(iv) Types of style.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-2060

S.Y. B.A. EXAMINATION, 2015

ENGLISH

(Special Paper I)

(APPRECIATING DRAMA)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :— (i) The Merchant of Venice by William Shakespeare.

(ii) A Doll’s House by Henrik Ibsen.

(iii) Old Stone Mansion by Mahesh Elkunchwar.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four of the following questions : [16]

(i) Explain the types of characters.

(ii) Explain in brief the three unities in drama.

(iii) What are the elements of drama ?

(iv) What is climax in a play ? Give illustrations.

(v) Explain the term ‘Tragi-Comedy’.

(vi) Write a note on Setting.
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2. Attempt any one of the following questions : [16]

(i) Discuss The Merchant of Venice as a Shakespearean comedy.

(ii) Critically analyze the character of Portia.

3. Attempt any two of the following questions : [16]

(i) Draw a character sketch of Torvald Helmer.

(ii) Discuss Ibsen as a dramatist of social realities in the light

of A Doll’s House.

(iii) Comment on the ending of A Doll’s House.

4. Attempt any two of the following questions : [16]

(i) Comment on the significance of setting in the play Old

Stone Mansion.

(ii) Discuss the theme of degeneration and destruction in Old

Stone Mansion.

(iii) Comment on the role of female characters in Old Stone

Mansion.
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5. Attempt any eight of the following questions : [16]

(i) Write a brief note on the use of stage properties in Old Stone

Mansion.

(ii) How does Mahesh Elkunchwar use humour and pathos in the

play Old Stone Mansion ?

(iii) Mention the flat characters in The Merchant of Venice.

(iv) What is the symbolic significance of palanquin in Old Stone

Mansion ?

(v) Does Shakespeare observe unity of time in The Merchant of

Venice ? Explain in brief.

(vi) Discuss the significance of the trial scene in The Merchant

of Venice.

(vii) Comment on humour in The Merchant of Venice.

(viii) What is the climax in A Doll’s House ?

(ix) Who is the antagonist in the play A Doll’s House ? Why ?

(x) What is the role of Christine Linde in A Doll’s House ?



P.T.O.
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S.Y. B.A. EXAMINATION, 2015

ENGLISH

Special Paper II

(Appreciating Poetry)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Auroral Musings.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) Discuss Shakespeare’s “Sonnet 130” as an unconventional

sonnet.

(ii) Comment on the violent imagery in ‘Batter My Heart’.

(iii) Consider “The Invocation” as a poem conveying Milton’s Christian

faith.

(iv) Bring out the significance of the title “The Coronet”.

(v) Discuss “Alexander’s Feast” as a Pindaric ode.

(vi) Describe the setting in Gray’s “Ode on the Death of a

Favourite Cat”.
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2. Answer any four of the following : [16]

(i) Bring out the ‘mock’ element of the ‘Toilet Scene’ from Pope’s

The Rape of the Lock.

(ii) Discuss Donne’s “Broken Heart” as a love poem.

(iii) Comment on the sound and sight imagery in “The Dover

Beach”.

(iv) What is the poet’s appeal to the west wind ?

(v) Bring out the significance of the title “The Tables Turned”.

(vi) Comment on the use of flash-back technique in “La Belle Dame

Sans Merci”.

3. Answer any two of the following : [16]

(i) Discuss the chief characteristics of Victorian Poetry.

(ii) What is ‘Lyric’ ? Discuss the qualities of a perfect lyric with

examples.

(iii) What do you understand by ‘Romantic Poetry’ ? Discuss its

chief characteristics.

4. Answer any two of the following : [16]

(i) Is Thomas Gray’s “On the Death of a Favourite Cat” an

elegy ? Why ?
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(ii) Discuss whether Hardy’s “The Oxen” supports superstition.

(iii) Bring out the symbolism used in Yeats’s “Sailing to

Byzantium”.

5. Explain with reference to the context any four of the following : [16]

(i) Drive my dead thoughts over the universe

Like withered leaves to quicken a new birth !

And, by the incantation of this verse,

Scatter, as from an unextinguished hearth

Ashes and sparks, my words among mankind !

(ii) Oh sir, she smiled, no doubt,

Whene’er I passed her; but who passed without

Much the same smile ? This grew; I gave commands;

Then all smiles stopped together.

(iii) If someone said on Christmas Eve,

“Come; see the oxen kneel,”

“In the lonely barton by yonder coomb

Our childhood used to know,”

I should go with him in the gloom,

Hoping it might be so.
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(iv) O sages standing in God’s holy fire

As in the gold mosaic of a wall,

Come from the holy fire, perne in a gyre,

And be the singing-masters of my soul.

(v) They reckon ill who leave me out;

When me they fly, I am the wings;

I am the doubter and the doubt,

I am the hymn the Brahmin sings.

(vi) And you, O My soul, where you stand,

Surrounded, surrounded, in measureless oceans of space,

Ceaselessly musing, venturing, throwing,—seeking the spheres, to

connect them;



P.T.O.
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S.Y. B.A. EXAMINATION, 2015

MATHEMATICS

(MG-2 : Discrete Mathematics and Linear Algebra)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(i) Construct a truth table of the following statement :

p ∨ (q ∧ r).

(ii) Write De Morgan’s Laws and Absorption Laws.

(iii) How many 3 digit numbers (with possible repetition) can be

formed with no digit less than 5 ?

(iv) State Inclusion-Exclusion principle for three sets.
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(v) If W1, W2 are subspaces of vector space V, then show that

W1 ∩ W2 is also a subspace of Y.

(vi) Let V, W be vector spaces over R. Let

T : V → W

be a linear transformation. Show that :

( )T 0 0= .

(vii) In R2,

( ) ( )1 2 1 2, , ,x x x y y y= = .

Define :

1 1 2 2,x y x y x y= − .

Is this an inner product on R2 ? Justify.

(viii) Give definition of orthogonal projection.

2. (A) Attempt any one of the following : [6]

(i) Explain method of contradiction and use it to prove

the following :

Prove that if n is an integer and 5n + 2 is even, then

n is even.
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(ii) State the Rule of Addition and hence solve the

following :

Suppose there are 5 junior colleges attached to senior

colleges, 6 junior colleges attached to schools and 7 separate

junior colleges. Then how many options are there to

Mr. Patil for taking admission to his son in a junior

college.

(B) Attempt any two of the following : [10]

(i) Express the negation of the following propositions

using quantifiers. Then write the negative in verbal

language :

(a) There is someone in this class who does not have

a good attitude.

(b) No one can keep a secret.

(ii) A family has 2 boys and 2 girls. There are 4 boys’ schools,

5 girls’ schools and 3 coed schools. In how many

different ways each of five children will go to different

schools ?
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(iii) A total 1232 students have taken a course in Spanish,

879 have taken a course in French, and 114 have taken

a course in Russian. Further, 103 have taken courses

in both Spanish and French, 23 have taken courses in

both Spanish and Russian and 14 have taken courses

in both French and Russian. If 2092 students have taken

at least one of Spanish, French and Russian, how many

students have taken a course in all three languages ?

3. (A) Attempt any one of the following : [8]

(i) How many positive integers not exceeding 1000 are divisible

by 7 or 5 or 3 or 2 ?

(ii) (a) How many solutions does the equation :

x1 + x2 + x3 = 11

have, where x1, x2, x3 are non-negative integers.

(b) Prove that :

          2n = nC0 + nC1 + ...... + nCn.
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(B) Attempt any one of the following : [8]

(i) If

{ }1 2B = , , ....., nu u u

is a basis of vector space V, then show that every

set with more than n vectors from V is linearly

dependent.

(ii) State and prove Cauchy-Schwartz inequality.

4. (A) Attempt any one of the following : [6]

(i) Let V, W be vector spaces over R. Let

T : V → W

be a linear transformation. Prove that T is injective if

and only if :

ker(T) = { }0 .
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(ii) Let V be an n-dimensional vector space, then prove

that :

(a) Any set with n linearly independent vectors in V

is a basis of V.

(b) Any set with n vectors which spans V is a basis

of V.

(B) Attempt any two of the following : [10]

(i) Show that :

{(1, 0, 0), (1, 1, 0), (1, 1, 1)}

spans R3.

(ii) Show that :

T(x, y) = (x + y, x – y)

is a linear transformation from R2 to R2.

(iii) Is

W = {(x, y)|x2 + y2 = 1}

a subspace of R2 ? Justify.
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5. (A) Attempt any one of the following : [6]

(i) Let V be an inner product space. For , , Vu v w ∈  and

α, β scalars, then show that :

(a)

, 0 0, 0u u= =

(b) , , ,u v w u v u wα + β = α + β .

(ii) Let V be a vector space and

T1, T2 : V → V

be linear transformations. Show that the set of all

linear transformations form a vector space by the following

operations :

(a) (T1 + T2) ( )v  = T1 ( )v  + T2 ( )v , Vv ∈

(b)

( ) ( ) ( )1 1T Tv v α = α  

,           α-scalar.

(B) Attempt any two of the following : [10]

(i) Show that :

{(1, 0, 0), (0, 2, 0), (0, 3 ,4)}

is a basis of R3.
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(ii) Let :

u  = (–1, 1, 2), 

v

 = (2, –1, 2),

then find

,

where <,> is Euclidean inner product on R3.

(iii) Consider R2 with Euclidean inner product. Use Gram-

Schmidt process to transform the basis

( ) ( ){ }1 21, 3 , 2, 2u u= − =

to an orthonormal basis of R2.
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S.Y. B.A. EXAMINATION, 2015

MATHEMATICS

(MS-1 : Problem Course Based on Papers MG-2 and AMG-2)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following : [16]

(a) Construct truth table for p ↔ q.

(b) How many non-emtpy collections are possible using 5 P’s and

6 Q’s ?

(c) Is W = {(x, y)|2x + 3y – 4 = 0} a subspace of R2 ? Justify.

(d) Are 
1U ( , )= 1 1  and 

2U ( , )= −1 1  orthogonal to each other ?

Justify.

(e) If ( , ) ,f x y x xy y= + +3 2 3
3 2  then find fx and fy.

(f) Find the critical points of the function ( , ) .f x y x y xy= − − +3 3
2 6

(g) Test the continuity of ( )f t  at t = 2, where :

     
,

( ) .

,

t
i t j t

f t t

i j t

 −
+ ≠

= −
 + =

3

2

2

8
2

4

3 4 2

(h) Find the length of the helix ( ) cos sinr t ti tj tk= + +  from

t = 0  to t = 2π.

P.T.O.
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2. (A) Attempt any one of the following : [6]

(i) Write negation of :

(a) ∃x (p(x) ∧  Q(n)).

(b)  [∃x p(x) ∧  Q(n)).

(ii) The numbers 1 to 10000 are written on a paper. Find

how many times the digit 3 is written.

(B) Attempt any two of the following : [10]

(i) Find approximate value of  using

differentials.

(ii) Find the maximum and minimum values of ( , , )f x y z =

x y z

 on the sphere 

x y z
(iii) Expand ( , )f x y x y y= + −2

3 2  in powers of x – 1 and

y + 2.

3. (A) Attempt any one of the following : [6]

(i) Find the number of positive integers less than 30, which

are relatively prime with 30, by using Inclusion-Exclusion

principle.

(ii) Evaluate :

R

,
y

dydx
x∫∫

where R is the region bounded by x = 2, x = 4,

y = x and y = 2x.
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(B) Attempt any one of the following : [10]

(i) Use Gram-Schmidt porcess to convert a basis

{ }U ( , , ), U ( , , ), U ( , , )= = =
1 2 3

1 0 0 1 1 0 1 1 1  of R3 into ortho-

normal basis of R3.

(ii) Evaluate 
S

x dydz x y dz dx x z dx dy+ +∫∫ 3 2 2

 by using diver-

gence theorem, where S is the closed surface

bounded by the planes ,z z b= =0  and the circle

.x y a+ =2 2 2

4. (A) Attempt any one of the following : [6]

(i) Verify Cayley-Hamilton theorem for :

A = .

 
 
 
 
 
 − − − 

2 1 1

2 3 4

1 1 2

(ii) Let P2 be a vector space with inner product

,p q< > =  

( ) ( ) ,p x q x dx
−
∫
1

1

 , .p q p∀ ∈
2

 Find | | p | | for

p = 1 – x.

(B) Attempt any two of the following : [10]

(i) Prove that the set {(1, 0, 1), (1, 1, 0), (0, 1, 1)} is linearly

independent in R3.

(ii) Find ker(T) and Im(T), if T = R2 → R2 is given by

T(x, y) = (x + y, x).

(iii) Verify Rank-Nullity theorem for :

T = R3 → R3 given by T(x, y, z) = (x + y + 2z,

x + z, 2x + y + 3z).
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5. (A) Attempt any one of the following : [6]

(i) Find the acute angle between the tangents to the

curve ( )r t t i tj t k= + −2 21
2

2
 at the points t = 1 and

t = – 3.

(ii) Evaluate :

      
C

( ) ( )xy x dx x y dy− + +∫ 2 2
2

using Green’s theorem, where C is the closed curve of

the region bounded by y = x2 and y = x.

(B) Attempt any two of the following : [10]

(i) Show that :

        F = ( ) ( )x y x i xy y j− + − +2 2
2

is conservative and find the scalar potential of F .

(ii) Find the curvature k for the curve ( ) cos sin .r t ti tj= +2 2

(iii) A particle moves along the curve ( ) ( )r t t i t t j= + − +2 2
2 4

( )t k−3 5 . Find its velocity and acceleration at t = 1 in

the direction of the vector .n i j k= − +3 2
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1. Attempt each of the following : [16]

(a) Prove that if n is odd, then n2 – 1 is divisible by 8.

(b) Find a complete residue system mod 17 which consists of only

multiples of 3.

(c) Determine the number of solutions to the congruence

15x ≡ 25(mod 35).

(d) Evaluate σ(400) and φ(400).

(e) A square of side ‘a’ units is transformed under a 2 × 2

transformation matrix 
2 1

2 3

 
 
 
 

 into a parallelogram of area

196 sq. units. Find value of ‘a’.

(f) Define Isometric projection.
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(g) Find the value of δθ to generate 16 points on the parabolic

segment in the first quadrant for 8 ≤ y ≤ 28, where the

equation of parabola is y2 = 8x.

(h) Write any two properties of Bézier curve.

2. (A) Attempt any one of the following : [6]

(i) State and prove fundamental theorem of Arithmetic.

(ii) State and prove Wilson’s theorem.

(B) Attempt any two of the following : [10]

(i) Find g.c.d. of 1109 and 4999. Also find m, n ∈ Z such

that :

(1109, 4999) = 1109m + 4999n.

(ii) Find the remainder if 7202 + 11800 is divided by 101.

(iii) Prove that :

( )
2

|

.

d n

d n

d n=∏

3. (A) Attempt any one of the following : [8]

(i) Let p be an odd prime. Prove that :

(a) ( )
1

2 mod

p
a

a p
p

−
 

≡  

(b)
a b ab

p p p

     
=          

(c) a ≡ b(mod p) implies that 
a b

p p

   
=      

(d) If (a, p) = 1, then 
2a

p

 
 
 

 = 1.
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(ii) Find the least positive integer such that x ≡ 1(mod 3),

x ≡ 1(mod 5) and x ≡ 1(mod 7).

(B) Attempt any one of the following : [8]

(i) Derive iterative formula to generate n uniformly spaced

points on the hyperbola :
2 2

2 2
1.

x y

a b
− =

(ii) Find the parametric equation of a Bézier curve

determined by control points B0[–2, –3], B1[–1, 2],

B2[3, 5], B3[6, 2] and find the position vectors on the

curve corresponding to parameter value t = 0.37,

0.65 and 0.2.

4. (A) Attempt any one of the following : [6]

(i) Suppose a line AB having slope m is transformed

to line segment A*B* under 2 × 2 transformation

matrix :

[T] = 
a b

c d

 
 
 
 

,

then prove that slope of segment A*B* is :

m* = 
b dm

a cm

+
+

.



[4701]-2064 4

(ii) Find trimetric projection matrix using rotation about

y-axis through angle 35º and rotation about x-axis through

angle 70°. Also find foreshortening factors.

(B) Attempt any two of the following : [10]

(i) Find the concatenated transformation matrix for rotation

about the Point [–2, 5] by 35°. Apply this onto the line

segment AB where A = [1, 1], B = [3, –2].

(ii) Find the concatenated transformation matrix for the

following sequence of transformations :

(a) Shearing in x direction by 2 units.

(b) Uniform scaling by 5 units.

(c) Rotation about origin through an angle 60°.

(iii) If the lines L1 : 2x + y = 4 and L2 : 7x – 2y = 3

are transformed to *
1L  and *

2L  under the transformation

3 1

2 4

 
 
 − 

. Find the point of intersection of *
1L  and *

2L .

5. (A) Attempt any one of the following : [6]

(i) Write an algorithm for reflection through an arbitrary

plane in space.

(ii) Generate uniformly spaced 5 points on the circle

x2 + y2 = 16.
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(B) Attempt any two of the following : [10]

(i) Find the concatenated transformation matrix for

translation in x, y and z directions by 2, –1, 5 units

respectively followed by reflection in x = 0 plane

followed by perspective projection onto y = 0 plane from

centre of projection [0, 10, 0].

(ii) Develop the cavalier and cabinet projection for α = 65°

of the point A[1 2 2].

(iii) Find the concatenated transformation matrix for

reflection through the line x = 3. Apply it on the position

vector [–5, 2].
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1. Attempt the following :

(a) State whether the following statements are true (T) or

false (F) : [1 mark each]

(i) If A and B are the two events defined on sample

space Ω and if A and B are mutually exclusive events

then :

P(A ∪ B) = P(A) + P(B) – P(A) · P(B).

(ii) Complete independence implies pairwise independence.
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(iii) If A and B are two events defined on Ω, such that

B ⊂ A, then P(A|B) = 1.

(iv) R1.23 is the maximum correlation between X1 and the

linear combination of X2 and X3.

(b) Choose correct alternatives for the following : [1 mark each]

(i) If A and B are two events defined on sample space

Ω, then which of the following is true ?

(I) P(A ∪ B) ≤ P(A) + P(B)

(II) P(A ∪ B) ≥ P(A) + P(B)

(III) P(A ∪ B) < P(A)

(IV) P(A ∪ B) < P(B)

(ii) A measure of extent of linear relationship between X1

with the other variables X2 and X3 is given by :

(I) simple correlation

(II) multiple correlation

(III) partial correlation

(IV) simple regression

(iii) The probability of drawing one white ball randomly

from a bag containing 6 red, 4 white and 10 yellow

balls is :

(I) 1/5

(II) 1/20

(III) 1/4

(IV) 2/5
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(iv) If A and B are two events defined on sample space

Ω and if A and B are independent, then :

(I) P(A|B) = P(A)

(II) P(A|B) = P(A) · P(B)

(III) P(A|B) = P(B)

(IV) P(A|B) = P(A)/P(B)

(c) Answer in brief : [2 marks each]

(i) Explain the term ‘General Fertility Rate’.

(ii) Define covariance and correlation coefficient (ρ) for a two-

dimensional discrete random variable.

(iii) Define Poisson distribution. Also state the additive property

of Poisson distribution.

(iv) Explain the meaning of time series, also state the various

components of time series.

2. Attempt any four of the following : [4×4=16]

(a) In how many ways can the letters of the word ‘ORANGE’

be arranged ? How many of these arrangements will :

(i) start with ‘A’,

(ii) end with ‘N’.
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(b) A random variable X follows binomial distribution with

parameters n and p. If E(X) = 4 and V(X) = 2.4, find

P(X ≤ 6).

(c) Explain pair-wise independence and complete independence in

case of three events.

(d) Explain with one illustration each :

(i) Sample space,

(ii) Elementary event.

(e) State the additive and multiplicative models of time series

and explain the terms involved in it.

(f) Define :

(i) Multiple correlation coefficient (Ri.jk)

(ii) Partial correlation coefficient (rij.k).

3. Attempt any four of the following : [4×4=16]

(a) Define a discrete uniform distribution. State its mean and

variance. State any two real life situations where it is

applied.

(b) The following is the probability distribution of X :

X 0 1 2 3

P[X = x] 4C 10C 8C C

find C. Also calculate E[2X + 6].
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(c) Define :

(i) two-dimensional discrete random variable,

(ii) probability mass function (p.m.f.) of a two-dimensional

discrete random variable.

(d) Explain the following terms :

(i) Crude Death Rate (CDR);

(ii) Age-Specific Death Rates (ASDR).

(e) Consider the following sample space :

Ω = {a, b, c, d, e, f, g, h}

Let A = {c, d, e, f}, B = {d, e, f, g, h}

C = {g, h}.

List the elements of the following events :

(i) A ∩ B

(ii) A′ ∩ B

(iii) B ∪ C

(iv) A′ ∪ B ∩ C.

(f) Let X → P(m), P(X = 1) = 0.03, P(X = 2) = 0.2. Calculate

P(X = 0) and P(X = 3).

4. Attempt any two of the following : [2×8=16]

(a) Explain the method of estimating trend by the method of moving

averages.
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(b) The mean, standard deviation and correlation coefficients

obtained for three characteristics X1, X2 and X3 are given

below :

1X  = 28.2 σ1 = 4.42 r12 = 0.8

2X  = 4.91 σ2 = 1.10 r13 = 0.4

3X  = 594 σ3 = 85 r23 = 0.56

(i) Obtain the equation of plane of regression of X1 on X2

and X3.

(ii) Estimate X1 when X2 = 5.64 and X3 = 600.

(c) The joint probability distribution of (X, Y) is given below :

X
Y

1 2 3

0 0.1 0.3 0.2

1 0.1 0.2 0.1

Obtain conditional variance of X given Y = 2.

(d) Define Binomial distribution. Derive the Expression for E(X)

and V(X) of binomial distribution.

5. Attempt any one of the following : [1×16=16]

(a) (I) Explain the following terms :

(i) Gross Reproduction Rate (GRR)

(ii) Net Reproduction Rate (NRR) [8]

(II) Define cumulative distribution function of a univariate

discrete random variable and also state its properties. [8]
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(b) (I) For the following joint probability distribution of (X, Y),

compute correlation coefficient between X and Y : [8]

X
Y

0 1 2

0 1/6 0 1/12

1 1/4 1/3 1/6

(II) Give the classical definition of probability and state its

limitations. [4]

(III) Explain the term ‘time series’. Also state the Autoregression

model. [4]
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1. Answer any two of the following : [20]

(i) Symbolize the following propositions with the help of the symbols

given in brackets (any five) :

(a) All that glitters is not gold.

(Gx-x glitters, Ax-x is gold)

(b) Not all snakes are poisonous

(Sx-x is a snake, Px-x is poisonous)

(c) All uniform and raincoats are washable

(Ux-x is a uniform, Rx-x is a raincoat, Wx-x is washable)

(d) Some students are sincere and hardworking

(Sx-x is a student, Ix-x is sincere, Hx-x is hardworking)

P.T.O.
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(e) All fruits and vegetables are delicious and nutritious

(Fx-x is a fruit, Vx-x is a vegetable, Dx-x is delicious,

Nx-x is nutritious).

(f) Any student can apply for the job if he has a first

class.

(Sx-x is a student, Ax-x can apply for the job,

Fx-x has a first class).

(ii) Explain the structure of a relational proposition using relevant

examples and state the kinds of relational propositions according

to the number of relata.

(iii) Explain the validity and use of the revised rule of existential

instantiation using appropriate examples.

(iv) Prove validity of the following arguments (any two) :

(a) (x) [Px ⊃ (Mx . Hx)]

(x) ~ (Mx . Hx) / ∴ (x) ~ Px

(b) (x) (Ax ⊃ Bx)

~ BC / ∴ ~ AC

(c) (x) (Nx ⊃ Ox)

(x) (Px ⊃ Ox) / ∴ (x) [(Nx ∪ Px) ⊃ Ox]

(d) (x) (Kx ⊃ Lx)

(x) [(Kx . Lx) ⊃ Mx] / ∴ (x) (Kx ⊃ Mx).
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2. Answer any two of four : [20]

(i) Symbolize the following propositions with the help of the symbols

given in brackets (any five) :

(a) If something is missing, then, if nobody calls the police,

it will not be recovered.

(Mx-x is missing, Cx-x calls the police, Rx-x will be recovered,

Px-x is a person)

(b) If any mangoes are yellow, then if all yellow mangoes

are ripe, they are ripe.

(Mx-x is a mango, Yx-x is yellow, Rx-x is ripe)

(c) Everything attracts everything.

(Axy-x attracts y)

(d) Whoever visited the building was observed

(Vx-x visited the building, Oxy-x observed y)

(e) Whoever likes David, likes Tom. (d, t, Lxy-x

likes y)

(f) If any survivors are women, then if all women are fortunate,

they are fortunate. (Sx-x is a survivor, Wx-x is a woman,

Fx-x is fortunate).
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(ii) Explain in detail the method of proving invalidity of an invalid

argument using an appropriate example.

(iii) Explain fully the notion of a propositional function and state

the methods of obtaining propositions from prepositional

function.

(iv) Prove validity of any two of the following arguments :

(a) (∃x) Lx ⊃ (y) My / ∴ (x) [Lx ⊃ (y) My]

(b) (x) (Ax ⊃ ~ Cx) / ∴ Wa ⊃ [(x) (Wx ⊃ Cx) ⊃ ~ Aa]

(c) (x) (Ax ⊃ Gx)

(x) (Cx ⊃ Hx) / ∴ (x) (Gx ⊃ Cx) ⊃ (y) (Ay ⊃ Hy).

(d) All pets are gentle. Therefore if any dogs are excitable

and no excitable dogs are gentle, they are not pets

(Px-x is a pet, Gx-x is gentle, Dx-x is a dog, Ex-x is

excitable)

3. Answer any one of the following : [20]

(i) Prove invalidity of any four of the following arguments :

(a) (∃x) (Cx . Dx)

(∃x) (Cx . Ax) / ∴ (∃x) (Dx . Ax)
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(b) (x) (Ax ⊃ Bx)

Bj / ∴ Aj

(c) (∃x) (Kx . Lx)

(∃x) (~ Kx . ~ Lx) / ∴ (∃x) (Lx . ~ Kx)

(d) (x) (Kx ⊃ ~ Lx)

(∃x) (Mx . Lx) / ∴ (x) (Kx ⊃ ~ Mx)

(e) (x) (Px ⊃ Qx)

(∃x) (Rx . Qx) / ∴ (x) (Px ⊃ Rx)

(f) All girls are intelligent. No girl is smart. Therefore no

intelligent (person) is smart.

(Gx-x is a girl, Ix-x is intelligent, Sx-x is

smart).

OR

(i) Prove any four of the following theorems with the help of

the axioms given below :

Axioms :

(a) (p ∨ q) ⊃ p

(b) P ⊃ (p ∨ q)

(c) (p ∨ q) ⊃ (q ∨ p)

(d) [p ∨ (q ∨ r)] ⊃ (q ∨ (p ∨ r)]

(e) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)].
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Theorems :

|— (p ⊃ ~ p) ⊃ ~ p

|— p ⊃ ~ ~ p

|— p ∨ ~ p

|— p ⊃ p

|— (p ⊃ q) ⊃ ((q ⊃ r) ⊃ (p ⊃ r))

|— (p ⊃ (q ⊃ r)) ⊃ (q ⊃ (p ⊃ r))

(ii) (a) State and explain the properties of dyadic relations.

[10]

(b) Why is it necessary to revise the preliminary quantification

rules ? Demonstrate using the example of rule

of UG. [10]

OR

(i) Prove any four of the following arguments valid :

(a) Alice is Betty’s mother, Betty’s Charlene’s mother. Therefore,

if Charlene loves only her mother, then she does not

love Alice. (a-alice, b-betty, c-charlene, Mxy-x is the mother

of y, Lxy-x loves y).

(b) (x) (Cab ⊃ Dxb)

(∃x) Dxb ⊃ (∃y)Dby

∴ (∃x) Cax ⊃ (∃y)Dby.
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(c) (x) (Cx ⊃ Fx)

∴ (x) (y) [(Cx . Dyx) ⊃ (∃z) (Fz . Dyz)]

(d) (x) [(∃y) Byx ⊃ (z) Bxz]

∴ (y) (z) (Byz ⊃ Bzy)

(e) (∃x) [Mx . (y) (My ⊃ Dyx)]

∴ (∃x) (Mx . Dxx).

(f) Helen likes David. Whoever likes David likes Tom. Helen

likes only good-looking men. Therefore, Tom is a good

looking man (Gx-x is a good-looking man, Lxy-x likes y,

h-helen, d-david, t-tom).

4. Write short notes on any four of the following : [20]

(i) Need for predicate logic

(ii) Independence as a characteristic of P.M. system

(iii) Universal and existential quantifiers

(iv) Nature of Multiply General Proposition

(v) Enthymematical argument

(vi) Identify as a dyadic relation.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksukaph mŸkjs +|k %  [20]

(i) dalkr fn«sY;k fpUgkapk okij d:u [kk«h« fo/kkus fpUgkafdr djk (dks.krhgh

ikp) %

(a) ped.kkÚ;k loZp xks"Vh lksus ulrkr-

(Gx-x pedrs] Ax-x lksus)

(b) loZp lki fo"kkjh ulrkr

(Sx-lki] Px-x fo"kkjh)

(c) loZ x.kos"k o jsudksV /kwrk ;s.;klkj[ks vlrkr-

(Ux-x x.kos"k] Rx-x jsudksV] Wx-x /kwrk ;s.;klkj[ks)

(d) loZ fo|kFkhZ izkekf.kd o esgurh vlrkr

(Sx-x fo|kFkhZ] Ix-x izkekf.kd] Hx-x esgurh)

(e) loZ Qˇs o HkkT;k ikSf"Vd o pfo"V vlrkr

(Fx-x Q̌ ] Vx-x Hkkth] Dx-x pfo"V] Nx-x ikSf"Vd)
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(f) dks.krkgh fo|kFkhZ tj izFke Js.kh feˇk«h vls« rj ·k dkeklkBh

vtZ d: ðkdrks

(Sx-x fo|kFkhZ] Fx-x izFke Js.kh feˇk«s«k] Ax-x vtZ d:

ðkdrks)

(ii) laca/kokph fo/kkukph jpuk lkaxwu laca/kdkjdkaP;k la[;suqlkj gks.kkjs R;kps izdkj

Li"V djk-

(iii) vfLrRookph mnkgj.khdj.kkP;k fu;ekP;k lq/kkfjr vko`Rrhph oS/krk vkf.k okij

;ksX; mnkgj.kk}kjs Li"V djk-

(iv) [kk«h«iSdh dks.kR;kgh nksu ;qfDroknkaph ;qDrrk fln~/k djk %

(a) (x) [Px ⊃ (Mx . Hx)]

(x) ~ (Mx . Hx) / ∴ (x) ~ Px

(b) (x) (Ax ⊃ Bx)

~ BC / ~ AC

(c) (x) (Nx ⊃ Ox)

(x) (Px ⊃ Ox) / ∴ (x) [(Nx ∪ Px) ⊃ Ox]

(d) (x) (Kx ⊃ Lx)

(x) [(Kx . Lx) ⊃ Mx] / ∴ (x) (Kx ⊃ Mx).
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2. [kk«h«iSdh dks.kR;kgh nksukaph mŸkjs f«gk % [20]

(i) dalkr fn«sY;k fpUgkapk okij d:u [kk«h« fo/kkus fpUgkafdr djk (dks.krsgh

ikp) %

(a) tj dkgh gjo«s] rj] tj dks.kh iksf«lkauk cks«ko«s ukgh rj rs ijr

feˇ.kkj ukgh- (Mx-x gjo«s vkgs] Cx-x iksf«lkauk cks«orks] Rx-x

ijr fe š«] Px–x O;Drh vkgs)

(b) tj dks.krsgh vkacs fio š vlrh« rj] tj loZ fio š vkacs fid«s«s

vlrh«] rj rs fid«s«s vlrh«-

(Mx-x vkack vkgs] Yx-x fio ǩ vkgs] Rx-x fid«s«k vkgs)

(c) loZ xks"Vh loZ xks"Vhauk vkdf"kZr djrkr-

(Axy-x gs y «k vkdf"kZr djrs)

(d) tks dks.kh bekjrhe/ks xs«k R;kP;koj «{k Bso«s xs«s-

(Vx-x bekjrhe/ks xs«k] Oxy-x us y oj «{k Bso«s)

(e) T;k«k MsfOgM vkoMrks] R;k«k VkWe vkoMrks-

(d&MsfoM] t&VkWe] Lxy-x «k y vkoMrks)
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(f) tj okp«s«s dks.kh (O;Drh) L=h;k vlrh«] rj] tj loZ L=h;k uðkhcoku

vlrh«] rj R;k uðkhcoku vlrh«- (Sx-x okp«s«k vkgs] Wx-x

L=h vkgs] Fx-x uðkhcoku vkgs)

(ii) v;qDr ;qfDroknkaph v;qDrrk fln~/k dj.;kph iºrh ;ksX; mnkgj.kka}kjs Li"V

djk-

(iii) fo/kkuh; Q«ukph ladYiuk Li"V d:u fo/kkuh; Q«ukiklwu fo/kkus laiknu

dj.;kP;k in~/krh foðkn djk-

(iv) [kk«h«iSdh nksukaph ;qDrrk flº djk %

(a) (∃x) Lx ⊃ (y) My / ∴ (x) [Lx ⊃ (y) My]

(b) (x) (Ax ⊃ ~ Cx) / ∴ Wa ⊃ [(x) (Wx ⊃ Cx) ⊃ ~ Aa]

(c) (x) (Ax ⊃ Gx)

(x) (Cx ⊃ Hx) / ∴ (x) (Gx ⊃ Cx) ⊃ (y) (Ay ⊃ Hy).

(d) loZ ikˇho izk.kh eok« vlrkr- Eg.kwu tj dkgh dq=h mRlkgh vlrh«

vkf.k dqB«hgh mRlkgh dq=h eokˇ ulrh«] rj rs ikˇho izk.kh ukghr-

(Px-x ikˇho izk.kh vkgs] Gx-x eoǩ  vkgs] Dx-x dq=k vkgs]

Ex-x mRlkgh vkgs)-
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3. dks.kR;kgh ,dk izðukps mŸkj |k % [20]

(i) dks.kR;kgh pkjkaph v;qDrrk flº djk %

(a) (∃x) (Cx . Dx)

(∃x) (Cx . Ax) / ∴ (∃x) (Dx . Ax)

(b) (x) (Ax ⊃ Bx)

Bj / ∴ Aj

(c) (∃x) (Kx . Lx)

(∃x) (~ Kx . ~ Lx) / ∴ (∃x) (Lx . ~ Kx)

(d) (x) (Kx ⊃ ~ Lx)

(∃x) (Mx . Lx) / ∴ (x) (Kx ⊃ ~ Mx)

(e) (x) (Px ⊃ Qx)

(∃x) (Rx . Qx) / ∴ (x) (Px ⊃ Rx)

(f) loZ eq«h cqfn~/keku vlrkr- dqB«hgh eq«xh prqj ulrs- Eg.kwu dqB«hgh

prqj O;Drh cqfn~/keku ulrs- (Gx-x eq«xh vkgs] Ix-x cqfn~/keku vkgs]

Sx-x prqj vkgs)-
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fdaok

(i) [kk«h«iSdh dks.krhgh pkj izes;s ew«k/kkjkaP;k vk/kkjs fln~/k djk %

ew«k/kkj %

(a) (p ∨ q) ⊃ p

(b) p ⊃ (p ∨ q)

(c) (p ∨ q) ⊃ (q ∨ p)

(d) [p ∨ (q ∨ r)] ⊃ (q ∨ (p ∨ r)]

(e) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)].

izes;s %

|— (p ⊃ ~ p) ⊃ ~ p

|— p ⊃ ~ ~ p

|— p ∨ ~ p

|— p ⊃ p

|— (p ⊃ q) ⊃ ((q)r) ⊃ (p)r)

|— (p ⊃ (q ⊃ r)) ⊃ (q ⊃ (p ⊃ r))

(ii) (a) fn~oRo laca/kkph oSfðk"VÓs Li"V djk- [10]

(b) mnkgj.khdj.k o lkekU;hdj.kkP;k fu;ekaP;k lq/kkfjr vko`Rrhph vkoð;drk

dk; \ loZokph lkekU;hdj.kkP;k fu;ekP;k vk/kkjs Li"V djk-

[10]
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fdaok

(i) dks.kR;kgh pkj ;qfDroknkaph ;qDrrk flº djk %

(a) vWf«l gh csV~Vh ph vkbZ vkgs- csV~Vh gh ðkk«hZuph vkbZ vkgs- Eg.kwu]

tj ðkk«hZu QDr frP;k vkbZojp izse djrs] rj rh vWf«loj izse

djr ukgh- (a&vWf«l] b&csV~Vh] c&ðkk«hZu] Mxy-x gh y ph vkbZ

vkgs] Lxy-x gh y oj izse djrs).

(b) (x) (Cab ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby / ∴ (∃x) Cax ⊃ (∃y) Dby

(c) (x) (Cx ⊃ Fx)  / ∴ (x) (y) [(Cx . Dyx) (∃z) (Fz . Dyz)]

(d) (x) [(∃y) Byx ⊃ (z) Bxz] / ∴ (y) (z) (Byz ⊃ Bzy)

(e) (∃x) [Mx . (y) (My ⊃ Dyx)] / ∴ (∃x) (Mx . Dxx).

(f) gs«u«k MsfOgM vkoMrks- T;k«k MsfOgM vkoMrks R;k«k VkWe vkoMrks-

gs«u«k QDr ns[k.ks iq#"k vkoMrkr- Eg.kwu VkWe ns[k.kk iq#"k vkgs-

(h&gs«u] d&MsfOgM] t&VkWe] Gx-x ns[k.kk iq#"k vkgs] Lxy-x «k y

vkoMrks)
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4. dks.kR;kgh pkjkaoj FkksMD;kr Vhik f«gk % [20]

(i) fo/ks;rdZðkkL=kph vkoð;drk

(ii) P.M. iz.kk«hps ,d oSfðk"VÓ % Lora=rk

(iii) loZokph vkf.k vfLrRookph la[;kids

(iv) cgqlkekU;okph fo/kkukps Lo:i

(v) fuxefudk

(vi) rknkRE;&,d f}Ro laca/k-
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SOCIOLOGY

Group A (G-2) : Population and Society
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N.B. :— (i) Attempt Group ‘A’ or Group ‘B’.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

Group A (G-2) : Population and Society

1. Answer the following questions in 100 words each (any four) : [20]

(1) Demographic Transition theory

(2) Causes of AIDS

P.T.O.
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No.
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(3) Concept of population education

(4) Relation between population and poverty

(5) Uses of census

(6) Meaning of population studies.

2. Answer the following questions in 200 words each (any

two) : [20]

(1) Explain the scope of population studies.

(2) Describe the pre-independence population policy.

(3) Explain the characteristics of population in India.

(4) Explain the factors of infant mortality in India.

3. Answer the following questions in 400 words each (any one) : [20]

(1) Explain the factors affecting on population growth.

(2) Explain the achievements and failures of family planning

programme in India.
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4. Write short notes (any four) : [20]

(1) Marxist perspective of population

(2) Human Development Report

(3) Concept of family welfare

(4) Socio-cultural factors of population

(5) Concept of sex education

(6) Growth of population in India.

OR

(Group B (G-2) : Introduction to Social Welfare and

   Social Legislation in India

1. Answer the following questions in 100 words each (any four) : [20]

(1) Concept of social welfare

(2) Meaning of social justice

(3) Meaning of social action

(4) Fundamental right

(5) National Commission for Women

(6) Integrated Child Development Scheme.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Discuss the meaning and characteristics of welfare state.

(2) Critically assess the Right to Education Act, 2011

(3) Explain Mid-day Meal Scheme and its impact on children.

(4) Discuss the role of NGO’s in dealing with the issues of the

marginalized group.

3. Answer the following questions in 400 words each (any one) : [20]

(1) Discuss the types and causes of violence against women.

(2) Describe the issues and problems of children in India.

4. Write short notes (any four) : [20]

(1) Types of human rights

(2) Components of social development

(3) Child Labour Act, 1986

(4) National Commission for Scheduled Castes

(5) Role of social movements in empowering women.

(6) The Criminal Law Act, 2013.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* izðuif=dk lksMokoh-

(ii) loZ izðu lksMfo.ks vkoð;d vkgs-

(iii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

(xV ^v*)

1. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) «ksdla[;k laÿe.k flºkar

(2) ,Ml~ph dkj.ks

(3) «ksdla[;k fðk{k.kkph ladYiuk

(4) «ksdla[;k vkf.k nkfjÊÓ ;karh« ijLij laca/k

(5) tux.kusps mi;ksx

(6) «ksdla[;k vH;klkpk vFkZ-

2. [kk«h« izðukaph izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) «ksdla[;k vH;klkph O;kIrh Li"V djk-

(2) Lokra´;iwoZ dkˇkrh« «ksdla[;k /kksj.k foðkn djk-

(3) Hkkjrkrh« «ksdla[;sph oSfðk"VÓs Li"V djk-

(4) Hkkjrkrh« vHkZd e`R;qph ?kVd Li"V djk-
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3. [kk«h« izðukaph izR;sdh 400 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) «ksdla[;k ok<hoj ifj.kke dj.kkjs ?kVd Li"V djk-

(2) Hkkjrkrh« dqVqac fu;kstu dk;Zÿekps ;ðk vkf.k vi;ðk Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) «ksdla[;spk ekDlZoknh n`f"Vdksu

(2) ekuoh fodkl vgok«

(3) dqVwac dY;k.kkph ladYiuk

(4) «ksdla[;sps lkekftd&lkaLœfrd ?kVd

(5) «Safxd fðk{k.kkph ladYiuk

(6) Hkkjrkrh« «ksdla[;k ok<-

fdaok

(xV ^c*)

1. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) lekt dY;k.k ladYiuk

(2) lkekftd U;k;kpk vFkZ

(3) lkekftd fÿ;spk vFkZ

(4) eq«Hkwr gDd

(5) jk"V™h; efg«k vk;ksx

(6) ,dkfRed ck« fodkl ;kstuk-
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2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) dY;k.kdkjh jkT;kpk vFkZ o oSfðk"VÓkaph ppkZ djk-

(2) fðk{k.k gDd dk;nk] 2011 ps fpfdRld ifj{k.k djk-

(3) ck«dkalkBhph e/;k� Hkkstu ;kstuk vkf.k R;kpk izHkko Li"V djk-

(4) lhekafrd leqgkP;k leL;kaph gkrkˇ.kh djrkauk Lo;alsoh la?kVukP;k Hkwfedsph

ppkZ djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) efg«kafo#ºkP;k vR;kpkjkaps izdkj o dkj.kkaph ppkZ djk-

(2) Hkkjrkrh« ck«dkaðkh lacaf/kr eqÌs o leL;k foðkn djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ekuoh gDdkps izdkj

(2) lkekftd fodklkps ?kVd

(3) ck« etqj dk;nk] 1986

(4) vuwlwfpr tkrhalkBhpk jk"V™h; vk;ksx

(5) efg«k lcˇhdj.kkr lkekftd pˇoˇhph Hkwfedk

(6) xqUgsxkjh dk;nk] 2013
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S.Y. B.A. EXAMINATION, 2015

SOCIOLOGY

(S-1 : Foundations of Sociological Thought)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Industrial Revolution

(2) Social facts

(3) Class struggle – Marx

(4) Indological perspective

(5) Concept of Sankritization

(6) Indian Nationalism.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Discuss the theory of social facts

(2) Explain the theory of social action

(3) Explain the development of Sociology in India

(4) Discuss the theory of caste by G.S. Ghurye.

3. Answer the following question in 400 words (any one) :  [20]

(1) Explain the theory of class struggle.

(2) Elaborate Dr. B.R. Ambedkar’s theory of origin of caste.

4. Write short notes (any four) :  [20]

(1) Positivism

(2) Alienation

(3) Social Action

(4) Colonial background

(5) Dominant caste

(6) Concept of religion.
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(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) vkS|ksfxd jkT;ÿkarh

(2) lkekftd rF;

(3) oxZ&la?k"kZ & ekDlZ

(4) izkP;fo|k n`"Vhdksu

(5) laLœrhdj.kkph ladYiuk

(6) Hkkjrh; jk"V™okn-

2. [kk«h« izðukaph izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) lkekftd rF; flºkarkoj ppkZ djk-

(2) lkekftd œrhpk flºkar Li"V djk-

(3) Hkkjrkrh« lektðkkL=kpk fodkl Li"V djk-

(4) th- ,l- ?kq;sZ ;kauh lkafxr«sY;k tkrhP;k flºkarkoj ppkZ djk-
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3. [kk«h« izðukps 400 ðkCnkar mŸkj f«gk (dks.krkgh ,d) %  [20]

(1) oxZ la?k"kkZpk flºkar Li"V djk-

(2) MkW- ch- vkj- vkacsMdjkapk tkrhP;k mRiŸkhpk flºkar foðkn djk-

4. fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) izR;{kokn

(2) v«xhdj.k

(3) lkekftd fÿ;k

(4) olkgroknkph ikðoZHkweh

(5) izHkkoh tkr

(6) /kekZph ladYiuk
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No. [4701]-2069

S.Y. B.A. EXAMINATION, 2015

SOCIOLOGY

(S-2 : Indian Society : Issues and Problems)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Nature of social problems

(2) Causes of caste discrimination

(3) Problem of sex selective abortion

(4) Displacement with examples

(5) Consequences of cyber crime

(6) Role of state dealing with social problems.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(1) Explain the causes of regional imbalance

(2) Describe the problems of religious minorities.

(3) State the meaning and causes of juvenile delinquency.

(4) Explain corporate crime with examples.

3. Answer the following question in 400 words (any one)  [20]

(1) Discuss the nature, causes and consequences of violence against

women.

(2) Explain the meaning, nature and causes of corruption in India.

4. Write short notes (any four) :  [20]

(1) Characteristics of social problems

(2) Nature of poverty

(3) Sexual violence

(4) Environmental degradation

(5) Causes of suicide among youth

(6) Health related problems of aged.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) lkekftd leL;kaps Lo:i

(2) tkrh fo"kersph dkj.ks

(3) fL= Hkzq.kgR;sph leL;k

(4) foLFkkiu mnkgj.kklg

(5) lax.kfd; (lk;cj) xqUgÓkaps ifj.kke

(6) lkekftd leL;kaph gkrkˇ.kh djrkauk jkT;kaph Hkwfedk-

2. [kk«h« izðukaph izR;sdh 200 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) izknsfðkd vlerks«kph dkj.ks Li"V djk-

(2) /kkfeZd vYila[;kdkaP;k leL;k foðkn djk-

(3) ck«xqUgsxkjhpk vFkZ o dkj.ks lkaxk-

(4) [kktxh {ks=krh« xqUgs mnkgj.kklag Li"V djk-
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3. [kk«h« izðukps 400 ðkCnkar mŸkj f«gk (dks.krkgh ,d) %  [20]

(1) efg«kafo#ºP;k vR;kpkjkaps Lo:i] dkj.ks o ifj.kkekaph ppkZ djk-

(2) Hkkjrkrh« Hkz"Vkpkjkpk vFkZ] Lo:i o dkj.ks Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) lkekftd leL;kaph oSfðk"VÓs

(2) nkfjÊÓkps Lo:i

(3) «Safxd vR;kpkj

(4) i;kZoj.kh; Úgkl

(5) ;qokae/kh« vkRegR;sps dkj.ks

(6) o;Ldkaðkh fuxMhr vkjksX;fo"k;d leL;k-
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No. [4701]-2070

S.Y. B.A. EXAMINATION, 2015

STATISTICS (DESCRIPTIVE)

(General—II)

(Sampling Techniques and Statistical Process Control)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt each of the following :

(a) State whether each of the following statements is True or

False : [1 each]

(i) AOQ of single sampling plan and double sampling plan

is always same.

(ii) If the regression of y on x is perfectly linear, then the

variance of regression estimate is zero.

(iii) SRSWOR is an equal probability sampling scheme.

(iv) In P chart, sample point below LCL is called high

spot.
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(b) In each of the following cases, choose the correct

alternative : [1 each]

(i) If a lot with high fraction defectives is rejected and

subsequently all defective pieces of the lot are replaced

by good pieces. After cent percent inspection of the lot

such a policy is known as :

(A) double sampling

(B) acceptance sampling

(C) rectifying sampling

(D) stratified sampling

(ii) In a stratified random sampling with 2 strata, the values

of Wi and Si are as follows :

Stratum Wi Si

1 0.2 5

2 0.8 10

If the total sample size is 1800, under Neyman’s allocation

sample sizes are :

(A) 1600,200

(B) 200,1600

(C) 900,900

(D) 1000,800
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(iii) When lot accepted on the basis of second sample in double

sampling plan, then total inspection is :

(A) n1

(B) n2

(C) n1 + n2

(D) N

(iv) With usual notations, if finite population correction (f.p.c.)

is ignored the relationship between the variances are :

(A) var ( )x SRSWOR ≥ var ( )stx P.A. ≥ var ( )stx N.A.

(B) var ( )x SRSWOR ≥ var ( )stx N.A. ≥ var ( )stx P.A.

(C) var ( )stx N.A. ≥ var ( )stx P.A. ≥ var ( )x SRSWOR

(D) var ( )stx P.A. ≥ var ( )stx N.A. ≥ var ( )x SRSWOR

(c) Answer in brief : [2 each]

(i) Write down the control limits for p-chart, when specified

fraction defective is p0.

(ii) State two advantages of double sampling plan.

(iii) Explain the sampling method SRSWOR.

(iv) State single and double inclusion probabilities, if a sample

of size n is drawn from a population of N units using

simple random sampling without replacement (SRSWOR)

method.
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2. Attempt any four of the following : [4×4=16]

(a) Define the following terms :

(i) AOQ

(ii) ATI

(iii) AOQL

(iv) ASN.

(b) Write a note on cause and effect diagram.

(c) The following data give yield in 25 plots :

    30, 35, 38, 45, 43, 41, 32, 36, 44, 33, 34, 40, 42,

 48, 44, 41, 43, 32, 35, 39, 49, 45, 42, 46, 48.

From the given data, draw a systematic sample of size 5 if

first selected observation is 35. Also obtain unbiased estimator

of population mean using your sample.

(d) In a population of 10000 units, population variance is 100.

What should be the size of the sample selected by SRSWOR

from this population so that 95% of the sample means may

differ from population mean by not more than 0.5 ?
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(e) Construct appropriate control chart for the following data :

Sample No. No. of Defects

1 6

2 5

3 4

4 5

5 2

6 3

7 4

8 2

9 4

10 5

(f) Explain the construction of OC curve in double sampling

plan.

3. Attempt any four of the following : [4×4=16]

(a) Distinguish between the specification limits and natural

tolerance limit.

(b) Consider a population of 5 units with values 5, 6, 8, 9, 2.

Write down all possible sample of size 2 without replacement

from this population and verify that :

( )E Yy = .
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(c) Define the following terms :

(i) Population

(ii) Sample

(iii) Sampling Frame

(iv) Sampling Unit.

(d) Write note on size of subgroup and frequency of subgroup

for the attribute control chart.

(e) For a double sampling plan with n1 = 50, c1 = 1, n2 = 100,

c2 = 2, p = 0.05. Compute probability of acceptance.

(f) Discuss the criterion for detecting lack of control in control

chart.

4. Attempt any two of the following : [2×8=16]

(a) Construct a p-chart, where use control limits based on average

sample size for the following data :

ni Di

200 14

180 10

200 17

120 8

300 20
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250 18

400 25

180 20

210 27

380 30

190 15

380 26

200 10

210 14

390 24

120 15

190 18

380 19

200 11

180 12

(b) Define ratio and regression estimator of population mean. State

any two properties of both estimators. Also state the expression

for variance of both estimators.

(c) (i) Distinguish between chance causes and assignable causes

of variation.

(ii) Write a note on Pareto diagram.
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(d) Define capability index Cp, Cpu, Cpl and Cpk for a stable

process. Also interpret the following :

(i) Cpk = 1

(ii) Cp = Cpk.

5. Attempt any one of the following : [1×16=16]

(a) (i) Write a note on CRL chart. Using CRL chart with

α = 5% and fraction defective is 1% comment on the

given data :

GGDGGGDGGGGGDGGDG.

(ii) For stratified sampling, explain proportional allocation. Also

show that the proportional allocation will always lead to

gain in precision over simple random sampling from the

whole population.

(b) From factory producing metal sheets, a sample of 5 sheets

is taken every hour and 10 such samples were taken. Draw
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a control chart for the following data :

Mean Range

0.025 0.025

0.032 0.048

0.042 0.012

0.022 0.012

0.028 0.039

0.01 0.01

0.025 0.006

0.04 0.046

0.026 0.01

0.025 0.032

Find the future limits for X  and R chart.

(Given : A2 = 0.577, d2 = 2.326, D3 = 0, D4 = 2.115).
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1. Attempt each of the following : [16]

(i) Show that :

2 2( , ) (0, 0)

2
lim
x y

xy

x y→ +

does not exist.

(ii) If

2 2log ( )u x y= + ,

show that :

2 2

2 2
0

u u

x y

∂ ∂
+ =

∂ ∂
.

P.T.O.
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(iii) If

( , )w f y x z y= − −

prove that :

(iv) Find directional derivative :

( , ) cos ( )yf x y x e x y= +

at the point (2, 0) in the direction of :

v = 3i – 3j.

(v) If

( ) cos sin ,f t ti tj tk= + +

find :

4

lim ( ).
t

f t
π

→

(vi) Find the unit tangent vector of the curve :

2( ) 2 cos 2 sin .r t t i tj t k= + +

(vii) Find curl of :

2 32 3 .f x y i y z j z k= + +
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(viii) If

(2 3) ( ) ( ) ,f y i xz j yz x k= + + + −

then evaluate :

C

( )f r dr∫

along the path :

2 3C : ( ) 2 jr t t i t t k= + +

from t = 0 to 1.

2. (A) Attempt any one of the following : [6]

(i) Let f be a real valued function defined on a neighbourhood

of (a, b). If f is differentiable at (a, b), then prove

that  :

(a) f is continuous at (a, b)

(b) fx(a, b) and fy(a, b) both exist

(ii) Find the maximum and minimum of :

3 3( , ) 12 3 5.f x y x y x y= + − − +
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(B) Attempt any two of the following : [10]

(i) Using ∈–

δ

 definition, prove that :

( , ) (0,0)

(ii) Find the directional derivative of :

2 2 2( , , ) 2 3f x y z x y z= + −  at (1, 1, 1)

in the direction of :

v i j k= + +

(iii) Sketch the region of integration and evaluate the

integral :

sin

0 0

x

y dy dx

π

∫ ∫

3. (A) Attempt any one of the following : [8]

(i) If u = f(x, y) is a differentiable function of x and y

and :

( )x t= φ and 

y t
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are differentiable function of t, then prove that the composite

function :

( ( ), ( ))u f t t= φ ψ

is a differentiable function of t and its total derivative

is given by :

.
du u dx u dy

dt x dt y dt

∂ ∂
= +

∂ ∂

(ii) Change the order of integration and evaluate :

0

I .
y

x

e
dydx

y

∞ ∞ −

= ∫ ∫

(B) Attempt any one of the following : [8]

(i) Let R be a simply connected plane region whose boundary

is a simple, closed, piecewise, smooth curve C oriented

counter clockwise. If M and N are continuous functions

of x and y having continuous partial derivatives in R, then

prove that :

C R

N M
M N .dx dy dxdy

x y

 ∂ ∂
+ = −  ∂ ∂∫ ∫∫�
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(ii) Verify Stokes’ theorem for the field :

F i jy x= −

over the hemisphere :

2 2 2S : 9, 0x y z z+ + = ≥

4. (A) Attempt any one of the following : [6]

(i) Prove that the field F  is conservative on D if and only

if :

F . 0dr =∫

around every closed loop in D.

(ii) Using Green’s theorem, evaluate :

2 2

C

( ) ( )x ye y dx e x dy+ + +∫�

where C is the boundary of the region between

2 andy x y x= = .

(B) Attempt any two of the following : [10]

(i) Find unit tangent vector ( )T  and principal unit normal

( )N  for the circular motion :

2( ) .i jr t t t= +
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(ii) Show that :

( cos 2 sin 2 )tr e a t b t−= +

where a, b are constant vectors is a solution of the differential

equation :

2

2
2 5 0.

d r dr
r

dtdt
+ + =

(iii) Show that :

3 2 2F 2 (1 3 )xy i x y j= + +

is conservative and find a potential function for it.

5. (A) Attempt any one of the following : [6]

(i) Let F  be a vector field whose components are continuous

through an open connected region D in space. If there

exists a differentiable function f such that F f= ∇ , then

prove that for all points A and B in D the value of

B

A

F . dr∫

is independent of the path from A to B in D.

(ii) By using parameterization find the surface area of a sphere

of radius a.
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(B) Attempt any two of the following : [10]

(i) Find arc length of the curve :

( ) cos sinr t t i t j tk= + +

from t = 0 to t = 2π .

(ii) Evaluate the integral :

C

∫

from (0, 0, 0) to (1, 1, 1) along the line segment C.

(iii) Find work done by the gradient of :

2( , ) ( )f x y x y= +

counterclockwise around the circle x2 + y2 = 4 from

(2, 0) to itself.
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1. Attempt any ten of the following : [20]

(i) Use logarithm to solve :

y = 950 × 80.

(ii) Express y = 27x into logarithm.

(iii) Define homogenous function.

(iv) Find the degree of homogenous function :

z = 8x + 9y.

(v) Find 
dy

dx
 if 

1

4y x= .

(vi) If :

u = x0.6 y0.3,

then find ux.
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(vii) Define indefinite integral.

(viii) Evaluate :

x dx∫

(ix) Write integration by parts formula.

(x) Evaluate :

4

1

10x dx∫ .

(xi) Write degree and order of :

2 6
dy

x
dx

= + .

(xii) Define exact differential equation.

(xiii) What is difference equation ?

2. Attempt any two of the following : [10]

(i) Find y = (1.06)10 using logarithm.

(ii) Find the future value of Rs. 1,000 at 6 percent for three

years when principal is compounded annually.

(iii) Find critical value of :

y = 2xe4x.

3. Solve any two of the following : [20]

(i) Use integration by parts to solve :

( )9
16

x
x e dx

− +∫
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(ii) Evaluate :

( )
2

22 3

1

5x x dx−∫

by method of substitution.

(iii) Solve differential equation :

(4y + 8t2)dy + (16yt – 3)dt = 0.

4. Solve any two of the following : [30]

(i) Explain COBWEB MODEL.

(ii) Solve Bernoulli equation :

3dy
y ty

dt
+ = .

(iii) State two properties of definite integral and show that :

3 2 3

2 2 2

1 1 2

5 5 5x x xxe dx xe dx xe dx+ + += +∫ ∫ ∫ .
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1. Attempt each of the following :

(a) State whether the following statements are Ture or False :

[1 each]

(i) P(A ∪ B) = P(A) + P(B) – P(A ∩ B)

(ii) If R1.23 = 1, then R2.13 = 1 and R3.12 = 1.

(iii) If X follows b(5, 0.6) distribution, then its mean is 3.5.

(iv) The probability mass function of a discrete random variable

X is :

P(x) = kx, x = 21, 22, ......., 30.

     = 0  otherwise

Then the value of k will be 1/10.



[4701]-2074 2

(b) Choose the correct alternative : [1 each]

(i) If the equation of plane of regression of X1 on X2 and

X3 is X1 = 20.5 + 3.2 * X2 + 0.56 X3, then estimate

of X1 when X2 = 20 and X3 = 72 will be :

(a) 124.82

(b) 125.92

(c) 20.5

(d) 112.5

(ii) Let A and B be any two events associated with an experiment.

Suppose that P(A) = 0.5 and P(A ∪ B) = 0.9 then what

will be the value of P(B) if events A and B are mutually

exclusive ?

(a) 0

(b) 0.4

(c) 0.45

(d) 0.5

(iii) If X follows Poisson distribution with mean 25, then

sd(X) is :

(a) 20

(b) 25

(c) 50

(d) 5
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(iv) For a discrete random variable X, if E(X2) = 18 and

E(X) = 2, then variance of X will be :

(a) 16

(b) 20

(c) 14

(d) 10

(c) Answer in brief : [2×4=8]

(i) State the axioms of probability.

(ii) State any two practical situations where multiple regression

can be used.

(iii) If X and Y are two independent discrete random variables

with :

2 16xσ =  and V(X + 2Y) = 32

then compute 2
yσ .

(iv) For a certain population, the agewise distribution of number

of deaths is given in the table below :

Age group No. of Persons No. of Deaths

(in years)

0—10 1000 20

10—20 1200 10

20—60 3000 25

60—100 500 25

Compute the CDR.
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2. Attempt any four of the following : [4×4=16]

(a) Explain the following terms :

(i) Sample space

(ii) Event

(iii) Mutually exclusive events.

(b) One card is drawn from a full pack of playing cards. Three

events A, B and C are defined as follows :

A : A red card is drawn,

B : A spade card is drawn,

C : King of spade is drawn.

Check whether the events A, B, C are pairwise independent.

(c) Explain the concept of multiple correlation and partial correlation

in case of trivariate data.

(d) Explain the following components of time series :

(i) Secular Trend

(ii) Cyclical variations.

(e) The data given below are the average quarterly prices of a

certain veriety of Dutch Rose Flowers (in Rs. per bunch) for
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different years. Compute seasonal indices by simple average

method for these data :

     Quarter

Year I II III IV

2006 65 55 60 60

2007 65 65 55 68

2008 75 60 65 65

2009 125 80 75 100

(f) The price index numbers for year 2010 calculated with the

base year 2005 using Laspeyre’s and Paasche’s formula are given

by 150.5 and 120.2 respectively. Compute the price index number

by Fisher’s and Dorbish Bowley’s formula.

3. Attempt any four of the following : [4×4=16]

(a) In how many ways can 6 Indian officials and 2 foreign

delegates be arranged in a row to attend a certain ceremony

so that :

(i) Two foreign delegates are side by side,

(ii) Two foreign delegates are strictly in one corner.
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(b) Describe the method of estimating seasonal indices by ratio

to moving average method.

(c) The mean, standard deviation and correlation coefficients

obtained for three characteristics X1, X2 and X3 are given

below :

σ1 = 25, r12 = 0.6

σ2 = 40, r23 = 0.7

σ3 = 12, r13 = 0.65

Compute b12.3 and b13.2.

(d) (i) Give classical definition of probability.

(ii) Discuss the limitations of classical definition of

probability.

(e) (i) Define permutation and combination of n objects taken

r at a time.

(ii) Define conditional probability.

(f) What is autoregressive model in time series ? Discuss its uses

in practical situations.
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4. Attempt any two of the following : [2×8=16]

(a) (i) Define discrete uniform distribution and state its mean

and standard deviation. Also give any two real life situations

where the uniform distribution is applicable. [4]

(ii) Define :

(I) Discrete random variable (r.v.) and give one

illustration of it.

(II) Expectation of a discrete r.v. [4]

(b) The joint distribution of (X, Y) is given below : [8]

1 2 3

1 c 0 2c

2 c 2c 3c

3 3c 3c c

Find :

(i) The value of c

(ii) P(XY is odd)

(iii) P(X > 1|Y is odd)

(iv) E(X).

Y

X
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(c) Compute GFR, ASFR, TFR, GRR and NRR for the

following data assuming the sex ratio at birth as 100 males :

100 females. : [8]

Age No. of Women No. of Births Survival Factor

(in 1000)

15—19 400 20000 0.91

20—24 350 69950 0.90

25—29 270 62750 0.89

30—34 240 29000 0.88

35—39 260 12000 0.87

40—44 280 1000 0.86

45—49 250 240 0.85

(d) (i) Define Poisson distribution. State the additive property

of Poisson distribution. Also give real life situations where

this distribution is applied. [4]

(ii) An unbiased coin is tossed three times. Let X be

the number of heads observed in the three tosses.

Obtain the probability distribution of X. Further obtain

E(X). [4]
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5. Attempt any one of the following : [1×16=16]

(a) (i) What is demography ? Discuss the need of vital statistics

and the methods of obtaining vital statistics. [8]

(ii) The probability distribution of a random variable X is

given in the table below : [4]

X P(X = x)

–3 0.1

–1 0.1

1 0.2

3 0.3

5 0.2

7 0.1

Find E(X) and V(X).

(iii) The number of cars crossing a bridge during a certain

interval (X) follows Poisson distribution with mean 4. Find

the probability that during a randomly chosen interval

of time : [4]

(I) No car will cross the bridge.

(II) At least two cars will cross the bridge.
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(b) (i) For two-dimensional discrete random variable (X, Y)

define : [8]

(I) Probability mass function of (X, Y)

(II) Marginal probability distributions of X and Y

(III) Conditional probability distribution of X given

Y = y

(IV) Conditional mean of X given Y = y.

(ii) Let X → B(4, 0.6) and Y → B(6, 0.6) be independent

variables. [8]

Find :

(I) P[X + Y ≤ 8]

(II) P[10 – (X + Y) ≥ 9]

(III) E[(X + Y)2].
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1. Answer any four of the following questions in 100 words each : [20]

(1) Explain the characteristics of a Saint.

(2) Explain the concept of ‘Jangama’ by Saint Basaveshvara.

(3) Explain the criticism of social inequalities by Saint Tukaram.

(4) Elaborate in detail the concept of Bhakti by Saint Bahenabai.

(5) Elaborate on Prayatnavada of Ramadas.

(6) Explain the term “Vishvatmaka Deva”.

P.T.O.
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2. Answer any two of the following questions in 200 words each : [20]

(1) Explain in detail the nature of ultimate reality according to

Saint Kabir.

(2) Explain Guru Nanak’s concepts of ‘Hukum’ and ‘Bhai’.

(3) Explain the role of saints as socio-cultural reformers.

(4) Explain the impact of Nath cult on the philosophy of Saint

Jnaneshvara.

3. Answer any one of the following questions in 400 words : [20]

(1) Explain the nature and role of Bhakti movement in medieval

India.

(2) Explain Saint Tukarama’s concept of True Dharma and Pakhanda.

4. Write short notes on any four of the following :  [20]

(1) Basaveshvara’s Kayak Siddhanta.

(2) Criticism on the social customs of Hindu and Muslims by Saint

Kabir.
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(3) Saint Tukarama’s concept of God

(4) Synthesis of Prapanch and Paramartha.

(5) The concept of Pativratya by Bahenabai.

(6) Difference between Avyabhichari and Para-Bhakti.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ bafX«ðk izðu&if=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(1) larkaph «{k.ks foðkn djk-

(2) lar closðojkaph ^taxe* ladYiuk Li"V djk-

(3) lar rqdkjkekaph lkekftd fo"kersojh« fVdk Li"V djk-

(4) lar cgs.kkckb±pk HkDrh ladYiuk lfoLrj lkaxk-

(5) jkenklkapk iz;Ruokn lfoLrj lkaxk-

(6) ^foðokRed nso* ladYiuk lkaxk-
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk % [20]

(1) lar dchjkauk vfHkizsr vl«sY;k vafre ln~lŸksps Lo:i lfoLrj foðkn djk-

(2) xq: ukudkaph ^gqdwe* o ^Hk;* ;k ladYiuk foðkn djk-

(3) lar % lkekftd&lkaLœfrd lq/kkjd vkgsr gs foðkn djk-

(4) lar KkusðojkaP;k rŸoKkukojh« ^ukFk* laiznk;kpk izHkko Li"V djk-

3. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(1) e/;;qxhu Hkkjrkrh« HkDrh pˇoˇhps Lo:i o Hkwfedk ;kfo"k;h ppkZ djk-

(2) lar rqdkjkekaph [kÚ;k /kekZph o ik[kaM ladYiuk foðkn djk-

4. [kk«h«iSdh dks.kR;kgh pkjoj laf{kIr fVi.k f«gk %  [20]

(1) closðojkapk ^dk;d flºkar*

(2) lar dchjkaph fganw o eqfL«e ;kaP;k lkekftd :<hojh« fVdk

(3) lar rqdkjkekaph bZðoj ladYiuk

(4) iziap o ijekFkkZpk esˇ-

(5) cgs.kkckb±ph ikfrozR; ladYiuk

(6) vO;fHkpkjh o ijkHkDrhrh« Qjd-
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[4701]-2075

(Introduction to Applied Ethics)

(Alternative Course)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(1) Describe the nature of applied ethics.

(2) State the ethical issues regarding experimentation on animals.

(3) Explain the concept of corporate social responsibility.

(4) What is the role of media in democracy ?.

(5) State patient’s rights.

(6) Discuss the conservative view of prostitution.

2. Answer any two of the following questions in 200 words each : [20]

(1) Discuss the concept of Animal Rights
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(2) What is biocentrism ? What are its arguments against

anthropocentrism.

(3) What is the liberal view on homosexuality ?

(4) What according to you is the abuse of one’s own official

position ?

3. Answer any one of the following questions in 400 words : [20]

(1) Critically discuss ethical issues regarding abortion.

(2) What is friendship ? Discuss elaborately in the light of the

classical views.

4. Write short notes on any four of the following in 50 words each : [20]

(1) Hippocractic oath

(2) Corporation as a moral agent

(3) Capital punishment

(4) Sustainable development

(5) Traditional view of marriage and family

(6) Nature of social media.
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(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) izðukaP;k mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs 100 ðkCnkar |k % [20]

(1) mi;ksftr uhfrðkkL=kps Lo:i Li"V djk-

(2) izk.;kaojh« iz;ksxklaca/kkrh« uSfrd izðu dks.krs \

(3) ^m|ksx/ka|kaph lkekftd tckcnkjh* gh ladYiuk Li"V djk-

(4) «ksdðkkghrh« ek/;ekaps LFkku lkaxk-

(5) #X.kkaps gDd dks.krs \

(6) osð;kO;olk;klaca/khpk ikjaikfjd n`"Vhdks.k Li"V djk-

2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs 200 ðkCnkar f«gk % [20]

(1) izk.khgDdkaph ladYiuk Li"V djk-

(2) tSodsafÊrrkokn Eg.kts dk; \ ekuodsafÊrrkoknkP;k fojks/kkr tSodsafÊrrkoknkps

;qfDrokn lkaxk-

(3) lef«axh laca/kkfo"k;hpk mnkjeroknh n`"Vhdks.k dks.krk \

(4) vkiY;k Lor%P;k dk;kZ«;hu LFkkukpk xSjokij Eg.kts dk; vls rqEgk«k okVrs \
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3. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 400 ðkCnkar |k %  [20]

(1) xHkZikrkfo"k;hP;k uSfrd izðukaph lVhd ppkZ djk-

(2) eS=h Eg.kts dk; \ eS=hfo"k;hP;k vfHktkr n`"Vhdks.kkP;k lanHkkZr ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh pkj laf{kIr fVik 50 ðkCnkar f«gk %  [20]

(1) fgIiksfÿV~lph ðkiFk

(2) m|ksx/kansµuSfrd drkZ

(3) Qkðkhph fðk{kk

(4) nh?kZdk«hu fodkl

(5) fookg o dqVqackfo"k;hpk ikjaikfjd n`"Vhdks.k

(6) lkekftd ek/;ekaps Lo:i-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2076

S.Y. B.A. EXAMINATION, 2015

PHILOSOPHY

(S-1 : Indian Philosophical Approach)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]

(a) State the classification of Indian Philosophical systems.

(b) State the nature of upamana pramana.

(c) Explain the Jaina notions of Anuvratas and Mahavratas

(d) Explain Buddhist doctrine of Anityata.

(e) Explain the notions of Chit, Chittavritti and Chittavrittinirodha

with reference to Yoga Darsan.

(f) State and explain akhyati with reference to Purvamimansa Darsan.

P.T.O.
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2. Answer any two of the following in 200 words each : [20]

(a) State and discuss Carvak theory of Pramanas.

(b) State and discuss Jaina view of Anekantavada.

(c) Explain Buddhist view regarding Pratityasamutpada.

(d) State and discuss Satkaryavada of Samkhya Darsan.

3. Answer any one of the following in 400 words :  [20]

(a) Elaborately explain the nature of Pancavayavi Vakya.

(b) Elaborately explain the concept of Brahman, Jiva and Jagat

(Advaita Vedanta)

4. Write notes on any four of the following in 50 words each : [20]

(a) Abhava Padartha (Vaisesika Darsan)

(b) Dehatmavada (Carvak Darsan)

(c) Concept of Pudgal (Jaina Darsan)

(d) Concept of Nirvana (Bauddha Darsan)

(e) Concept of Prakriti (Samkhya Darsan)

(f) Arthvidhivada (Purvamimansa)
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(v) Hkkjrh; rkfŸod nðkZukaps oxhZdj.k lkaxk-

(c) mieku izek.kkps Lo:i lkaxk-

(d) tSu nðkZukrh« vuqozr vkf.k egkozr ;k dYiuk Li"V djk-

(M) ckSº nðkZukpk vfuR;rk flºkar Li"V djk-

(b) ;ksx nðkZukP;k lanHkkZr fpŸk] fpŸko`Ÿkh vkf.k fpŸko`Ÿkhfujks/k ;k dYiuk Li"V

djk-

(Q) iwoZehekalk nðkZuk«k vuql:u v[;kfr Eg.kts dk; gs lkaxk vkf.k Li"V djk-

2. [kk«h«iSdh dks.kR;kgh nksgksaph mŸkjs izR;sdh 200 ðkCnkar f«gk % [20]

(v) pkokZdkaph izek.kfo"k;d miiŸkh lkaxwu frph ppkZ djk-

(c) tSu nðkZukpk vusdkaroknkpk n`f"Vdksu lkaxwu R;kph ppkZ djk-

(d) ckSº nðkZukpk izrhR;leqRikn fo"k;d n`f"Vdksu Li"V djk-

(M) lka[; nðkZukpk lRdk;Zokn lkaxwu R;kph ppkZ djk-



[4701]-2076 4

3. [kk«h«iSdh dks.kR;kgh ,dkps mŸkj 400 ðkCnkar f«gk %  [20]

(v) iapko;oh okD;kps Lo:i foLrkjkus Li"V djk-

(c) cz„u~] tho vkf.k txr~ ;k ladYiuk foLrkjkus Li"V djk-

4. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 50 ðkCnkar fVik f«gk %  [20]

(v) vHkko inkFkZ (oS'ksf"kd nðkZu)

(c) nsgkReokn (pkokZd nðkZu)

(d) iqn~x« gh ladYiuk (tSu nðkZu)

(M) fuokZ.k ladYiuk (ckSº nðkZu)

(b) izœfr gh ladYiuk (lka[; nðkZu)

(Q) vFkZfo/khokn (iwoZehekalk)



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2077

S.Y. B.A. EXAMINATION, 2015

PHILOSOPHY

Special Paper II

(History of Western Philosophy)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]

(i) Explain Thales’s views regarding the nature of reality.

(ii) Describe the nature of substance according to Spinoza.

(iii) State Plato’s theory of knowledge as recollection.

(iv) What, according to St. Augustine, is the relation between man

and God ?

(v) Explain the concept of immaterialism.

(vi) What is absolute idealism ?

P.T.O.
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2. Answer any two of the following questions in 200 words each : [20]

(i) State and discuss Hume’s views on induction and bring out

their significance.

(ii) How does Plato distinguish between knowledge and opinion ?

(iii) Write a note on the debate between faith and reason in the

medieval period.

(iv) Explain the distinction between truths of reason and truths

of facts.

3. Answer any one of the following questions in 400 words :  [20]

(i) Elaborately discuss the salient features of Kant’s Critical

Philosophy.

(ii) What is substance according to Aristotle ? Discuss fully

the significance of the category of substance in Aristotle’s

Metaphysics.

4. Write short notes on any four of the following in 50 words each : [20]

(i) Locke’s criticism of innate ideas

(ii) Hegel’s notion of dialectic
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(iii) Aristotle’s criticism of Plato’s concept of forms

(iv) Clear and distinct ideas

(v) Relativism of Sophists

(vi) Pythagoras.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh pkjkaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(i) fo'okP;k Lo:ikfo"k;hps Fksf«lps fopkj Li"V djk-

(ii) fLiuks>k«k vuql:u ÊO;kP;k Lo:ikps o.kZu djk-

(iii) Kku Eg.kts vuqLej.k gh I«sVksph miiŸkh lkaxk-

(iv) lar vkWxLVhuP;k erkuqlkj ekuo vkf.k bZðoj ;karh« laca/k dk; vkgs \

(v) vtMokn gh ladYiuk Li"V djk-

(vi) dso« fpn~okn Eg.kts dk; \
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2. [kk«h«iSdh dks.kR;kgh nksgksaph mŸkjs izR;sdh 200 ðkCnkar f«gk % [20]

(i) foxeukckcrps gÓwe ;kaps fopkj ekaMwu R;kaph ppkZ djk vkf.k egRo foðkn

djk-

(ii) Kku vkf.k er ;kar I«sVks dlk Qjd djrkr \

(iii) e/;;qxhu dk«[kaMkr Jºk vkf.k cqºh ;klanHkkZr >k«sY;k oknkoj fVi f«gk-

(iv) cqºhðkh fuxMhr lR; vkf.k rF;kðkh (?kVukaðkh) fuxMhr lR; ;karh« Hksn

lkaxk-

3. [kk«h«iSdh dks.kR;kgh ,dkps mŸkj 400 ðkCnkar f«gk %  [20]

(i) dkaVP;k fpfdRld rŸoKkukP;k oSfðk"VÓiw.kZ ?kVdkaph lfoLrj ppkZ djk-

(ii) vWfjLVkWV«P;k ers ÊO; Eg.kts dk; \ vWfjLVkWV«P;k lŸkkehekalsr ÊO; ;k

dksVh«k vl«sY;k egRokph iw.kZr% ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 50 ðkCnkar fVik f«gk %  [20]

(i) mitr dYiuk flºkarkojh« «kWdph Vhdk

(ii) gsxs«ph }a}fodkl dYiuk

(iii) vWfjLVkWV«us I«sVksP;k vkdkj ladYiusoj ds«s«h Vhdk

(iv) LoPN vkf.k Li"V dYiuk

(v) lksfQLVkapk lkis{krkokn

(vi) ik;FkWxksjl-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-2078

S.Y. B.A. EXAMINATION, 2015

SOCIAL WORK

(I—Introduction : Fields of Social Work)

(II—Population Education)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Highlight the importance of social work for Social Development. [16]

Or

Specify the need of medical and Psychiatric Social Work in present

time.

2. Specify changing nature of family and state its problems. Suggest

some remedies. [16]

Or

Discuss population growth in India.

3. Discuss female foeticide. [16]

Or

Discuss reasons for migration towards urban area.
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4. Discuss reasons for large size family in olden society. [16]

Or

Specify socio-cultural factors affecting population growth.

5. Write short notes on any two : [16]

(i) Demerits of small family size

(ii) Challenges of AIDS in world

(iii) Workers in Unorganised sectors

(iv) Scope of social welfare for youth.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. lkekftd fodklkr lektdk;kZP;k egRokoj izdkðk>ksr Vkdk- [16]

fdaok

l|%fLFkrhr oS|fd; o ekulksipkj lektdk;kZph xjt Li"V djk-

2. dqVwackps cn«rs Lo:i lkaxwu R;kP;k leL;k foðkn djk- R;k leL;kaoj dkgh mik;

lwpok \ [16]

fdaok

Hkkjrkrh« «ksdla[;k ok<hph ppkZ djk-
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3. L=h&Hkzw.kgR;k % ppkZ djk- [16]

fdaok

ðkgjh HkkxkdMs gks.kkÚ;k LFk«karjkph dkj.ks Li"V djk-

4. iqohZP;k lektkrh« eksBÓk vkdkjkP;k dqVwackph dkj.ks ;koj ppkZ djk- [16]

fdaok

«ksdla[;k ok<hoj ifj.kke dj.kkÚ;k lkekftd&lkaLœfrd dkj.kkaph ppkZ djk-

5. dks.kR;kgh nksgksaoj FkksMD;kr fVik f«gk % [16]

(i) «gku vkdkjkP;k dqVwackps rksVs

(ii) tkxfrd ikrˇhoj ,Ml~ps vkOgku

(iii) vla?kfVr {ks=karh« dkexkj

(iv) ;qodkalkBh lektdY;k.kkph O;kIrh-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2079

S.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

(G-2 : Indian Administration)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Any four reforms of 1935 Act

(ii) Significance of 1947 Act

(iii) Welfare State

(iv) Role of Chief Minister

(v) Lokpal

(vi) Planning Commission.

P.T.O.
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2. Answer the following questions 200 words each (any two) : [20]

(i) Mayor

(ii) Functions of Chief Executive Officer

(iii) Composition of Supreme Court

(iv) Gram Sabha.

3. Answer any one of the following questions in 400 words : [20]

(i) Explain the powers and functions of the President of India.

(ii) Explain the structure, power and functions of Vidhan Sabha.

4. Write short notes on (any four) :  [20]

(i) Features of Indian Administration

(ii) Functions of Lok Sabha

(iii) Vice-President of India

(iv) Union Public Service Commission

(v) Functions of Municipal Council

(vi) National Human Rights Commission.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) 1935P;k dk;|krh« dks.kR;kgh pkj lq/kkj.kk

(ii) 1947P;k dk;|kps egRo

(iii) dY;k.kdkjh jkT;

(iv) eq[;ea´;kaph Hkwfedk

(v) «ksdik«

(vi) fu;kstueaMˇ-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) egkikSj

(ii) eq[; dk;Zdkjh vf/kdkÚ;kph dk;sZ

(iii) loksZPp U;k;k«;kph jpuk

(iv) xzkelHkk-
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3. [kk«h«iSdh dks.kR;kgh ,d izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(i) HkkjrkP;k jk"V™irhps vf/kdkj vkf.k dk;sZ Li"V djk-

(ii) fo/kkulHksph jpuk] vf/kdkj vkf.k dk;sZ Li"V djk-

4. FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) Hkkjrh; izðkklukph oSfðk"VÓs

(ii) «ksdlHksps dk;sZ

(iii) Hkkjrkpk mijk"V™irh

(iv) dsÊh; «ksdlsok vk;ksx

(v) uxjikf«dsph dk;sZ

(vi) jk"V™h; ekuoh gDd vk;ksx-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2080

S.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

Special Paper I

(Personnel Administration)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Importance of civil service

(ii) Objective of training

(iii) Meaning of recruitment

(iv) Benefits of retirement

(v) Performance of civil servants

(vi) Right to form association.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(i) Bureaucratic system for Personnel Administration

(ii) Direct recruitment

(iii) Special qualifications of the civil servants

(iv) Administrative tribunal.

3. Answer any one of the following questions in 400 words :  [20]

(i) Explain the principles of promotion in detail.

(ii) Write the types of training.

4. Write short notes on (any four) :  [20]

(i) Importance of Personnel Administration

(ii) Demerits of civil service

(iii) Tress management

(iv) Right to Strike

(v) Administrative Accountability

(vi) Whitely Council.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) lunh lsosps egRo

(ii) izfðk{k.kkpk gsrw

(iii) Hkjrhpk vFkZ

(iv) fuo`Ÿkhps Qk;ns

(v) lunh lsodkaps dk;Z eqY;ekiu

(vi) la?kVuk LFkkiu dj.;kpk vf/kdkj-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) lsod izðkklukrh« uksdjðkkgh O;oLFkk

(ii) izR;{k Hkjrh

(iii) lunh lsodkaph foðks"k ;ksX;rk

(iv) izðkkldh; U;k;kf/kdj.k-
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3. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(i) c<rhaP;k rŸokaps Li"Vhdj.k lfoLrj djk-

(ii) izfðk{k.kkps izdkj f«gk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(i) lsod izðkklukps egRo

(ii) lunh lsosrh« nks"k

(iii) rk.kr.kkokps O;oLFkkiu

(iv) laidj.;kpk vf/kdkj

(v) izðkkldh; mŸkjnkf;Ro

(vi) OghV«s dkSUlh«-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-2081

S.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

Special Paper II

(Local Self Government of Maharashtra)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(i) Meaning of Local Self Government

(ii) Importance of Gram Sabha

(iii) Chairman of Panchayat Samiti

(iv) Financial sources of municipal corporation

(v) Mahatma Gandhi Tanta Mukti Abhiyan

(vi) Corruption in Local Self Government.

P.T.O.
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2. Answer the following questions in 200 words each (any two) : [20]

(i) Importance of local self government

(ii) Functions of B.D.O.

(iii) Balwantrai Mehta Committee

(iv) 74th Constitutional Amendment

3. Answer any one of the following questions in 400 words :  [20]

(i) Explain composition, power and functions of Zilla Parishad.

(ii) Explain the composition, power and functions of Cantonment

Board.

4. Write short notes on (any four) :  [20]

(i) Functions of Sarpanch

(ii) Mayor

(iii) Chief Officer of Municipal Council

(iv) Sant Gadagebaba Gram Swachhata Abhiyan.

(v) Political interference

(vi) Financial problem.
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(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(i) LFkkfud Loðkklukpk vFkZ

(ii) xzkelHksps egRo

(iii) iapk;r lferhpk lHkkirh

(iv) egkuxjikf«dsP;k mRiUukph lk/kus

(v) egkRek xka/kh raVkeqfDr vfHk;ku

(vi) LFkkfud Loðkklukrh« Hkz"Vkpkj-

2. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) LFkkfud Loðkklukps egRo

(ii) xVfodkl vf/kdkÚ;kph dkes

(iii) c«oarjk; esgrk lferh

(iv) 74oh ?kVuk nq#Lrh-
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3. [kk«h«iSdh dks.kRkkgh ,dk izðukps mŸkj 400 ðkCnkar f«gk %  [20]

(i) ftYgk ifj"knsph jpuk lkaxwu vf/kdkj o dk;sZ Li"V djk-

(ii) Nko.kh eaMˇkph jpuk lkaxwu vf/kdkj o dk;sZ Li"V djk-

4. FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(i) ljiapkps vf/kdkj

(ii) egkikSj

(iii) uxjikf«dspk eq[;kf/kdkjh

(iv) lar xkMxsckck xzkeLoPNrk vfHk;ku

(v) jktdh; gLr{ksi

(vi) vkfFkZd leL;k-



Total No. of Questions—4] [Total No. of Printed Pages—4+2

Seat

No. [4701]-2083

S.Y. B.A. EXAMINATION, 2015

ADULT EDUCATION (General)

(Content, Approach, Method and Evaluation)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Describe the literacy status in India since 1951 and mention

the status of women in it.

(ii) Enlist the objectives of Adult Education.

(iii) Explain discussion method for Adult Education.

(iv) Explain various tools of evaluation of learners in Adult

Education.

P.T.O.
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2. Answer any four of the following questions in 100 words each : [20]

(i) State the need of Adult Education Programme in

India.

(ii) Describe the various types of surveys suitable to Adult

Education.

(iii) Comment on “Each one-Teach-one approach” is most suitable

for educating adults.

(iv) Specify the place of survey method in evaluating any adult

education programme.

(v) Highlight the contribution of peer group and society in Adult

Education.

(vi) Explain the areas of functionality of Adult Education.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(i) Critically evaluate the place and contribution of Audio-Visual

aids in Adult Education Programme.
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(ii) Review the progress of Adult Education Programme with

reference to SCs, STs and rural areas.

(iii) Analyse the role of an instructor and the supervisor in the

success of National Adult Education Programme.

(iv) Explain the contribution of Adult Education Programme in

establishing equality and social justice in India.

(v) Describe any Adult Education Programme you observed with

its merits and demerits.

4. Write any one of the following questions in 500 words : [20]

(i) Describe the contribution of survey method in implementa-

tion of existing Adult Education Programme. Also explain the

merits and demerits of survey method with reference to

Adult Education.

(ii) Evaluate and describe the various methods of Adult Educa-

tion with suitable examples.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) 1951 iklwu Hkkjrkrh« lk{kjrk fLFkrh lkaxk- R;krh« efg«kaP;k fLFkrhps

o.kZu djk-

(ii) izkS< fðk{k.kkP;k mfÌ"Vkaph ;knh djk-

(iii) izkS< fðk{k.kkph ppkZ iºrh Li"V djk-

(iv) izkS< fðk{k.kkrh« fðkd.kkÚ;kP;k (v/;;udR;kZP;k) ewY;ekiukph fofo/k

lk/kus Li"V djk-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkae/;s f«gk % [20]

(i) Hkkjrke/;s izkS<fðk{k.k dk;Zÿekph xjt Li"V djk-

(ii) izkS<fðk{k.kklkBh ;ksX; vl.kkÚ;k losZ{k.kkps fofo/k izdkj Li"V djk-

(iii) Hkk"; djkµ,dkus ,dk«k f'kdokos (each one teach one) mikxe

(approach) gk izkS< fðk{k.kklkBh lq;ksX; vkgs-
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(iv) dks.kR;kgh izkS<fðk{k.k dk;Zÿekps ewY;ekiu djrkuk losZ{k.k iºrhps LFkku

v/kksjsf[kr djk-

(v) leo;Ld lewg o lekt ;kaps izkS<fðk{k.kkrh« ;ksxnku v/kksjsf[kr djk-

(vi) izkS<fðk{k.kkP;k dk;kZRedrsph {ks=s Li"V djk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkae/;s

f«gk % [30]

(i) izkS<fðk{k.k dk;Zÿekr n`dJkO; lk/kukaps LFkku o ;ksxnku ;kps fpdhRld

lfe{k.k djk-

(ii) vuqlwfpr tkrh] vuqlwfpr tekrh vkf.k xzkeh.k Hkkx ;kaP;k lanHkkZr izkS<fðk{k.k

dk;ZÿekP;k izxrhpk vk<kok ?;k-

(iii) jk"V™h; izkS<fðk{k.k dk;ZÿekP;k ;ðkkr R;krh« la?kVd o i;Zos{kdkaP;k Hkwfedkaps

foð«s"k.k djk-

(iv) Hkkjrkr lkekftd U;k; o lerk izLFkkfir dj.;kr izkS<fðk{k.k dk;Zÿekps

;ksxnku Li"V djk-

(v) rqEgh fujh{k.k ds«sY;k ,[kk|k izkS<fðk{k.k dk;Zÿekps xq.knks"kklg o.kZu

djk-
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4. [kk«h«iSdh dks.kRkkgh ,dk izðukps mŸkj 500 ðkCnkae/;s f«gk %  [20]

(i) l|kP;k izkS<fðk{k.k dk;ZÿekP;k mi;kstukr (vae«ctko.khr) losZ{k.k] iºrhP;k

;ksxnkukps o.kZu djk- izkS<fðk{k.kklanHkkZr losZ{k.k iºrhps xq.k&nks"k Li"V

djk-

(ii) izkS<fðk{k.kkP;k fofo/k iºrhaps ;ksX; mnkgj.kkalg o.kZu d:u R;kaps ewY;ekiu

o o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-2084

S.Y. B.A. EXAMINATION, 2015

PHYSICAL EDUCATION

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in 50 words each (any two) : [5]

(i) Define BMI and write down its formula.

(ii) List out the 5 skills in Kho-Kho.

(iii) List down the jumping events in Athletics.

2. Answer the following in 100 words each (any two) : [10]

(i) List out the Aasanas involved in Suryanamaskara.

(ii) Write briefly about Sit and Reach Test.

(iii) Importance of exercise in human life.

P.T.O.
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3. Answer the following in 250 words each (any two) : [15]

(i) List out the training methods and describe weight training

method.

(ii) Draw a diagram of Handball ground and explain fundamental

skills in Handball.

(iii) Define Physical Fitness and list out the components of Health

Related Physical fitness in detail.

4. Answer the following in 500 words (any one) : [10]

(i) Describe historical background of Olympics.

(ii) List out the various committees and their importance during

the organisation of tournaments.

(ejkBh :ikarj)

osˇ % nksu rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [5]

(i) ch- ,e- vk;- Eg.kts dk; rs lkaxwu R;kps lw= f«gk-

(ii) [kks&[kks [ksˇkrh« 5 dkSðkY; lkaxk-

(iii) eSnkuh Li/ksZrh« mMÓkP;k izdkjkph ;knh |k-
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2. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lw;ZueLdkjke/;s lekfo"V vl.kkÚ;k vklukaph ukos f«gk-

(ii) flV vW.M jhp ;k dlksVhps FkksMD;kr o.kZu djk-

(iii) ekuoh thoukr O;k;kekps egRo lkaxk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [15]

(i) fofo/k izfðk{k.k iºrhph ;knh nsowu] osV V™sfuax iºrhps o.kZu djk-

(ii) gW.MckW« [ksˇkP;k eSnkukph vkœrh dk<wu] ew«Hkwr dkSðkY; f«gk-

(iii) ðkkjhfjd lqn`<rsph O;k[;k nsowu] vkjksX;kf/k"Bhr ðkkjhfjd lqn`<+rsps ?kVd Li"V

djk-

4. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkjs 500 f«gk % [10]

(i) vkW«hfEidph ,sfrgkfld ikðoZHkweh lfoLrj Li"V djk-

(ii) ÿhMk Li/kkZ vk;kstukrh« fofo/k lehrhaph ;knh d:u R;kps egRo Li"V

djk-



Total No. of Questions—2] [Total No. of Printed Pages—2

Seat

No. [4701]-2085

S.Y. B.A. EXAMINATION, 2015

COMPUTER APPLICATION

(Vocational)

Paper III

(Computer Network Fundamentals)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(a) Explain the advantages of database management system over

manual file system.

(b) Explain DDL commands.

(c) Explain DML commands.

(d) Explain database constraints.

(e) Explain trigger with an example.

P.T.O.
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2. Write short notes on (any four) : [20]

(a) Primary key

(b) Foreign key

(c) PISQL block

(d) Aggregate functions

(e) Views in SQL.



Total No. of Questions—2] [Total No. of Printed Pages—2

Seat

No. [4701]-2090

S.Y. B.A. EXAMINATION, 2015

(Vocational Course)

COMPUTER APPLICATIONS

Paper IV (Theory)

(Software Engineering)

(2013 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Draw a neat labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(a) Define system. Explain the different elements of a system.

(b) Explain system development life cycle with diagram.

(c) What is normalisation ? Explain the different forms of

normalisation.

(d) Explain with example Decision tree and Decision table.

(e) What is software testing ? What are the different types of

testing ?

P.T.O.



[4701]-2090 2

2. Write short notes on (any four) : [20]

(a) DFD and the symbols used in DFD.

(b) Software quality

(c) Input and output design

(d) Flowcharting

(e) Pseudo code and Structured English.
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